

In this issue ... Page Legislative Branch **Legislative Administrative Services** Interim committee schedule 1241 Rates **Pooled Money Investment Board** Notices **Kansas Board of Regents** Kansas Department for Children and Families Request for comments on proposed state plan submission for the Low Income **Kansas Department of Transportation Kansas Turnpike Authority** Kansas Department of Health and Environment – Division of Health Care Finance Kansas Children's Cabinet and Trust Fund Notice of meeting \_\_\_\_\_\_\_\_1245 Wichita State University Kansas Department of Administration - Office of Procurement and Contracts **Natural Resources Conservation Service** Kansas Department of Health and Environment New State Laws **Secretary of State** 

# **Bonds**

| Kansas Development Finance Authority                     |            |
|--|------------|
| Notices of hearing on proposed revenue bonds             | 1251       |
| Johnson County, Kansas                                   |            |
| Summary notice of bond sale                              | 1252       |
| City of Bel Aire, Kansas                                 |            |
| Summary notice of bond sale                              | 1253       |
| Regulations  |            |
| Kansas State Board of Indigents' Defense Services        |            |
| Notice of hearing on proposed administrative regulations | 1254       |
| Kansas Lottery   |            |
| Temporary administrative regulations                     | 1255, 1267 |
| Index to administrative regulations                      | 1274       |

The Kansas Register (USPS 0662-190) is an official publication of the state of Kansas, published by authority of K.S.A. 75-430. The Kansas Register is published weekly and a cumulative index is published annually by the Kansas Secretary of State. One-year subscriptions are \$80 (Kansas residents must include applicable state and local sales tax). Single copies, if available, may be purchased for \$2. **Periodicals postage paid at Topeka, Kansas. POSTMASTER:** Send change of address form to Kansas Register, Secretary of State, 1st Floor, Memorial Hall, 120 SW 10th Ave., Topeka, KS 66612-1594.

© Kansas Secretary of State 2019. Reproduction of the publication in its entirety or for commercial purposes is prohibited without prior permission. Official enactments of the Kansas Legislature and proposed and adopted administrative regulations of state agencies may be reproduced in any form without permission.

Hard copy subscription information and current and back issues of the Kansas Register (PDF Format) can be found at the following link: http://www.sos.ks.gov/pubs/pubs\_kansas\_register.asp.

# Published by

Scott Schwab Secretary of State 1st Floor, Memorial Hall 120 SW 10th Ave. Topeka, KS 66612-1594 785-296-4564 https://sos.kansas.gov



Register Office: 1st Floor, Memorial Hall 785-368-8095 Fax 785-296-8577 kansasregister@ks.gov

# State of Kansas

# Legislative Administrative Services

# **Interim Committee Schedule**

The Legislative Research Department gives notice that the following legislative committees plan to meet on the dates listed below based on current information and subject to change. Requests for accommodation to participate in committee meetings should be made at least two working days in advance of the meeting by contacting Legislative Administrative Services at 785-296-2391 or TTY 711, or email legserv@las.ks.gov.

| Date                   | Room  | Time                    | Committee   | Agenda   |
|------------------------|-------|-------------------------|---|--|
| Oct. 21                | 112-N | 9:00 a.m.               | Special Committee on Health                               | Review of 2019 HB 2295; Roundtable discussion of issues surrounding the licensure of anesthesiologist assistants.  |
| Oct. 21 and<br>Oct. 22 | 144-S | 10:00 a.m.<br>9:00 a.m. | Joint Committee on Information<br>Technology              | Executive CITO Presentation; Legislative Division of Post Audit OITS Consolidation Audit; CISO Update; Selected agency IT presentations.   |
| Oct. 22 and<br>Oct. 23 | 112-N | 10:00 a.m.<br>9:00 a.m. | Senate Select Committee on<br>Healthcare Access           | Access to healthcare in Kansas; Medicaid and the expansion thereof.  |
| Oct. 23                | 346-S | 9:00 a.m.               | Special Committee on Federal and<br>State Affairs         | Discussion of public policy implications concerning the legalization and regulation of medical marijuana.  |
| Oct. 24                | 548-S | 8:30 a.m.               | Health Care Stabilization Fund<br>Oversight Committee     | Annual meeting.  |
| Oct. 28                | 112-N | 9:00 a.m.               | Joint Committee on State Building Construction            | Tour of KDHE Laboratory; Five-Year Capital Improvement Plans; Tour of Insurance Department building.   |
| Oct. 28                | 582-N | TBA                     | Kansas Criminal Justice Reform<br>Commission              | TBA  |
| Oct. 29                | 548-S | 9:00 a.m.               | Special Committee on Financial Institutions and Insurance | Hilburn decision overview and discussion;<br>Continued discussion of assigned topics and<br>recommendations for Committee report.  |
| Oct. 30                | 346-S | 9:00 a.m.               | Special Committee on Federal and<br>State Affairs         | Discussion of issues and possible options concerning the legality of abortions following the <i>Hodes &amp; Nauser</i> , <i>MDs</i> , <i>P.A. v. Schmidt</i> Supreme Court decision. |
| Nov. 4                 | 546-S | 10:00 a.m.              | Joint Committee on Pensions,<br>Investments and Benefits  | 2018 valuation of the retirement system;<br>Investment performance; Performance of bond<br>proceeds; Overview of legislation enacted,<br>pending or both.                            |
| Nov. 5                 | 548-S | TBA                     | Senate Committee on<br>Confirmation Oversight             | TBA  |

Doc. No. 047584

Tom Day, Director

Legislative Administrative Services

# **State of Kansas**

# **Pooled Money Investment Board**

# **Notice of Investment Rates**

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 12-1675(b)(c)(d) and K.S.A. 12-1675a(g).

# Effective 10-21-19 through 10-27-19TermRate1-89 days1.86%3 months1.67%6 months1.63%12 months1.64%18 months1.65%2 years1.61%

Scott Miller Director of Investments

Doc. No. 047574

# State of Kansas

# **Board of Regents**

# **Public Notice**

The Kansas Board of Regents and Kansas State Department of Education staff are implementing the new *Strengthening Career and Technical Education for the 21st Century Act (Perkins V)* legislation. This Act reauthorizes the Carl D. Perkins Career and Technical Education Act of 2006 (Perkins IV). A new component of the legislation requires that states determine proposed levels of performance for the new state plan, spanning over a four-year period. Stakeholders have the opportunity to submit written comments regarding how the levels of performance meet the requirements of the law, support the performance of all concentrators, and support the needs of the local education and business community.

The proposed levels of performance and supporting documentation are available at <a href="https://www.kansasregents.org/">www.kansasregents.org/</a> CTE and written comments may be submitted beginning September 3, 2019 through November 4, 2019.

> Connie Beene, Sr. Director Career Technical Education

Doc. No. 047440

# State of Kansas

# Department for Children and Families

# **Request for Comments**

The Kansas Department for Children and Families (DCF), Division of Economic and Employment Services, LIEAP Program announces that they are seeking comment on their proposed state plan submission for the Low Income Home Energy Assistance Program (LIHEAP).

The Low Income Home Energy Assistance Program provides funding to low income households in Kansas requiring assistance with their utility bills. The 2020 Federal State Plan for this program requires that the opportunity for public comment be provided. The state plan is available for public review and comment. Requests for a

copy of the state plan for review may be made via email to Lewis.Kimsey@ks.gov or by mail to the attention of Mr. Lewis Kimsey; 555 S. Kansas Ave., Room 4082, Topeka KS 66603. The LIEAP state plan is also available on the agency public website at <a href="https://www.dcf.ks.gov">www.dcf.ks.gov</a>. Comment will be accepted through October 28, 2019. A public hearing seeking comment on the LIEAP state plan will be held at 1:00 p.m. Monday, October 28, 2019 at 555 S. Kansas Ave., Room 4106, Topeka, KS 66603.

Laura Howard Secretary

Doc. No. 047578

# **State of Kansas**

# **Department of Transportation**

# **Request for Comments**

The Kansas Department of Transportation (KDOT) requests comments on the amendment of the Statewide Transportation Improvement Program (STIP) FY 20-23. The comprehensive list of project(s) being amended to the STIP may be viewed online at: http://www.ksdot.org/bureaus/burProgProjMgmt/stip/stip.asp. The project list includes projects for counties, cities, and projects on the state highway system.

The amendment of the STIP requires a public comment period of 14 days. To make a comment on this STIP amendment, contact KDOT's Division of Program and Project Management, 2nd Floor Tower, 700 SW Harrison, Topeka, KS 66603-3754; phone 785-296-2252; fax 785-296-8168.

This information is available in alternative accessible formats. To obtain an alternative format, contact the KDOT Office of Public Affairs at 785-296-3585 (Voice/Hearing Impaired–711).

The comment period regarding the STIP amendment for these projects will conclude Wednesday, November 6, 2019.

Julie Lorenz Secretary

Doc. No. 047575

# State of Kansas

# Department of Transportation

# **Notice to Contractors**

Electronic copies of the letting proposals and plans are available on the Kansas Department of Transportation (KDOT) website at <a href="https://kdotapp.ksdot.org/Proposal/Proposal.aspx">https://kdotapp.ksdot.org/Proposal/Proposal.aspx</a>. The website will allow the contractor to request approval from KDOT to bid as a prime contractor and be included on the "Bid Holders List," or to be included on the "Non-Bid Holders List," as a subcontractor/supplier. KDOT's approval is required to bid as a prime contractor. To bid as a prime contractor, KDOT needs to be notified of the intent to bid no later than the close of business on the Monday preceding the scheduled letting date. Failure to obtain prior approval to bid as a prime contractor on any projects listed below will be reason to reject your bid. The Secretary reserves the right to reject bids that do not comply with all requirements for prepar-

ing a bidding proposal as specified in the 2015 edition of the Kansas Department of Transportation *Standard Specifications for State Road and Bridge Construction*.

KDOT will only accept electronic internet proposals using the Bid Express website at http://www.bidx.com until 1:00 p.m. (CST) November 13, 2019. KDOT will open and read these proposals at the Eisenhower State Office Building, 700 SW Harrison, Topeka, Kansas, at 1:30 p.m. (CST) November 13, 2019. An audio broadcast of the bid letting is available at http://www.ksdot.org/burconsmain/audio.asp.

Each bidder shall certify that such person, firm, association, or corporation has not, either directly or indirectly, entered into any agreement, participated in any collusion, or otherwise taken any action in restraint of free competitive bidding in connection with the submitted bid. This certification shall be in the form of a required contract provision provided by the state to each prospective bidder. Failure to complete the required contract provision and certify the completeness of the preceding statement when electronically signing the proposal will make the bid nonresponsive and not eligible for award consideration.

### **District One – Northeast**

**Nemaha** – 66 C-4930-01 – Major collector roads south of U.S. 36 in Nemaha County, signing, 165.0 miles. (Federal Funds)

**Riley** – 81 U-2337-01 – Riley Avenue and Walnut Street intersection, in the vicinity of Ogden Elementary School in Ogden, pedestrian and bicycle paths. (Federal Funds)

# **District Two – North Central**

**Chase** – 150-9 KA-5381-01 – K-150, from the Marion/ Chase county line east to the U.S. 50/K-150 junction, overlay, 8.6 miles. (Federal Funds)

Clay – 09-14 KA-5368-01 – K-9, from east city limits of Clifton east to the south K-9/K-15 junction (Clay/Washington county line), surface recycle, 7.9 miles. (Federal Funds)

Clay – 15-14 KA-5369-01 – K-15, from the north city limits of Clay Center north to the Clay/Washington county line, milling and overlay, 11.9 miles. (State Funds)

Clay – 80-14 KA-5370-01 – K-80, from the east city limits of Morganville east to the K-15/K-80 junction, milling and overlay, 3.8 miles. (Federal Funds)

**Dickinson** – 70-21 KA-5313-01 – I-70, at the I-70 and K-15 interchange, lighting, 0.4 mile. (Federal Funds)

**Dickinson** – 04-21 KA-5364-01 – K-4, from the K-43/K-4 junction east to the U.S. 77/K-4 junction, milling and overlay, 7.7 miles. (Federal Funds)

**Dickinson** – 15-21 KA-5371-01 – K-15, from the north city limits of Abilene north to the west K-15/K-18 junction, milling and overlay, 6.1 miles. (Federal Funds)

Ellsworth – 156-27 KA-4763-01 – K-156, K-156 and 8th Street intersection, intersection improvement, 0.5 mile. (Federal Funds)

Marion – 150-57 KA-5382-01 – K-150, from the K-150/U.S. 56/U.S. 77 junction east to the Marion/Chase county line, overlay, 8.0 miles. (Federal Funds)

**Marion** – 57 KA-5374-01 – K-15, from the Harvey/Marion county line north to the west U.S. 56/K-15 junction;

and K-215, from the east city limits of Goessel east to the K-215/K-15 junction, milling and overlay, 13.5 miles. (State Funds)

Mitchell – 14-62 KA-3292-01 – K-14, bridge #028 over Leban Creek on K-14 located 3.37 miles south of U.S. 24, special. (State Funds)

Morris – 177-64 KA-4285-01 – K-177, bridge #023 over Munker's Creek on K-177 located 6.9 miles south of the Morris/Wabaunsee county line, bridge replacement. (Federal Funds)

Ottawa – 81-72 KA-5375-01 – U.S. 81, from the Saline/ Ottawa county line north to approximately 2,292 feet south of K-106 and northbound Rifle Road north to the Cloud/Ottawa county line, ultra-thin bonded asphalt surfacing, 17.0 miles. (Federal Funds)

**Statewide** – 197-106 KA-5385-01 – K-197, from the east city limits of Industry east to the Dickinson/Clay county line and from the Dickinson/Clay county line east to the K-15/K-197 junction, sealing, 2.0 miles. (State Funds)

# **District Three - Northwest**

**Norton** – 69 C-4936-01 – Washington Road beginning at the U.S. 36 right of way east to the Road W1 intersection, grading and surfacing, 0.5 mile. (Federal Funds)

# **District Four – Southeast**

**Chautauqua** – 99-10 KA-5411-02 – K-99, beginning 2,000 feet south of the K-99/Quivira Road intersection north 3,100 feet and from the north city limits of Sedan north to the Chautauqua/Elk county line, shoulders, 12.0 miles. (State Funds)

Elk – 99-25 KA-5390-01 – K-99, from the east U.S. 160/ K-99 junction north to the Elk/Greenwood county line, milling and overlay, 16.4 miles. (Federal Funds)

**Greenwood** – 99-37 KA-5391-01 – K-99, from the Elk/ Greenwood county line north to the west U.S. 400/K-99 junction, milling and overlay, 2.1 miles. (Federal Funds)

**Montgomery** – 75-63 KA-2379-01 – U.S. 75, from the Kansas/Oklahoma state line, north to the south city limits of Caney, grading and surfacing, 0.7 mile. (Federal Funds)

# **District Five – South Central**

**Edwards** – 50-24 KA-5499-01 – U.S. 50, from the east city limits of Kinsley east to the Edwards/Stafford county line, crack repair, 21.6 miles. (State Funds)

**Harvey –** 196-40 KA-5392-01 – K-196, from the I-135/K-196 junction east to the Harvey/Butler county line, milling and overlay, 9.6 miles. (Federal Funds)

Harvey – 40 KA-5399-01 – U.S. 50, from the Reno/Harvey county line east to the west edge of the wearing surfaces of bridges #073 and #074 over K-15 (includes ramps at Meridian Avenue and K-15); and, K-89, from the north city limits of Halstead north to the south edge of wearing surface of the Halstead bridge (U.S. 50/K-89 junction), milling and overlay, 21.5 miles. (State Funds)

**Kingman** – 48 C-4937-01 – Intersection of RS303/ Southeast 20th Street/ Southeast 100th Avenue, signing, 0.3 mile. (Federal Funds)

**Reno** – 78 U-2333-01 – Various locations in Haven, pedestrian and bicycle paths, 0.8 mile. (Federal Funds)

**Rush** – 96-83 KA-5400-01 – K-96, from approximately 686 feet east of the U.S. 183/K-96 junction east to the Rush/Barton county line, sealing, 14.9 miles. (State Funds)

**Statewide** – 11-106 KA-5396-01 – K-11, from the west U.S. 54/K-11 junction north to the Kingman/Reno county line and from the Kingman/Reno county line north to the K-61/K-11 junction, sealing, 16.7 miles. (State Funds)

**Statewide** – 44-106 KA-5512-01 – K-44, from the east city limits of Anthony east to the Harper/Sumner county line and from the Harper/Sumner county line east to the K-44/K-49 junction, crack repair, 23.4 miles. (State Funds)

**Statewide** – 42-106 KA-5516-01 – K-42, from the K-14/K-42 junction east to the Kingman/Sumner county line and from the Kingman/Sumner county line east to the K-42/K-2 junction, sealing, 16.2 miles. (State Funds)

**Statewide** – 49-106 KA-5521-01–K-49, from the K-49/U.S. 81 junction north to the east U.S. 160/K-49 junction, from the west U.S. 160/K-49 junction north to the Sumner/Sedgwick county line, and from the Sumner/Sedgwick county line north to the K-42/K-49 junction, crack repair, 32.4 miles. (State Funds)

# District Six - Southwest

Finney – 83-28 KA-1008-06 – U.S. 83, from the Haskell/ Finney county line north 2.5 miles, grading and surfacing, 2.5 miles. (Federal Funds)

**Haskell** – 83-41 KA-1008-03 – U.S. 83, from 4.5 miles north of the U.S. 83/U.S. 160/K-144 junction north to the Haskell/Finney county line, grading and surfacing, 7.6 miles. (Federal Funds)

Haskell – 56-41 KA-5360-01 – U.S. 56, from the Seward/ Haskell county line east to County Road GG (located east of Satanta), milling and overlay, 6.0 miles. (Federal Funds)

**Seward** – 54-88 KA-2385-03 – U.S. 54, from approximately 581 feet southwest of the U.S. 54/R Park Road intersection, northeast to 2,957 feet northeast of the U.S. 54/Panhandle Road/Davies Road intersection, grading, bridge and surfacing, 3.0 miles. (Federal Funds)

**Seward** – 56-88 KA-5361-01 – U.S. 56, from the Seward/ Stevens county line east to the Seward/Haskell county line, milling and overlay, 0.8 mile. (Federal Funds)

**Stevens** – 56-95 KA-5362-01 – Ù.S. 56, from the east U.S. 56/K-25 junction east to the Stevens/Seward county line, milling and overlay, 20.3 miles. (Federal Funds)

Julie Lorenz Secretary

Doc. No. 047559

# **State of Kansas**

# Kansas Turnpike Authority

# Request for Letters of Interest

The Kansas Turnpike Authority (KTA) as the lead in a partnered project with the Kansas Department of Transportation (KDOT), and the City of El Dorado is seeking a qualified consulting engineering firm for the project listed below.

# Project

KTA Contract No. 7541, I-35/K-254/K-196 Interchange Concept Study.

# Scope of Services

Develop preliminary concept design for a system to system interchange, providing more direct access between I-35, K-254, and K-196 near the existing Kansas Turnpike (I-35) El Dorado Interchange (Exit 71) in Butler County. A partial listing of the scope of services will include; preliminary horizontal and vertical layouts for system to system interchange including local street connections, alternatives analysis for the ultimate system to system interchange, including consideration for potential interim improvements, develop conceptual right of way footprint, traffic projections, estimate of probable construction costs, and stakeholder communications.

### Instructions and Deadline

To be considered, interested consulting engineering firms must: (a) be KDOT prequalified in Category 211-Highway Design-Major Facility and (b) submit a Letter of Interest response before 3:00 p.m. November 8, 2019, to Glen Scott, Engineering Program Manager, by email at gscott@ksturnpike.com. A confirmation of receipt of the email response will be provided. The subject line of the response email and the PDF file (5 MB maximum size) name must read "KTA Contract No. 7541-Firm Name." Letters of Interest should express interest in the project and describe particular qualifications for the professional services sought by the KTA, including any special expertise, skill, experience, or knowledge of the firm, its employees, and any subconsultant the firm intends to utilize. Interest responses are limited to four pages, with a project history appendix up to four pages.

# **Evaluation Factors**

The Consultant Shortlist Committee will select three to five of the most highly qualified firms expressing interest and schedule an individual interview. The consulting firms can more thoroughly discuss their experience related to the project at the interview and will be expected to discuss their approach to this project in detail and the personnel to be assigned to this project. Firms not selected to be short-listed will be notified.

The Consultant Shortlist Committee will use the following criteria as the basis for shortlist selection of the consulting engineering firms:

- 1. Professional qualifications.
- 2. Experience of staff assigned to the project.
- 3. Firm's experience with similar projects.
- 4. Firm's performance record.
- 5. Other factors included in a submitted response.

The Consultant Selection Committee, consisting of project partner representatives, will conduct the discussions with the firms invited to the individual interview conferences. The committee will rate and select one firm to perform the professional services required for completing the advertised project. After the selection, the firms not selected will be notified of the outcome.

Email all inquiries/questions to Glen Scott at gscott@ksturnpike.com.

David E. Jacobson Director of Engineering/Chief Engineer

Doc. No. 047581

# State of Kansas

# Department of Health and Environment Division of Health Care Finance

# **Public Notice**

The Kansas Department of Health and Environment, Division of Health Care Finance (KDHE-DHCF) is amending the Kansas Medicaid State Plan. With the passage of House Substitute for Senate Bill 109, five ambulance service codes were increased by 20%. The effective date of that legislation was July 1, 2018.

The proposed effective date for the State Plan Amendment (SPA) is October 25, 2019.

For a copy of the SPA, please contact William C. Stelzner at william.stelzner@ks.gov. The last day for public comment is November 25, 2019.

Draft copies of the proposed SPA may also be found at a Local Health Department (LHD).

Adam Proffitt, Medicaid Director Division of Health Care Finance

Doc. No. 047586

### State of Kansas

# Children's Cabinet and Trust Fund

# **Notice of Meeting**

The Kansas Children's Cabinet and Trust Fund will conduct a board retreat from 10:00 a.m. to 3:00 p.m., Friday, November 8, 2019, at the Shawnee Mission USD 512 Center for Academic Achievement, 8200 W. 71st St., Overland Park, Kansas.

You can check for any updates at www.kschildrens cabinet.org.

Melissa A. Rooker Executive Director

Doc. No. 047590

# State of Kansas

# Wichita State University

# Notice of Intent to Lease Land and/or Building Space

Public notice is hereby given that Wichita State University (WSU) intends to lease available land and building space. The university will consider leasing such property and/or space to those whose presence on campus would advance the university's applied learning vision or its mission as an educational, cultural, and economic driver for Kansas and the greater public good, or otherwise provide supporting services and amenities to the campus community (such as restaurants, retail establishments, financial institutions, etc.). Because tenant use must be a good fit with the university's educational mission and available space, please be prepared to provide the following information: (1) name; (2) square footage of space needs and desired lease term and location; (3) equipment, design, or other special needs; (4) description of anticipated use; and (5) the anticipated benefits to the university, its students, and the WSU community (e.g. applied learning, joint research, faculty start-up, etc.).

The university will consider serious offers and inquiries from any financially qualified individual, group, organization, or company. If interested, please contact Vice President for Research & Technology Transfer, Dr. John Tomblin, john.tomblin@wichita.edu or Property Manager Crystal Stegeman, crystal.stegeman@wichita.edu. This publication is being published pursuant to K.S.A. 75-430a(d), to the extent applicable.

Crystal Stegeman University Property Manager Office of the Vice President for Administration and Finance Wichita State University

Doc. No. 046691

# State of Kansas

# Wichita State University

# Notice of Intent to Lease Real Property

Public notice is hereby given that Wichita State University (WSU) intends to directly lease, and indirectly sublease through its affiliate corporation Wichita State Innovation Alliance, Inc., subject to all required state approvals, an approximate ground area consisting of 150,000 square feet or less with the potential for expansion for parking, for the private development of one or more partnership buildings. This private development shall be located west of Oliver, between 17th and 18th streets, on the Wichita State University main campus. The university is interested in leasing such ground to any individual, organization, or entity whose presence on campus would advance the university's applied learning vision or its mission as an educational, cultural, and economic driver for Kansas and the greater public good, and specifically an emphasis on supporting and growing advanced laboratories for research, testing, and innovation in data infrastructure/storage, video surveillance storage, IOT, security, analytics, visualization/modeling, and machine learning/AI. The university intends to lease such ground for any period of time up to sixty-five years, but extended terms and renewal options would be considered. Interested tenants must be willing to be a good fit with the university's educational mission and identify anticipated benefits to the university, its students, and the WSU community (i.e. applied learning, joint research, faculty start-up, WSU curriculum or program support, etc.), and must agree to the essential ground lease terms and restrictive covenants. Interested tenants will be evaluated on: proposal terms, demonstrated benefit to WSU, design concepts, financial stability, and proposed use. Rental rate shall be assessed per leased or leasable square foot of the building but is negotiable based on term of lease and benefit to the university. The university will consider serious offers and inquiries with detailed proposal terms from any financially qualified individual, group, organization, or company and such offers will be considered until a selection is made or this notice is withdrawn. If interested, please contact Vice President for Research and Technology Transfer, Dr. John Tomblin, john.tomblin@wichita.edu or University Property Man-(continued)

ager Crystal Stegeman, crystal.stegeman@wichita.edu. This publication is being published pursuant to K.S.A. 75-430a(d), to the extent applicable.

Crystal Stegeman University Property Manager Office of the Vice President for Finance and Administration Wichita State University

Doc. No. 047500

# State of Kansas

# Department of Administration Office of Procurement and Contracts

# Notice to Bidders

Sealed bids for items listed will be received by the Director of Procurement and Contracts until 2:00 p.m. on the date indicated. For more information, call 785-296-2376:

| 11/05/2019 | EVT0007020 | Boiler Repairs: Parsons State     |
|------------|------------|-----------------------------------|
|            |            | Hospital                          |
| 11/08/2019 | EVT0007000 | Insurance, Professional Liability |
| 11/13/2019 | EVT0007023 | Janitorial Services – Liberal     |
| 11/14/2019 | EVT0007014 | Radio System Upgrade              |
| 11/21/2019 | EVT0007017 | Armored Car Services              |
| 12/10/2019 | EVT0007032 | License, Permit, and              |
|            |            | Registration System               |

The above referenced bid documents can be downloaded at the following website:

http://admin.ks.gov/offices/procurement-and-contracts/bid-solicitations

Additional files may be located at the following website (please monitor this website on a regular basis for any changes/addenda):

http://admin.ks.gov/offices/procurement-and-contracts/additional-files-for-bid-solicitations

# There are No Bids Under this Website Closing in this Week's Ad

Information regarding prequalification, projects, and bid documents can be obtained at 785-296-8899 or http://admin.ks.gov/offices/ofpm/dcc.

Tracy T. Diel, Director Office of Procurement and Contracts

Doc. No. 047589

(Published in the Kansas Register October 24, 2019.)

# **Natural Resources Conservation Service**

# Notice of Finding of No Significant Impact

# Summary

Pursuant to section 102(2)(c) of the National Environmental Policy Act of 1969; the Council on Environmental Quality Regulations (40 Code of Federal Regulations [CFR] Part 1500); and the Natural Resources Conservation Service Regulations (7 CFR Part 650); the U.S. Department of Agriculture, Natural Resources Conservation Service (NRCS), gives notice that an environmental impact statement is not being prepared for Muddy Creek Watershed, Butler County, Kansas.

For further information contact Karen A. Woodrich, State Conservationist, Natural Resources Conservation Service, 760 S. Broadway Blvd., Salina, KS 67401, telephone 785-823-4500.

# Supplementary information

The environmental assessment of this federally assisted action indicates that the project will not cause significant local, regional, or national impact on the environment. As a result of these findings, Karen A. Woodrich, State Conservationist, has determined that the preparation and review of an environmental impact statement is not needed for this project.

The project's purpose is to meet current state and NRCS hazard class dam criteria so the structure will continue to provide flood damage reduction benefits. The planned work of improvement includes the rehabilitation of Muddy Creek Watershed Floodwater Retarding Dam 4-6, located in Butler County, Kansas.

The Notice of Finding of No Significant Impact (FONSI) has been forwarded to the Environmental Protection Agency and to various federal, state, and local agencies and interested parties. A limited number of copies of the FONSI and environmental assessment are available for single-copy requests at the above address. The FONSI and environmental assessment may be reviewed online at the Kansas NRCS website at <a href="https://www.ks.nrcs.usda.gov/programs/ws\_rehab">www.ks.nrcs.usda.gov/programs/ws\_rehab</a> or by contacting Kevin D. Gustafson, State Conservation Engineer, at 785-823-4534.

No administrative action on implementation of the proposal will be taken until 15 days after the date of this publication.

Kevin Gustafson State Conservationist

Doc. No. 047591

# State of Kansas

# Department of Health and Environment

# Notice Concerning Proposed Kansas Air Quality Construction Permit

Notice is hereby given that the Kansas Department of Health and Environment (KDHE) is soliciting comments regarding a proposed air quality construction permit. Grandview Products Company, Inc. has applied for an air quality construction permit in accordance with the provisions of K.A.R. 28-19-300. Emissions of PM/PM<sub>10</sub>, NO<sub>x</sub>, CO, VOC, HAPS (combined and single) were evaluated during the permit review process.

Grandview Products Company, Inc., 1601 Superior Dr., Parsons, KS 67357, owns and operates a wood kitchen cabinet and countertop manufacturing facility located at 1601 Superior Dr., Parsons, KS 67357 at which three new in-line heaters are to be installed, post permit issuance. The facility is also taking a federally enforceable limit on VOC emissions.

A copy of the proposed permit, permit application, all supporting documentation, and all information relied upon during the permit application review process are available for public review from the date of publication during normal business hours at the KDHE, Bureau of Air (BOA), 1000 SW Jackson, Suite 310, Topeka,

KS 66612-1366 and at the Southeast District Office, 308 W. 14th St., Chanute, KS 66720. To obtain or review the proposed permit and supporting documentation, contact Rumela Bhadra, 785-291-3271, at the central office of the KDHE or Caitlin Brown, 620-860-7235, at the Southeast District Office. The standard departmental cost will be assessed for any copies requested.

Please direct written comments or questions regarding the proposed permit to Rumela Bhadra, KDHE, BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received no later than 12:00 p.m. Monday, November 25, 2019.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Rumela Bhadra, KDHE, BOA, 1000 SW Jackson, Suite 310, Topeka, KS 66612-1366, no later than 12:00 p.m. Monday, November 25, 2019 in order for the Secretary of Health and Environment to consider the request.

> Lee A. Norman, M.D. Secretary

Doc. No. 047583

# State of Kansas

# Department of Health and Environment

# Notice Concerning Kansas/Federal Water **Pollution Control Permits and Applications**

In accordance with Kansas Administrative Regulations 28-16-57 through 63, 28-18-1 through 17, 28-18a-1 through 33, 28-16-150 through 154, 28-46-7, and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, various draft water pollution control documents (permits, notices to revoke and reissue, notices to terminate) have been prepared and/or permit applications have been received for discharges to waters of the United States and the state of Kansas for the class of discharges described below.

The proposed actions concerning the draft documents are based on staff review, applying the appropriate standards, regulations, and effluent limitations of the state of Kansas and the Environmental Protection Agency. The final action will result in a Federal National Pollutant Discharge Elimination System Authorization and/or a Kansas Water Pollution Control permit being issued, subject to certain conditions, revocation, and reissuance of the designated permit or termination of the designated permit.

### Public Notice No. KS-AG-19-315/318

# Pending Permits for Confined Feeding Facilities

| remains remains for commed recams racing                            |  |                      |
|---|--|----------------------|
| Name and Address of Applicant                                       | Legal Description  | Receiving Water      |
| Buessing Dairy<br>Roy Buessing<br>1083 29th Rd.<br>Axtell, KS 66403 | SW/4 of Section 23<br>and SE/4 of<br>Section 22<br>T02S, R10E<br>Marshall County | Big Blue River Basin |

Kansas Permit No. A-BBMS-M014

This permit is being modified and reissued for an existing dairy facility. The facility is expanding to have a capacity of 450 head (630 animal units) of mature dairy cattle, 225 head (225 animal units) of dairy heifers weighing more than 700 pounds and 225 head (112 animal units) of dairy heifers weighing less than 700 pounds. The proposed facility wide total would be for up to 900 head (967 animal units). The west side heifer area consists of a new proposed 60 x 330-foot Mono-slope barn to be added to the existing ~1.3 acres of confinement lots, 2 existing cattle sheds, and a 1.6 acre grassed buffer area. The east side milking dairy operation area consists of ~4.8 acres a milking parlor, free stall barns, commodity storage areas, and waste storage/handling facilities. The waste storage/handling facilities are being expanded with a new retention control structure (RCS) replacing the four-cell existing RCS/ Wetlands structures. A second larger solid manure storage structure is also planned. Two existing RCSs will be re-used for wet sediment and parlor process waste. Waste transfer pipelines and grassed waterways are also planned.

| Name and Address of Applicant                        | Legal Description                               | Receiving Water    |
|--|---|--------------------|
| Michael Arndt<br>2124 Deerbrook<br>Emporia, KS 66801 | NE/4 of Section 10<br>T20S, R10E<br>Lyon County | Neosho River Basin |

Kansas Permit No. A-NELY-B008

This is a renewal permit for an existing facility for 999 head (999 animal units) of cattle weighing more than 700 pounds. There is no change in the permitted animal units. The facility has been re-approved to construct an open lot pen within the footprint of the facility. This facility has an approved Nutrient Management Plan on file with KDHE.

| Name and Address of Applicant   | Legal Description                                  | Receiving Water      |
|---|--|----------------------|
| Hornbaker Farms<br>Warren Hornbaker<br>1752 180th Ave.<br>Lewis, KS 67552 | NW/4 of Section 25<br>T25S, R18W<br>Edwards County | Arkansas River Basin |

Kansas Permit No. A-ARED-B001

This is a renewal permit for an existing facility for 700 head (350 animal units) of cattle weighing 700 pounds or less. There has been no change in animal numbers from the last permit.

| Name and Address of Applicant  | Legal Description                                 | Receiving Water     |
|--|---|---------------------|
| Vaughn Feedlot<br>Steven Vaughn<br>655 Woofter Ave.<br>Colby, KS 67701 | NW/4 of Section 13<br>T07S, R31W<br>Thomas County | Solomon River Basin |

Kansas Permit No. A-SOTH-B002

This is a renewal permit for an existing facility for 900 head (450 animal units) of cattle weighing 700 pounds or less. There is no change in the permitted animal units. This facility has an approved Waste Management Plan on file with KDHE.

# Public Notice No. KS-Q-19-264/275

The requirements of the draft permit public noticed below are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28(b-g), and Federal Surface Water Criteria.

| Name and Address<br>of Applicant                              | Receiving Stream | Type of Discharge              |
|---|------------------|--------------------------------|
| Chapman, City of<br>PO Box 321<br>Chapman, KS 67431           | Smoky Hill River | Treated Domestic<br>Wastewater |
| Kansas Permit No. M-SH04-OO01<br>Federal Permit No. KS0029114 |                  |                                |

Legal Description: NE1/4, NE1/4, SW1/4, S32, T12S, R4E

The proposed action is to reissue an existing State/NPDES permit for an existing facility. The existing facility consists of a bar screen, grit removal with an air lift pump, aeration basin, aerobic digester, final clarifier, and UV disinfection. This permit includes a schedule of compliance to implement requirements of a consent order and any amendments or replacements thereto. The proposed permit contains limits for biochemical oxygen demand, total suspended solids, pH, ammonia and E. coli, as well as monitoring for total phosphorus, nitrate + nitrite, total Kjeldahl nitrogen, total nitrogen, arsenic, chlorides, sulfates and flow.

# Name and Address of Applicant Eastborough, City of #1 E. Douglas Ave. Eastborough, KS 67207 Receiving Stream Type of Discharge Stormwater Point Source

Kansas Permit No. M-AR31-SU01 Federal Permit No. KSR410041

1248

Facility Name: Eastborough Municipal Separate Storm Sewer System

The proposed action is to issue a new individual NPDES Municipal Separate Storm Sewer System (MS4) permit from an existing MS4 general permit. The proposed MS4 permit requires the permittee to develop, implement, and enforce a stormwater management program designed to reduce the discharge of pollutants from the MS4 to the maximum extent practicable, to protect water quality, and to satisfy the appropriate water quality requirements of the Clean Water Act and Kansas surface water quality statutes and regulations. The proposed permit requires the permittee to update the Stormwater Management Program document, implement six minimum control measures and implement best management practices to reduce any identified total maximum daily load (TMDL) regulated pollutants if listed in the permit (TMDL Table). If there is an identified TMDL regulated pollutant, surface water monitoring may be required on the impaired water body to evaluate performance of the best management practices. Monitoring of industrial stormwater discharges and oversite of construction activities within the MS4 may be required if it is applicable. The proposed permit requires the submittal of an annual report that addresses all compliance requirements for the previous year.

# Name and Address of Applicant Edwardsville, City of Kansas River Stormwater Point Source Edwardsville, KS 66113 Type of Discharge Stormwater Point Source

Kansas Permit No. M-KS14-SU01 Federal Permit No. KSR410040

Facility Name: Edwardsville Municipal Separate Storm Sewer System

The proposed action is to issue a new individual NPDES Municipal Separate Storm Sewer System (MS4) permit from an existing MS4 general permit. The proposed MS4 permit requires the permittee to develop, implement, and enforce a stormwater management program designed to reduce the discharge of pollutants from the MS4 to the maximum extent practicable, to protect water quality, and to satisfy the appropriate water quality requirements of the Clean Water Act and Kansas surface water quality statutes and regulations. The proposed permit requires the permittee to update the Stormwater Management Program document, implement six minimum control measures and implement best management practices to reduce any identified total maximum daily load (TMDL) regulated pollutants if listed in the permit (TMDL Table). If there is an identified TMDL regulated pollutant, surface water monitoring may be required on the impaired water body to evaluate performance of the best management practices. Monitoring of industrial stormwater discharges and oversite of construction activities within the MS4 may be required if it is applicable. The proposed permit requires the submittal of an annual report that addresses all compliance requirements for the previous year.

| Name and Address of Applicant        | Receiving Stream                      | Type of Discharge              |
|--------------------------------------|---------------------------------------|--------------------------------|
| Garden Plain, City of<br>600 S. Main | Clearwater Creek via<br>Polecat Creek | Treated Domestic<br>Wastewater |
| Garden Plain, KS 67050               |                                       |                                |

Kansas Permit No. M-AR35-OO02 Federal Permit No. KS0100111

Legal Description: SW¼, SE¼, SE¼, S31, T27S, R3W, Sedgwick County, Kansas

The proposed action is to reissue an existing State/NPDES permit for an existing facility. The existing facility is a mechanical wastewater treatment plant consisting of influent lift station, headworks, activated sludge aeration carousel, anaerobic and aerobic basins for biological nutrient removal, waste activated sludge holding basin, final clarification, UV disinfection, and two polishing ponds. This permit has a schedule of compliance stating the facility shall have a KDHE-certified operator to supervise the facility. The proposed permit contains limits for biochemical oxygen demand, total suspended solids, pH, ammonia and E. coli, as well as monitoring for total phosphorus, total Kjeldahl nitrogen, nitrate + nitrite, and flow.

| Name and Address of Applicant   | Receiving Stream   | Type of Discharge  |
|---|--|--------------------|
| Fiber Glass Systems,<br>LP<br>2501 Southwest St.<br>Wichita, KS 67217 | Arkansas River via<br>Big Slough via<br>City Storm Sewer | Process Wastewater |

Kansas Permit No. I-AR94-PO39 Federal Permit No. KS0087807

Legal Description: NE1/4, S2, T28S, R1W, Sedgwick County, Kansas

The proposed action is to reissue an existing State/NPDES permit for an existing facility. This facility manufactures fiberglass reinforced pipe and fittings by filament winding and compression molding process. Ancillary operations include machining and grinding. The discharge consists of non-contact cooling water from the pipe winding mandrels after the cure cycle and the non-contact cooling water used for one pass cooling of hydraulic units. The proposed permit contains limits for total residual chlorine and pH, as well as monitoring for flow and temperature.

| Name and Address of Applicant                       | Receiving Stream | Type of Discharge          |
|---|------------------|----------------------------|
| Goddard, City of<br>PO Box 667<br>Goddard, KS 67052 | Arkansas River   | Stormwater Point<br>Source |

Kansas Permit No. M-AR37-SU01 Federal Permit No. KSR410043

Facility Name: Goddard Municipal Separate Storm Sewer System

The proposed action is to issue a new individual NPDES Municipal Separate Storm Sewer System (MS4) permit from an existing MS4 general permit. The proposed MS4 permit requires the permittee to develop, implement, and enforce a stormwater management program designed to reduce the discharge of pollutants from the MS4 to the maximum extent practicable, to protect water quality, and to satisfy the appropriate water quality requirements of the Clean Water Act and Kansas surface water quality statutes and regulations. The proposed permit requires the permittee to update the Stormwater Management Program document, implement six minimum control measures and implement best management practices to reduce any identified total maximum daily load (TMDL) regulated pollutants if listed in the permit (TMDL Table). If there is an identified TMDL regulated pollutant, surface water monitoring may be required on the impaired water body to evaluate performance of the best management practices. Monitoring of industrial stormwater discharges and oversite of construction activities within the MS4 may be required if it is applicable. The proposed permit requires the submittal of an annual report that addresses all compliance requirements for the previous year.

| Name and Address of Applicant   | Receiving Stream                       | Type of Discharge              |
|---|--|--------------------------------|
| Phillipsburg, City of<br>PO Box 447<br>Phillipsburg, KS<br>67661-0447 | Plotner Creek via<br>Unnamed Tributary | Treated Domestic<br>Wastewater |

Kansas Permit No. M-SO31-OO02 Federal Permit No. KS0097331

Legal Description: SW1/4, SW1/4, SW1/4, S35 T3S, R18W, Phillips County, Kansas

Facility Location: 19 E. Santa Fe Rd., Phillipsburg, KS 67661

The proposed action is to reissue an existing State/NPDES permit for an existing facility. The existing facility is a mechanical wastewater treatment plan consisting of screening and grit removal, extended aeration activated sludge AeroMod system, UV disinfection, cascade reaeration, and sludge belt filter press. The proposed permit contains limits for biochemical oxygen demand, total suspended solids, ammonia, pH, and E. coli, as well as monitoring for total phosphorus, nitrate + nitrite, total Kjeldahl nitrogen, total nitrogen, selenium, sulfate, arsenic and flow.

# Name and Address of Applicant Pottawatomie County Commission PO Box 187 Westmoreland, KS Receiving Stream Type of Discharge of Applicant Stormwater Point Source

Kansas Permit No. M-KS38-SU03 Federal Permit No. KSR410047

66549

Facility Name: Pottawatomie County Municipal Separate Storm Sewer System

The proposed action is to issue a new individual NPDES Municipal Separate Storm Sewer System (MS4) permit from an existing MS4 general permit. The proposed MS4 permit requires the permittee to develop, implement, and enforce a stormwater management program designed to reduce the discharge of pollutants from the MS4 to the maximum extent practicable, to protect water quality, and to satisfy the appropriate water quality requirements of the Clean Water Act and Kansas surface water quality statutes and regulations. The proposed permit requires the permittee to update the Stormwater Management Program document, implement six minimum control measures and implement best management practices to reduce any identified total maximum daily load (TMDL) regulated pollutants if listed in the permit (TMDL Table). If there is an identified TMDL regulated pollutant, surface water monitoring may be required on the impaired water body to evaluate performance of the best management practices. Monitoring of industrial stormwater discharges and oversite of construction activities within the MS4 may be required if it is applicable. The proposed permit requires the submittal of an annual report that addresses all compliance requirements for the previous year.

# Name and Address of Applicant Riley County Commission 6215 Tuttle Creek Blvd. Manhattan, KS 66503 Receiving Stream Type of Discharge Stormwater Point Source

Kansas Permit No. M-KS38-SU04 Federal Permit No. KSR410048

Facility Name: Riley County Municipal Separate Storm Sewer System

The proposed action is to issue a new individual NPDES Municipal Separate Storm Sewer System (MS4) permit from an existing MS4 general permit. The proposed MS4 permit requires the permittee to develop, implement, and enforce a stormwater management program designed to reduce the discharge of pollutants from the MS4 to the maximum extent practicable, to protect water quality, and to satisfy the appropriate water quality requirements of the Clean Water Act and Kansas surface water quality statutes and regulations. The proposed permit requires the permittee to update the Stormwater Management Program document, implement six minimum control measures and implement best management practices to reduce any identified total maximum daily load (TMDL) regulated pollutants if listed in the permit (TMDL Table). If there is an identified TMDL regulated pollutant, surface water monitoring may be required on the impaired water body to evaluate performance of the best management practices. Monitoring of

of industrial stormwater discharges and oversite of construction activities within the MS4 may be required if it is applicable. The proposed permit requires the submittal of an annual report that addresses all compliance requirements for the previous year.

| Name and Address of Applicant                                       | Receiving Stream                       | Type of Discharge              |
|---|--|--------------------------------|
| Spring Hill, City of<br>PO Box 424<br>Spring Hill, KS<br>66083-0424 | Ten Mile Creek via<br>Sweetwater Creek | Treated Domestic<br>Wastewater |

Kansas Permit No. M-MC45-OO01 Federal Permit No. KS0048143

Legal Description: SW1/4, SE1/4, SW1/4, S13, T15S, R23E, Johnson County, Kansas

Facility Name: Spring Hill Wastewater Treatment Facility #1

The proposed action is to reissue an existing State/NPDES permit for an existing facility. This facility is a four-cell wastewater stabilization lagoon system that serves a nearby subdivision and is mainly used during high flow events. The lagoons have the capability to be bypassed and send wastewater to the city's mechanical treatment plant. The proposed permit contains limits for biochemical oxygen demand, total suspended solids, pH, and ammonia.

| Name and Address of Applicant   | Receiving Stream   | Type of Discharge              |
|---|--|--------------------------------|
| Shawnee Co.<br>Consolidated<br>RWD #4<br>PO Box 750777<br>Topeka, KS 66675-0777 | Kansas River via<br>Soldier Creek via<br>Unnamed Tributary | Treated Domestic<br>Wastewater |
| Kansas Permit No. L-KS  | 72-PO26  |                                |

Kansas Permit No. I-KS72-PO26 Federal Permit No. KS0099601

Legal Description: SE¼, SW¼, SE¼, S9, T11S, R15E, Shawnee County, Kansas

Facility Location: 5439 NW 33rd St., Topeka, KS 66618 Facility Name: Shawnee County CRWD No. 4 – Menoken

The proposed action is to reissue an existing State/NPDES permit for an existing facility. This is a public water treatment plant currently designed for 3 mgd with long-term plans to expand to 6 mgd. Well water is treated with an induced draft aerator to precipitate iron and manganese, followed by a solid contact basin, where lime is added for softening. Polyaluminum and a polymer is also added to help settle the lime and precipitate solids. The overflow is then treated with carbon dioxide to control pH and a filter aide, prior to entering the filters. The filtered water is treated with chlorine and ammonia before being routed to the distribution system. The proposed permit contains limits for total suspended solids, total residual chlorine and pH, as well as monitoring for flow.

# Name and Address of Applicant Union Pacific Railroad Company 1400 Douglas St., Stop 1030 Stop 1030 Comaha, NE 68179 Receiving Stream Type of Discharge Process Wastewater Process Wast

Kansas Permit No. I-AR94-PO12 Federal Permit No. KS0099970

Facility Location: 1800 E. Murdock, Wichita, KS 67214

Facility Name: Union Pacific Railroad Hydraulic Containment System

The proposed action is to reissue an existing State/NPDES permit for an existing facility. Groundwater contaminated with trichloroethylene (TCE) and tetrachloroethylene (PCE) is collected in a system of 8 pumping wells pumping at a total rate of up to 180 gallons per minute. The wells pump into a common header which is connected to a treatment building. The treatment system contains of a counter flow, low profile air stripper to remove volatile organic compounds (VOC's). The proposed permit contains limits for trichloroethylene, tetrachloroethylene and pH, as well as monitoring for flow, chloride and total phosphorus.

Persons wishing to comment on the draft documents and/or permit applications must submit their comments in writing to the Kansas Department of Health and Environment if they wish to have the comments considered in the decision-making process. Comments should be submitted to the attention of the Livestock Waste Management Section for agricultural related draft documents or applications, or to the Technical Services Section for all other permits, at the Kansas Department of Health and Environment, Division of Environment, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, KS 66612-1367.

All comments regarding the draft documents or application notices received on or before November 23, 2019, will be considered in the formulation of the final determinations regarding this public notice. Please refer to the appropriate Kansas document number (KS-AG-19-315/318, KS-Q-19-264/275) and name of the applicant/permittee when preparing comments.

After review of any comments received during the public notice period, the Secretary of Health and Environment will issue a determination regarding final agency action on each draft document/application. If response to any draft document/application indicates significant public interest, a public hearing may be held in conformance with K.A.R. 28-16-61 (28-46-21 for UIC).

All draft documents/applications and the supporting information including any comments received are on file and may be inspected at the offices of the Kansas Department of Health and Environment, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, Kansas. These documents are available upon request at the copying cost assessed by KDHE. Application information and components of plans and specifications for all new and expanding swine facilities are available at <a href="http://www.kdheks.gov/feedlots">http://www.kdheks.gov/feedlots</a>. Division of Environment offices are open from 8:00 a.m. to 5:00 p.m., Monday through Friday, excluding holidays.

Lee A. Norman, M.D. Secretary

Doc. No. 047582

# **State of Kansas**

# **Secretary of State**

# **Notice of Proposed Constitutional Amendment**

# Senate Concurrent Resolution No. 1605

A PROPOSITION to amend section 1 of article 10 of the constitution of the state of Kansas; relating to reapportionment of senatorial and representative districts.

Be it resolved by the Legislature of the State of Kansas, twothirds of the members elected (or appointed) and qualified to the Senate and two-thirds of the members elected (or appointed) and qualified to the House of Representatives concurring therein:

Section 1. The following proposition to amend the constitution of the state of Kansas shall be submitted to the qualified electors of the state for their approval or rejection: Section 1 of article 10 of the constitution of the state of Kansas is hereby amended to read as follows:

- "§ 1. Reapportionment of senatorial and representative districts. (a) At its regular session in 1989, the legislature shall by law reapportion the state representative districts, the state senatorial districts or both the state representative and senatorial districts upon the basis of the latest census of the inhabitants of the state taken by authority of chapter 61 of the 1987 Session Laws of Kansas. At its regular session in 1992, and at its regular session every tenth year thereafter, the legislature shall by law reapportion the state senatorial districts and representative districts on the basis of the population of the state as established by the most recent census of population taken and published by the United States census bureau of the census. Senatorial and representative districts shall be reapportioned upon the basis of the population of the state adjusted: (1) To exclude nonresident military personnel stationed within the state and nonresident students attending colleges and universities within the state; and (2) to include military personnel stationed within the state who are residents of the state and students attending colleges and universities within the state who are residents of the state in the district of their permanent residence. Bills reapportioning legislative districts shall be published in the Kansas register immediately upon final passage and shall be effective for the next following election of legislators and thereafter until again reapportioned.
- (b) Within 15 days after the publication of an act reapportioning the legislative districts within the time specified in (a), the attorney general shall petition the supreme court of the state to determine the validity thereof. The supreme court, within 30 days from the filing of the petition, shall enter its judgment. Should the supreme court determine that the reapportionment statute is invalid, the legislature shall enact a statute of reapportionment conforming to the judgment of the supreme court within 15 days.
- (c) Upon enactment of a reapportionment to conform with a judgment under (b), the attorney general shall apply to the supreme court of the state to determine the validity thereof. The supreme court, within 10 days from the filing of such application, shall enter its judgment. Should the supreme court determine that the reapportionment statute is invalid, the legislature shall again enact a statute reapportioning the legislative districts in compliance with the direction of and conforming to the mandate of the supreme court within 15 days after entry thereof.
- (d) Whenever a petition or application is filed under this section, the supreme court, in accordance with its rules, shall permit interested persons to present their views.
- (e) A judgment of the supreme court of the state determining a reapportionment to be valid shall be final until the legislative districts are again reapportioned in accordance herewith."
- Sec. 2. The following statement shall be printed on the ballot with the amendment as a whole:

"Explanatory statement. The purpose of this amendment is to eliminate the adjustment of census taken by the United States census bureau regarding nonresident military personnel and nonresident students when reapportioning the Kansas senate and house of representatives.

"A vote for this proposition would eliminate the adjustment of census taken by the United States census bureau regarding nonresident military personnel and nonresident students when reapportioning the Kansas senate and house of representatives.

"A vote against this proposition would continue in effect the requirement for the adjustment of census taken by the United States census bureau regarding nonresident military personnel and nonresident students when reapportioning the Kansas senate and house of representatives."

Sec. 3. This resolution, if approved by two-thirds of the members elected (or appointed) and qualified to the Senate, and two-thirds of the members elected (or appointed) and qualified to the House of Representatives shall be entered on the journals, together with the yeas and nays. The secretary of state shall cause this resolution to be published as provided by law and shall cause the proposed amendment to be submitted to the electors of the state at the general election in November in the year 2019, unless a special election is called at a sooner date by concurrent resolution of the legislature, in which case it shall be submitted to the electors of the state at the special election.

Scott Schwab Secretary of State

Doc. No. 047563

# **State of Kansas**

# **Kansas Development Finance Authority**

# **Notice of Hearing**

A public hearing will be held at 9:30 a.m. November 12, 2019, in the conference room of the Kansas Development Finance Authority (the "Authority"), 534 S. Kansas Ave., Suite 800, Topeka, Kansas, on the proposed issuance by the Authority in one or more series of revenue bonds (the "Bonds") in a principal amount not to exceed \$15,000,000. The Bonds will be issued pursuant to K.S.A. 74-8901 et seq. (the "Act") to finance the construction and equipping of a 115-unit qualified residential rental project under Section 142 of the Internal Revenue Code known as Davidson's Landing Apartments, to be located at or about 651 N. 65th St., Kansas City, Kansas (the "Project"), to be owned and operated by Davidson's Landing Apartment Homes, LP, a Kansas limited partnership (the "Borrower").

The Bonds will be limited obligations of the Authority, payable solely from revenues pledged by the Borrower, and will not constitute a general obligation or indebtedness of the State of Kansas or any political subdivision thereof, nor will the Bonds constitute an indebtedness for which the faith and credit and taxing powers of the State of Kansas are pledged, but the Bonds will be payable solely and only from revenues pledged by the Borrower in amounts sufficient to pay the principal of, interest and redemption premium, if any, on the Bonds.

At the time and place fixed for the hearing, all individuals who appear will be given an opportunity to express their views for or against the proposal to issue any specific Bonds, and all written comments previously sent to the Authority at its above-referenced offices will be consid-

ered. Additional information regarding the Project may be obtained by contacting the Authority at the address of its offices shown above.

> Rebecca E. Floyd President

Doc. No. 047576

### State of Kansas

# **Kansas Development Finance Authority**

# **Notice of Hearing**

A public hearing will be held at 9:00 a.m. November 12, 2019, in the conference room of the Kansas Development Finance Authority (the "Authority"), 534 S. Kansas Ave., Suite 800, Topeka, Kansas, on the proposed issuance by the Authority of revenue bonds in one or more series (the "Bonds") in an aggregate principal amount not to exceed \$6,100,000 to refund and reissue the Authority's Multifamily Housing Revenue Bonds (Hillcrest Manor Apartments Project) Series 2017F-1 and Multifamily Housing Revenue Bonds (Hillcrest Manor Apartments Project) Series 2017F-2. The proceeds of such prior bonds were issued pursuant to K.S.A. 74-8901 et seq. (the "Act") to finance the acquisition, rehabilitation, and equipping of a 95-unit qualified residential rental project under Section 142 of the Internal Revenue Code known as Hillcrest Manor Apartments, located at 3414 Hughes Rd., Leavenworth, Kansas (the "Project"). The Project was initially, and is currently, owned and operated by Hillcrest Apartments, LP, a Kansas limited partnership (the "Partnership").

The Bonds will be limited obligations of the Authority, payable solely from revenues pledged by the Partnership, and will not constitute a general obligation or indebtedness of the State of Kansas or any political subdivision thereof, nor will the Bonds constitute an indebtedness for which the faith and credit and taxing powers of the State of Kansas are pledged, but the Bonds will be payable solely and only from revenues pledged by the Partnership in amounts sufficient to pay the principal of, interest and redemption premium, if any, on the Bonds.

At the time and place fixed for the hearing, all individuals who appear will be given an opportunity to express their views for or against the proposal to issue any specific Bonds, and all written comments previously sent to the Authority at its above-referenced offices will be considered. Additional information regarding the Project may be obtained by contacting the Authority at the address of its offices shown above.

Rebecca E. Floyd President

Doc. No. 047577

# **State of Kansas**

# Kansas Development Finance Authority

# **Notice of Hearing**

A public hearing will be held at 9:00 a.m. November 8, 2019, in the conference room of the Kansas Development Finance Authority (the "Authority"), 534 S. Kansas Ave., (continued)

Suite 800, Topeka, Kansas, on the proposal for the Authority to issue its tax-exempt, private activity, exempt facility revenue bond for the furnishing of water (the "Bonds") on behalf of Suburban Water, Inc., a Kansas corporation (the "Company"), in a principal amount not to exceed \$4,300,000. The Bonds will be issued pursuant to K.S.A. 74-8901 *et seq.* (the "Act").

The Company expects to allocate the proceeds of the Bonds to pay all or a portion of the capital expenditures to acquire, construct, improve, equip, and furnish a new drinking water treatment facility and related facilities, including, two municipal water wells, a waste discharge basin and eight miles of transmission pipeline (the "Project"). The drinking water treatment facility and related facilities will be located at 11760 206th St., Linwood, KS 66052 and the transmission pipeline will begin at the drinking water treatment facility and run north along the east side of 206th Street to the intersection of 206th Street and Evans Road in Tonganoxie, Kansas. The Company will own and operate the Project.

The Bonds, when issued, will be a limited obligation of the Authority and will not constitute a general obligation or indebtedness of the State of Kansas or any political subdivision thereof, nor will the Bonds constitute an indebtedness for which the faith and credit and taxing powers of the State of Kansas are pledged, but the Bonds will be payable solely from payments pledged by the Company in amounts sufficient to pay the principal of, interest and redemption premium, if any, on the Bonds when they become due.

At the hearing, all individuals who appear will be given an opportunity to express their views for or against the proposal to issue the Bonds for the purpose of financing the Project, and all written comments previously filed with the Authority at its offices at 534 S. Kansas Ave., Suite 800, Topeka, KS 66603 will be considered. Additional information regarding the Project described above may be obtained by contacting the Authority at the address of its offices listed above.

Rebecca Floyd President

Doc. No. 047585

(Published in the Kansas Register October 24, 2019.)

# Johnson County, Kansas

Summary Notice of Bond Sale \$23,685,000\* General Obligation Internal Improvement Bonds Series 2019A

# (General Obligation Bonds Payable from Unlimited Ad Valorem Taxes)

### **Bids**

Subject to the Notice of Bond Sale dated on or about October 23, 2019 (the "Notice"), written and electronic bids will be received on behalf of the Budget Director of Johnson County, Kansas (the "Issuer") in the case of written or facsimile bids, at the address set forth below, and in the case of electronic bids, through PARITY® until 1:00 p.m. (CST) November 13, 2019, for the purchase of the

above-referenced bonds (the "Bonds"). No bid of less than 100% of the principal amount of the Bonds and accrued interest thereon to the date of delivery will be considered.

### **Bond Details**

The Bonds will consist of fully registered bonds in the denomination of \$5,000 or any integral multiple thereof. The Bonds will be dated December 11, 2019, and will become due on September 1 in the years as follows:

| Year | Principal<br>Amount* | Year | Principal<br>Amount* |
|------|----------------------|------|----------------------|
| 2020 | \$1,285,000          | 2030 | \$1,010,000          |
| 2021 | 1,175,000            | 2031 | 1,030,000            |
| 2022 | 1,195,000            | 2032 | 1,055,000            |
| 2023 | 1,205,000            | 2033 | 1,080,000            |
| 2024 | 1,220,000            | 2034 | 1,105,000            |
| 2025 | 1,235,000            | 2035 | 1,130,000            |
| 2026 | 1,255,000            | 2036 | 1,160,000            |
| 2027 | 1,270,000            | 2037 | 1,195,000            |
| 2028 | 1,285,000            | 2038 | 1,225,000            |
| 2029 | 1,310,000            | 2039 | 1,260,000            |

The Bonds will bear interest from the date thereof at rates to be determined when the Bonds are sold as hereinafter provided, which interest will be payable semiannually on March 1 and September 1 in each year, beginning on March 1, 2020.

# **Book-Entry-Only System**

The Bonds shall be registered under a book-entry-only system administered through DTC.

# Paying Agent and Bond Registrar

Treasurer of the State of Kansas, Topeka, Kansas.

# **Good Faith Deposit**

The successful bidder must supply a good faith deposit (the "Deposit") in the amount of 2% of the principal amount of the Bonds payable to the order of the Issuer to secure the Issuer from any loss resulting from the failure of the successful bidder to comply with the terms of its bid. The Deposit must be received by the Issuer prior to 3:00 p.m. (CST) on the Sale Date. The Deposit shall be submitted by wire transfer in federal funds, immediately available for use by the Issuer (wire transfer information may be obtained from the Issuer or the Municipal Advisor at the addresses set forth below).

### **Delivery**

The Issuer will pay for preparation of the Bonds and will deliver the same properly prepared, executed, and registered without cost to the successful bidder on or about December 11, 2019, to DTC for the account of the successful bidder.

### **Assessed Valuation and Indebtedness**

The Equalized Assessed Tangible Valuation for Computation of Bonded Debt Limitations for the year 2018 was \$11,531,170,170. The total general obligation indebtedness of the Issuer as of the Dated Date, including the Bonds being sold, is \$525,725,000.

# **Approval of Bonds**

The Bonds will be sold subject to the legal opinion of Gilmore & Bell, P.C., Kansas City, Missouri, Bond Coun-

sel to the Issuer, whose approving legal opinion as to the validity of the Bonds will be furnished and paid for by the Issuer, printed on the Bonds, and delivered to the successful bidder as and when the Bonds are delivered.

# **Additional Information**

Additional information regarding the Bonds may be obtained from the undersigned, or from the Municipal Advisor at the addresses set forth below:

# **Issuer**

Nate Blum, Budget Analyst 111 S. Cherry St., Suite 2300 Olathe, KS 66061 913-715-0556 Fax: 913-715-0558 Nathanael.Blum@jocogov.org

# Municipal Advisor-Facsimile Bid and Good Faith Deposit Delivery Address

Baker Tilly Municipal Advisors, LLC Attn: Bond Services 380 Jackson St., Suite 300 Saint Paul, MN 55101 651-223-3000 Fax: 651-223-3046 bond\_services@bakertilly.com

Dated October 24, 2019.

Nate Blum Budget Analyst

\*Subject to change; see the Notice.

Doc. No. 047588

(Published in the Kansas Register October 24, 2019.)

# City of Bel Aire, Kansas

Summary Notice of Sale \$6,400,000\* General Obligation Bonds, Series 2019A

\$1,465,000\* Taxable General Obligation Refunding Bonds, Series 2019B

\$3,540,000\* General Obligation Temporary Renewal and Improvement Notes, Series 2019C

# (General Obligation Bonds and General Obligation Notes Payable from Unlimited Ad Valorem Taxes)

### **Bids**

Subject to the Notice of Sale dated October 15, 2019, written and electronic bids will be received on behalf of the Clerk of the City of Bel Aire, Kansas (the "Issuer") in the case of written bids, at the address set forth below, and in the case of electronic bids, via <a href="https://www.columbiacapitalauction.com">www.columbiacapitalauction.com</a> (the "Columbia Capital Auction"), until 9:30 a.m., (CST) for the General Obligation Bonds, Series 2019A (the "Series 2019A Bonds") and Taxable General Obligation Refunding Bonds, Series 2019B, (the "Series 2019B Bonds" and, with the Series 2019A Bonds, jointly, the "Bonds") and 10:00 a.m. (CST) for the General Obligation Temporary Renewal and Improvement

Notes, Series 2019C (the "Notes,") on November 5, 2019, for the purchase of the Bonds and Notes. No bid of less than 99.0% of the principal amount of the Series 2019A Bonds, no bid of less than 100% of the principal amount of the Series 2019B Bonds, and no bid of less than 99.50% of the principal amount of the Notes (collectively, the "Obligations") and accrued interest thereon to the date of delivery will be considered.

# **Obligation Details**

The Obligations will consist of fully registered bonds and notes in the denomination of \$5,000 or any integral multiple thereof. The Obligations will be dated November 21, 2019. The Series 2019A Bonds will become due November 1 in the years as follows:

|      | •                    |      |                      |
|------|----------------------|------|----------------------|
| Year | Principal<br>Amount* | Year | Principal<br>Amount* |
| 2021 | \$275,000            | 2031 | \$320,000            |
| 2022 | 280,000              | 2032 | 325,000              |
| 2023 | 280,000              | 2033 | 330,000              |
| 2024 | 285,000              | 2034 | 335,000              |
| 2025 | 290,000              | 2035 | 345,000              |
| 2026 | 295,000              | 2036 | 350,000              |
| 2027 | 300,000              | 2037 | 355,000              |
| 2028 | 300,000              | 2038 | 365,000              |
| 2029 | 305,000              | 2039 | 375,000              |
| 2030 | 310,000              | 2040 | 380,000              |
|      |                      |      |                      |

The Series 2019A Bonds will bear interest from the date thereof at rates to be determined when the Bonds are sold as hereinafter provided, which interest will be payable semiannually on May 1 and November 1 in each year, beginning on May 1, 2020.

The Series 2019B Bonds will become due as follows:

|      | Principal |
|------|-----------|
| Year | Amount*   |
| 2020 | \$135,000 |
| 2021 | 135,000   |
| 2022 | 135,000   |
| 2023 | 140,000   |
| 2024 | 145,000   |
| 2025 | 145,000   |
| 2026 | 150,000   |
| 2027 | 155,000   |
| 2028 | 160,000   |
| 2029 | 165,000   |

The Series 2019B Bonds will bear interest from the date thereof at rates to be determined when the Bonds are sold as hereinafter provided, which interest will be payable semiannually on May 1 and November 1 in each year, beginning on May 1, 2020.

The Notes will become due as follows:

| Stated Maturity | Principal   |
|-----------------|-------------|
| (December 1)    | Amount*     |
| 2022            | \$3,540,000 |

The Notes will bear interest from the Dated Date at rates to be determined when the Notes are sold as hereinafter provided, which interest will be payable semian(continued)

nually on June 1 and December 1 in each year, beginning on June 1, 2020.

# \*Adjustment of Issue Size

The Issuer reserves the right to increase or decrease the total principal amount of the Bonds or the Notes, or both, depending on prepaid special assessments, with respect to the Bonds, and the purchase price and interest rates bid and the offering prices specified by the successful bidder. The principal amount of any maturity may be adjusted by the Issuer in order to properly size the Obligation issue based on the discount or premium and interest rates bid on the Obligations. The successful bidder may not withdraw its bid or change the interest rates bid as a result of any changes made to the principal amount of the Obligations or principal of any maturity as described herein. If there is an increase or decrease in the final aggregate principal amount of the Obligations or the schedule of principal payments as described above, the Issuer will notify the Successful Bidder by means of telephone or facsimile transmission, subsequently confirmed in writing, no later than 2:00 p.m. (CST) on the Sale Date. The actual purchase price for the Obligations shall be calculated by applying the percentage of par value bid by the successful bidder against the final aggregate principal amount of the Obligations, as adjusted.

# **Book-Entry-Only System**

The Obligations shall be registered under a bookentry-only system administered through DTC.

# Paying Agent and Bond Registrar

Treasurer of the State of Kansas, Topeka, Kansas.

# **Good Faith Deposit**

Each bid shall be accompanied by a good faith deposit in the form of a cashier's or certified check drawn on a bank located in the United States of America, a qualified financial surety bond or a wire transfer in Federal Reserve funds immediately available for use by the Issuer in the amount of \$128,000 for the Series 2019A Bonds, \$29,300 for the Series 2019B Bonds, and \$70,800 for the Notes.

# Delivery

The Issuer will pay for preparation of the Obligations and will deliver the same properly prepared, executed, and registered without cost to the successful bidder on or about November 21, 2019, to DTC for the account of the successful bidder.

# **Assessed Valuation and Indebtedness**

The Equalized Assessed Tangible Valuation for Computation of Bonded Debt Limitations for the year 2019 is \$71,364,681. The total general obligation indebtedness of the Issuer as of the Dated Date, including the Obligations being sold, but excluding the notes and bonds being retired by the Bonds and Notes, which will be defeased and no longer be outstanding as of the date of delivery of the Obligations, is \$38,005,000.

# Approval of Bonds

The Obligations will be sold subject to the legal opinion of Gilmore & Bell, P.C., Wichita, Kansas, Bond Counsel to the Issuer, whose approving legal opinion as to the validity of the Obligations will be furnished and paid for

by the Issuer, printed on the Obligations, and delivered to the successful bidder as and when the Obligations are delivered.

# **Additional Information**

Additional information regarding the Obligations may be obtained from the undersigned, or from the Financial Advisor at the addresses set forth below:

# Written Bid and Good Faith Deposit Delivery Address

City of Bel Aire, Kansas 7651 E. Central Park Ave. Bel Aire, KS 67226 316-744-2451 Fax: 316-744-3739 mkrehbiel@belaireks.gov

# Financial Advisor-Facsimile Bid Delivery Address

Columbia Capital Management, LLC 6330 Lamar Ave., Suite 200
Overland Park, KS 66202
913-312-8064
Fax: 913-312-8053
apope@columbiacapital.com

Dated October 15, 2019.

Melissa Krehbiel Clerk

Doc. No. 047592

# State of Kansas

# Board of Indigents' Defense Services

# Notice of Hearing on Proposed Administrative Regulations

A public hearing will be conducted at 10:00 a.m. Thursday, January 9, 2020, in the meeting room of the Board of Indigents' Defense Services (BIDS), 700 Jackson, Suite 500, Topeka, Kansas. The hearing is scheduled to last for 30 minutes. The hearing is to consider the adoption of proposed regulations by the Board of Indigents' Defense Services on a permanent basis.

This 60-day notice of the public hearing shall constitute a public comment period for the proposed regulations noted below. All interested parties may submit written comments prior to the hearing to BIDS, Suite 500, 700 SW Jackson, Topeka, KS 66603 or by email to hcessna@sbids. org. All interested parties will be given a reasonable opportunity to present their views orally regarding the adoption of the proposed regulations during the public hearing. In order to provide all parties an opportunity to present their views, it may be necessary to request that each participant limit any oral presentation to an appropriate timeframe.

Any individual with a disability may request an accommodation in order to participate in the public hearing and may request the proposed regulations and economic impact statement in an accessible format. Requests for accommodation to participate in the hearing should be made at least one week in advance of the hearing by contacting Beth Child at 785-296-8416. The Jayhawk Hotel building is accessible for disabled persons and accessible parking is located in front of the building. A summary of the proposed regulations and their Economic Impact follow.

**Captions** 

Copies of the full proposed regulations and the Economic Impact Statement for the proposed regulations can be obtained at BIDS, 700 SW Jackson, Suite 500, Topeka, KS 66603.

K.A.R. 105-5-2, K.A.R. 105-5-3, K.A.R. 105-5-6, K.A.R. **105-5-7**, **K.A.R. 105-5-8** establish the hourly rate to be paid to the private attorneys who accept court appointments to defend indigent persons in the absence of a public defender. The rate to be paid to assigned counsel is increased from \$75 per hour to \$80 per hour and each of the "caps" for the severity level of the charge is similarly increased from the "cap" at \$75 per hour to the "cap" at \$80 per hour. These amendments reflect the rate set by statute of \$80 per hour.

# **Economic Impact.**

The Board anticipates that the statutory assigned counsel hourly rate of \$80/hour will cost an additional \$1,500,000 to the state general fund.

> Heather Cessna **Executive Director**

Doc. No. 047587

# State of Kansas

# Kansas Lottery

# **Temporary Administrative Regulations**

# Article 4.—INSTANT GAMES AND DRAWINGS

111-4-3583. "Gems Multiplier Super Ticket" instant ticket lottery game number 153. (a) The Kansas Lottery may conduct an instant winner lottery game entitled "Gems Multiplier Super Ticket." The rules for this game are contained in K.A.R. 111-3-1 et seq. and 111-4-3583.

(b) The "play and prize symbols" and "captions" for this game are as follows:

# **SAPPHIRE MINE 6X:**

| Play Symbols                  | Captions |
|-------------------------------|----------|
| Symbol of a balloon           | BALLOON  |
| Symbol of a slot machine bar  | BAR      |
| Symbol of an anchor           | ANCHOR   |
| Symbol of a bell              | BELL     |
| Symbol of a cherry            | CHERRY   |
| Symbol of a chest             | CHEST    |
| Symbol of a clover            | CLOVER   |
| Symbol of confetti            | CONFETI  |
| Symbol of a crown             | CROWN    |
| Symbol of fire                | FIRE     |
| Symbol of a lucky rabbit foot | FOOT     |
| Symbol of a gold bar          | GOLD     |
| Symbol of a firecracker       | FIRECRK  |
| Symbol of a key               | KEY      |
| Symbol of a kite              | KITE     |
| Symbol of gem                 | WIN6X    |
| EMERALD MINE 7X:              |          |

| Play Symbols        | Captions |
|---------------------|----------|
| Symbol of a balloon | BALLOON  |

| Symbol of a slot machine bar  | BAR     |
|-------------------------------|---------|
| Symbol of an anchor           | ANCHOR  |
| Symbol of a bell              | BELL    |
| Symbol of a cherry            | CHERRY  |
| Symbol of a chest             | CHEST   |
| Symbol of a clover            | CLOVER  |
| Symbol of confetti            | CONFETI |
| Symbol of a crown             | CROWN   |
| Symbol of fire                | FIRE    |
| Symbol of a lucky rabbit foot | FOOT    |
| Symbol of a gold bar          | GOLD    |
| Symbol of a firecracker       | FIRECRK |
| Symbol of a key               | KEY     |
| Symbol of a kite              | KITE    |
| Symbol of gem                 | WIN7X   |

# **RUBY MINE 8X:**

Play Symbols

| Symbol of a chest             | CHEST    |
|-------------------------------|----------|
| Symbol of an armored car      | ARMCAR   |
| Symbol of a balloon           | BALLOON  |
| Symbol of a bank              | BANK     |
| Symbol of a slot machine bar  | BAR      |
| Symbol of an anchor           | ANCHOR   |
| Symbol of a bell              | BELL     |
| Symbol of a butterfly         | BTRFLY   |
| Symbol of a bag of money      | CASH     |
| Symbol of a cashier           | CASHIER  |
| Symbol of a cherry            | CHERRY   |
| Symbol of a clover            | CLOVER   |
| Symbol of a coin              | COIN     |
| Symbol of confetti            | CONFETI  |
| Symbol of a crown             | CROWN    |
| Symbol of a feather           | FEATHER  |
| Symbol of fire                | FIRE     |
| Symbol of a lucky rabbit foot | FOOT     |
| Symbol of a gold bar          | GOLD     |
| Symbol of a heart             | HEART    |
| Symbol of a star              | STAR     |
| Symbol of a firecracker       | FIRECRK  |
| Symbol of a safe              | SAFE     |
| Symbol of a key               | KEY      |
| Symbol of a kite              | KITE     |
| Symbol of a ladybug           | LADYBUG  |
| Symbol of a lemon             | LEMON    |
| Symbol of a lightning bolt    | LIGHTN   |
| Symbol of a moon              | MOON     |
| Symbol of an orange slice     | ORANGE   |
| Symbol of a piggy bank        | PIGBNK   |
| Symbol of a pot of gold       | POT      |
| Symbol of a rainbow           | RAINBOW  |
| Symbol of a cash register     | REGISTER |
| Symbol of a ring              | RING     |
| Symbol of a horseshoe         | SHOE     |
| Symbol of a stack of bills    | BILLS    |
| Symbol of a sun               | SUN      |
|                               | (co      |

|                              | Kans     | as Register                 |  |
|------------------------------|----------|-----------------------------|--|
|                              |          | _                           |  |
| Symbol of a wishbone         | WISHBONE | \$50.00                     | FIFTY  |
| Symbol of a gem              | WIN4X    | \$100                       | HUNDRED  |
| Symbol of two gems           | WIN8X    | \$200                       | TWO-HUN  |
| DIAMOND MINE OV              |          | \$500                       | FIV-HUN  |
| DIAMOND MINE 9X:             |          | \$1,000                     | ONE-THO  |
| Play Symbols                 | Captions | \$75,000                    | SVNFVTHO   |
| Symbol of a chest            | CHEST    | (c) For this game, a play   | /prize symbol shall appear in                                  |
| Symbol of an armored car     | ARMCAR   | multiple play spots within  |  |
| Symbol of a balloon          | BALLOON  |                             | n each book of tickets in this                                 |
| Symbol of a bank             | BANK     | game shall start with 000 a |  |
| Symbol of a slot machine bar | BAR      |                             | ckets sold by a retailer for this                              |
| Symbol of an anchor          | ANCHOR   | game shall be \$10.00 each. |  |
| Symbol of a bell             | BELL     |                             | Super Ticket" contains sym-                                    |
| Symbol of a butterfly        | BTRFLY   |                             | iplier and bonus features. The                                 |
| Symbol of a bag of money     | CASH     |                             | areas to reveal all symbols and the four (4) play areas on the |
| Symbol of a cashier          | CASHIER  |                             | E 6X, the ticket play area has                                 |
| Symbol of a cherry           | CHERRY   |                             | 'GAME" contains three sym-                                     |
| Symbol of a clover           | CLOVER   |                             | the player matches three like                                  |
| Symbol of a coin             | COIN     | symbols in any one "GAl     | ME" across, the player wins                                    |
| Symbol of confetti           | CONFETI  | the prize shown for the "C  | GAME." If the player reveals                                   |
| Symbol of a crown            | CROWN    | a "ĜEM" symbol, the pla     | yer wins six times the prize                                   |
| Symbol of a feather          | FEATHER  | amount shown for that "G    | AME."  |

In EMERALD MINE 7X, the ticket play area has four (4) "GAMES." Each "GAME" contains three symbols and a prize amount. If the player matches three like symbols in any one "GAME" across, the player wins the prize shown for the "GAME." If the player reveals a "GEM" symbol, the player wins seven times the prize amount shown for that "GAME."

In RUBY MINE 8X, the ticket play area has 20 "GAMES" and a bonus area. If the player matches three like symbols in any one "GAME" across, the player wins the prize shown for the "GAME." If the player reveals one "GEM" symbol, the player wins four times the prize amount shown for that "GAME." If the player reveals two "GEM" symbols in the same "GAME," the player wins eight times the prize amount shown for that "GAME." If the player reveals two identical prize amounts in the "BONUS" area, the player wins the amount shown.

In DIAMOND MINE 9X, the ticket play area has 20 "GAMES" and a bonus area. If the player matches three like symbols in any one "GAME" across, the player wins the prize shown for the "GAME." If the player reveals one "GEM" symbol, the player wins five times the prize amount shown for that "GAME." If the player reveals two "GEM" symbols in the same "GAME," the player wins nine times the prize amount shown for that "GAME." If the player reveals two identical prize amounts in the "BONUS" area, the player wins the amount shown.

- (g) Each ticket in this game may win up to 50 times.
- (h) Approximately 720,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

Symbol of a feather **FEATHER** Symbol of fire **FIRE FOOT** Symbol of a lucky rabbit foot Symbol of a gold bar GOLD **HEART** Symbol of a heart Symbol of a star **STAR** Symbol of a firecracker **FIRECRK** Symbol of a safe SAFE KEY Symbol of a key Symbol of a kite **KITE** Symbol of a ladybug **LADYBUG** Symbol of a lemon **LEMON** Symbol of a lightning bolt LIGHTN Symbol of a moon MOON Symbol of an orange slice ORANGE Symbol of a piggy bank PIGBNK POT Symbol of a pot of gold Symbol of a rainbow **RAINBOW** Symbol of a cash register REGISTER **RING** Symbol of a ring Symbol of a horseshoe **SHOE BILLS** Symbol of a stack of bills Symbol of a sun SUN **WISHBONE** Symbol of a wishbone

# All Games:

Symbol of a gem

Symbol of two gems

| Prize Symbols | Captions |
|---------------|----------|
| \$5.00        | FIVE\$   |
| $$10^{.00}$   | TEN\$    |
| \$20.00       | TWENTY   |
| \$30.00       | THIRTY   |

WIN5X

WIN9X

|   |                                       |  |  |                 | Winners        | ъ.                     |
|---|---------------------------------------|--|--|-----------------|----------------|------------------------|
| Sapphire Mine 6x                            | Emerald Mine 7x                       | Ruby Mine 8X                                 | Diamond Mine 9x  | Prize<br>Amount | Per<br>240,000 | Prize<br>Cost          |
| \$10 or                                     | \$10 or                               | \$10 or                                      | \$10 or  | \$10            | 12,000         | \$120,000              |
| (\$5 x 2) or                                | (\$5 x 2) or                          | (\$5 x 2) or                                 | (\$5 x 2) or   | \$10            | 48,000         | \$480,000              |
| \$5   | \$5                                   |  |  | \$10            | 24,000         | \$240,000              |
|   |                                       | \$5  | \$5  | \$10            | 12,000         | \$120,000              |
| \$5   |                                       |  | \$5  | \$10            | 12,000         | \$120,000              |
| \$5 x 2                                     |                                       | \$5 x 2                                      |  | \$20            | 12,000         | \$240,000              |
|   | \$10                                  |  | \$5 x 2  | \$20            | 12,000         | \$240,000              |
| \$5   | \$5                                   | \$5  | \$5  | \$20            | 24,000         | \$480,000              |
| (\$10 x 2) or                               | (\$10 x 2) or                         | (\$10 x 2) or                                | (\$10 x 2) or  | \$20            | 24,000         | \$480,000              |
| \$30 or                                     | \$30 or                               | \$30 or                                      | \$30 or  | \$30            | 4,800          | \$144,000              |
| \$5 (6X)                                    | (45 0) (440 0)                        | (45 0) (440 0)                               | (45 0) (440 0)   | \$30            | 4,800          | \$144,000              |
| $(\$5 \times 2) + (\$10 \times 2)$ or       | $(\$5 \times 2) + (\$10 \times 2)$ or | $(\$5 \times 2) + (\$10 \times 2)$ or        | $(\$5 \times 2) + (\$10 \times 2)$ or                      | \$30            | 4,800          | \$144,000              |
| (\$10 x 3) or                               | (\$10 x 3) or                         | (\$10 x 3) or                                | (\$10 x 3) or  | \$30            | 4,800          | \$144,000              |
| ¢50   | ¢50                                   | \$5 (4X)                                     | \$5 x 2  | \$30            | 4,800          | \$144,000              |
| \$50 or                                     | \$50 or                               | \$50 or                                      | \$50 or  | \$50            | 450            | \$22,500               |
| \$5   | \$5 (7X)                              | \$5<br>\$5 (4X)                              | \$5  | \$50            | 900            | \$45,000               |
| \$5   | \$5                                   | \$5 (4X)                                     | \$5 (5X)<br>\$5 (9X)                                       | \$50<br>\$50    | 2,160<br>2,160 | \$108,000<br>\$108,000 |
| \$20 + (\$10 x 3) or                        | \$20 + (\$10 x 3) or                  | \$20 + (\$10 x 3) or                         | \$20 + (\$10 x 3) or                                       | \$50<br>\$50    | 1,440          | \$72,000               |
| $($5 \times 2) + ($20 \times 2) \text{ or}$ | $(\$5 \times 2) + (\$20 \times 2)$ or | $(\$5 \times 2) + (\$20 \times 2)$ or        | $(\$5 \times 2) + (\$20 \times 2)$ or                      | \$50<br>\$50    | 2,160          | \$108,000              |
| \$5<br>\$5                                  | \$5 x 2                               | \$5 x 3                                      | \$5 x 4  | \$50<br>\$50    | 1,440          | \$72,000               |
| \$5<br>\$5                                  | \$10                                  | \$5 x 3<br>\$5 + \$10                        | \$10 x 2   | \$50<br>\$50    | 540            | \$27,000               |
| ψΟ  | \$10                                  | \$5 (8X) + (\$5 x 2)                         | \$10 X Z   | \$50<br>\$50    | 750            | \$37,500               |
| \$100 or                                    | \$100 or                              | \$100 or                                     | \$100 or   | \$100           | 150            | \$15,000               |
| $(\$5 \times 2) + (\$10 \times 2)$          | \$5 (7X)                              | ψ100 01                                      | $(\$5 \times 3) + (\$10 \times 2)$                         | \$100           | 300            | \$30,000               |
| (ψε χ 2) · (ψιο χ 2)                        | φο (770)                              | $$10 (4X) + ($5 \times 2)$                   | \$5 (9X) + \$5   | \$100           | 600            | \$60,000               |
| \$5 x 2                                     | \$5 x 2                               | \$5 (8X) + (\$5 x 4)                         | \$10 x 2   | \$100           | 750            | \$75,000               |
| $($20 \times 2) + ($30 \times 2)$ or        | $($20 \times 2) + ($30 \times 2)$ or  | $($20 \times 2) + ($30 \times 2)$ or         | $($20 \times 2) + ($30 \times 2)$ or                       | \$100           | 300            | \$30,000               |
| \$10  | \$5 x 3                               | \$10 x 3                                     | \$5 (5X) + (\$10 x 2)                                      | \$100           | 300            | \$30,000               |
|   |                                       | \$10 (8X)                                    | \$5 x 4  | \$100           | 600            | \$60,000               |
| \$10  | \$5 x 4                               | \$10 x 2                                     | $(\$10 \times 4) + (\$5 \times 2)$                         | \$100           | 900            | \$90,000               |
|   |                                       |  | \$10 (9X) + (\$5 x 2)                                      | \$100           | 450            | \$45,000               |
| \$5 x 2                                     |                                       | \$10 (8X) + (\$5 x 2)                        |  | \$100           | 450            | \$45,000               |
| \$200 or                                    | \$200 or                              | \$200 or                                     | \$200 or   | \$200           | 30             | \$6,000                |
| \$5 (6X) + \$5                              | $(\$5 \times 2) + (\$10 \times 2)$    | \$5 (4X) + \$5 (8X)                          | \$5 (5X) + (\$5 x 10)                                      | \$200           | 90             | \$18,000               |
| (\$100 + \$50 + \$30 + \$20) or             | (\$100 + \$50 + \$30 + \$20) or       | (\$100 + \$50 + \$30 + \$20) or              | (\$100 + \$50 + \$30 + \$20) or                            | \$200           | 90             | \$18,000               |
|   | \$5 (7X) + \$5 + \$10                 | \$5 (8X) + \$10                              | \$10 (9X) + \$10   | \$200           | 60             | \$12,000               |
| $10 (6X) + (10 \times 2) + 20$              | $10 (7X) + (10 \times 3)$             |  |  | \$200           | 60             | \$12,000               |
|   |                                       | \$5 x 20                                     | \$10 x 10  | \$200           | 90             | \$18,000               |
|   | \$10 x 2                              | \$5 (4X) x 4                                 | \$10 (5X) + (\$5 x 10)                                     | \$200           | 60             | \$12,000               |
| \$50  | \$50                                  | \$50   | \$50   | \$200           | 60             | \$12,000               |
| \$5 x 4                                     | $(\$5 \times 2) + (\$10 \times 2)$    | \$10 x 5                                     | \$10 x 10  | \$200           | 90             | \$18,000               |
| \$50 x 4 or                                 | \$50 x 4 or                           | \$50 x 4 or                                  | \$50 x 4 or  | \$200           | 60             | \$12,000               |
| <b>#</b> F00                                | $(\$5 \times 2) + (\$10 \times 2)$    | \$10 (8X)                                    | \$10 (9X)  | \$200           | 60             | \$12,000               |
| \$500 or                                    | \$500 or                              | \$500 or                                     | \$500 or   | \$500           | 30             | \$15,000               |
| $(\$10 \times 3) + \$20$                    | $(\$5 \times 2) + (\$20 \times 2)$    | $(\$5 \times 20) + \$50$                     | (\$10 x 20) + \$50<br>\$20 (9X) + (\$10 x 2)               | \$500           | 186            | \$93,000               |
| \$10 x 2<br>\$50                            | $($20 \times 2) + ($30 \times 2)$     | \$10 (8X) + (\$10 x 10)                      | , , , ,  | \$500           | 120<br>120     | \$60,000<br>\$60,000   |
|   | (\$20 × 2) + (\$10 × 2)               | (\$10 x 15) + (\$20 x 5)<br>(\$5 (4X) x 5) + | \$10 (5X) x 4  | \$500<br>\$500  |                | \$30,000               |
| $(\$5 \times 2) + (\$10 \times 2)$          | $(\$20 \times 2) + (\$10 \times 2)$   | $(\$10 (4X) \times 2) + (\$5 (8X) \times 2)$ | $(\$5 \times 10) + (\$10 \times 10)$                       | φουυ            | 60             | \$30,000               |
| (\$100 x 3) + \$200 or                      | (\$100 x 3) + \$200 or                | $(\$100 \times 3) + \$200 \text{ or}$        | (\$100 x 3) + \$200 or                                     | \$500           | 30             | \$15,000               |
| \$5 (6X) x 4                                | \$10 (7X) x 2                         | \$10 (8X) x 2                                | \$5 x 16   | \$500           | 30             | \$15,000               |
| \$1,000 or                                  | \$1,000 or                            | \$1,000 or                                   | \$1,000 or   | \$1,000         | 10             | \$10,000               |
| \$50 + (\$10 x 2) + \$20                    | \$50 + (\$10 x 2) + \$20              | \$20 (8X) + (\$10 x 6)                       | $(\$50 \times 10) + (\$10 \times 10)$                      | \$1,000         | 20             | \$20,000               |
| \$5 (6X) x 4                                | \$10 (7X) + (\$20 x 3)                | $(\$50 \times 3) + (\$100 \times 2)$         | $(\$50 \times 4) + (\$10 (5X) \times 4)$                   | \$1,000         | 10             | \$10,000               |
| \$10 x 4                                    | \$10 x 4                              | \$50 (4X) + (\$10 x 10) + (\$5 x 10)         | \$10 (5X) + \$20 (9X) + (\$10 x 7)<br>+ (\$20 x 11) + \$50 | \$1,000         | 10             | \$10,000               |
|   | <b>*=</b> 0 4                         | \$50 (8X) + (\$10 x 5)                       | \$50 (9X) + (\$20 x 5)                                     | \$1,000         | 15             | \$15,000               |
| \$50 x 4                                    | \$50 x 4                              | (\$50 x 10) + (\$10 x 10)                    | (AEO 1) (150 15  | \$1,000         | 5              | \$5,000                |
| \$50 x 2                                    | \$50 x 4                              |  | (\$50 x 4) + (\$20 x 15) +<br>(\$100 x 2)                  | \$1,000         | 5              | \$5,000                |
| (\$100 x 3) + \$200                         |                                       | $($20 \times 10) + ($50 \times 6)$           |  | \$1,000         | 5<br>(c        | \$5,000<br>ontinued)   |
|   |                                       |  |  |                 |                |                        |

| \$75,000 or  | \$75,000 or    | r \$75,000 or                  | \$75,000 or                             | \$75,000                     | 1       | \$75,000    |
|--------------|----------------|--------------------------------|---|------------------------------|---------|-------------|
| \$500 (6X) x | 4 \$1000 (7X   | (\$100 (8X) x<br>\$500 + \$100 | , | 10) + (\$1,000 x 9) \$75,000 | 2       | \$150,000   |
| PLAYER L     | OYALTY PROGRAM |                                |   |                              |         | \$50,500    |
| TOTAL PR     | IZES           |                                |   |                              | 222,209 | \$5,113,500 |

- (j) The odds of winning a prize in this game are approximately one in 3.24. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and K.S.A. 74-8720; effective, T-111-10-11-19, Aug. 21, 2019.)
- **111-4-3584.** "Holiday Lucky Times 10" instant ticket lottery game number 145. (a) The Kansas Lottery may conduct an instant winner lottery game entitled "Holiday Lucky Times 10." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3584.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

| Play Symbols | Captions |
|--------------|----------|
| 01           | ONE      |
| 02           | TWO      |
| 03           | THR      |
| 04           | FOR      |
| 06           | SIX      |
| 07           | SEV      |
| 08           | EGT      |
| 09           | NIN      |
| 11           | ELVN     |
| 12           | TWLV     |
| 13           | THRN     |
| 14           | FRTN     |
| 15           | FIFTN    |
| 16           | SIXTN    |
| 17           | SEVTN    |
| 5X           | 5TIMES   |
| 10X          | 10TIMES  |

| Prize Symbols | Captions |
|---------------|----------|
| FREE          | TICKET   |
| \$1.00        | ONE\$    |
| \$2.00        | TWO\$    |
| \$5.00        | FIVE\$   |
| $10^{.00}$    | TEN\$    |
| $20^{.00}$    | TWENTY   |
| $50^{.00}$    | FIFTY    |
| \$100         | ONE-HUN  |
| \$1000        | ONETHOU  |

- (c) For this game, a play/prize symbol shall appear in 11 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (f) "Holiday Lucky Times 10" is a key number match game with multiplier features. The player will scratch the play area to reveal one "WINNING NUMBER" and five "YOUR NUMBERS" with a prize amount below each

- of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to the "WINNING NUMBER," the player wins the prize shown below that number. If a player reveals a "5X" symbol, the player wins five times the prize amount shown. If a player reveals a "10X" symbol, the player wins ten times the prize amount shown.
  - (g) Each ticket in this game may win up to 5 times.
- (h) Approximately 1,800,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

|                                 | Prize<br>Amount | Winners Per<br>1,800,000 | Prize Cost  |
|---------------------------------|-----------------|--------------------------|-------------|
| FREE                            | FREE            | 120,000                  | \$0         |
| \$1                             | \$1             | 240,000                  | \$240,000   |
| \$2                             | \$2             | 153,000                  | \$306,000   |
| \$5                             | \$5             | 13,200                   | \$66,000    |
| $$1 + ($2 \times 2)$            | \$5             | 13,200                   | \$66,000    |
| \$1 (5X)                        | \$5             | 13,800                   | \$69,000    |
| \$10                            | \$10            | 1,920                    | \$19,200    |
| (\$2 x 2) + \$5 + \$1           | \$10            | 2,100                    | \$21,000    |
| \$2 (5X)                        | \$10            | 2,400                    | \$24,000    |
| \$1 (10X)                       | \$10            | 2,400                    | \$24,000    |
| \$20                            | \$20            | 900                      | \$18,000    |
| \$5 x 4                         | \$20            | 900                      | \$18,000    |
| \$2 (10X)                       | \$20            | 900                      | \$18,000    |
| \$2 (5X) + \$10                 | \$20            | 900                      | \$18,000    |
| \$50                            | \$50            | 240                      | \$12,000    |
| \$5 (10X)                       | \$50            | 240                      | \$12,000    |
| $5(5X) + (2 \times 2) + 1 + 20$ | \$50            | 240                      | \$12,000    |
| \$100                           | \$100           | 90                       | \$9,000     |
| \$50 x 2                        | \$100           | 90                       | \$9,000     |
| \$10 (10X)                      | \$100           | 90                       | \$9,000     |
| \$1,000                         | \$1,000         | 60                       | \$60,000    |
| Players Loyalty Program         | \$11,415        |                          | \$11,415    |
| TOTAL                           |                 | 566,670                  | \$1,041,615 |

- (j) The odds of winning a prize in this game are approximately one in 3.18. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-10-11-19, Aug. 21, 2019.)
- **111-4-3585.** "Holiday Lucky Times 20" instant ticket lottery game number 146. (a) The Kansas Lottery may conduct an instant winner lottery game entitled "Holiday Lucky Times 20." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3585.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

| Play Symbols | Captions |
|--------------|----------|
| 01           | ONE      |
| 02           | TWO      |
| 03           | THR      |

| 04  | FOR     |
|-----|---------|
| 06  | SIX     |
| 07  | SEV     |
| 08  | EGT     |
| 09  | NIN     |
| 10  | TEN     |
| 11  | ELVN    |
| 12  | TWLV    |
| 13  | THRN    |
| 14  | FRTN    |
| 15  | FIFTN   |
| 16  | SIXTN   |
| 17  | SEVTN   |
| 18  | EGTN    |
| 19  | NINTN   |
| 21  | TWYONE  |
| 22  | TWYTWO  |
| 23  | TWYTHR  |
| 24  | TWYFOR  |
| 25  | TWYFIV  |
| 26  | TWYSIX  |
| 27  | TWYSEV  |
| 28  | TWYEGT  |
| 29  | TWYNIN  |
| 30  | THRTY   |
| 5X  | 5TIMES  |
| 20X | 20TIMES |
|     |         |

| Prize Symbols | Captions |
|---------------|----------|
| •             | •        |
| FREE          | TICKET   |
| \$2.00        | TWO\$    |
| $$4^{.00}$    | FOUR\$   |
| \$5.00        | FIVE\$   |
| $10^{.00}$    | TEN\$    |
| $20^{.00}$    | TWENTY   |
| $50^{.00}$    | FIFTY    |
| \$200         | TWO-HUN  |
| \$500         | FIVE-HUN |
| \$10000       | 10-THOU  |

- (c) For this game, a play/prize symbol shall appear in 22 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.
- (e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.
- (f) "Holiday Lucky Times 20" is a key number match game with multiplier features. The player will scratch the play area to reveal two "WINNING NUMBERS" and 10 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If a player reveals a "5X" symbol, the player wins five times the prize amount shown. If a player reveals a "20X" symbol, the player wins 20 times the prize amount shown.
  - (g) Each ticket in this game may win up to 10 times.

- (h) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

|                          | ъ.          | Winners Per | <b>D</b> : 6 ( |
|--------------------------|-------------|-------------|----------------|
|                          | Prize       | 900,000     | Prize Cost     |
| FREE                     | FREE TICKET | 120,000     | \$0            |
| \$2                      | \$2         | 72,000      | \$144,000      |
| \$4                      | \$4         | 15,000      | \$60,000       |
| \$2 x 2                  | \$4         | 21,000      | \$84,000       |
| \$5                      | \$5         | 25,200      | \$126,000      |
| \$10                     | \$10        | 3,900       | \$39,000       |
| \$5 x 2                  | \$10        | 4,308       | \$43,080       |
| \$2 x 5                  | \$10        | 3,900       | \$39,000       |
| \$2 (5X)                 | \$10        | 5,100       | \$51,000       |
| \$20                     | \$20        | 1,800       | \$36,000       |
| \$4 (5X)                 | \$20        | 2,100       | \$42,000       |
| \$5 x 4                  | \$20        | 1,800       | \$36,000       |
| \$4 x 5                  | \$20        | 1,800       | \$36,000       |
| \$50                     | \$50        | 600         | \$30,000       |
| \$5 x 10                 | \$50        | 720         | \$36,000       |
| \$2 (20X) + \$10         | \$50        | 780         | \$39,000       |
| \$10 (5X)                | \$50        | 780         | \$39,000       |
| \$200                    | \$200       | 42          | \$8,400        |
| \$50 x 4                 | \$200       | 42          | \$8,400        |
| \$10 (20X)               | \$200       | 60          | \$12,000       |
| (\$20 x 7) + \$10 (5X) + |             |             |                |
| (\$5 x 2)                | \$200       | 60          | \$12,000       |
| \$500                    | \$500       | 12          | \$6,000        |
| \$20 (20X) + (\$50 x 2)  | \$500       | 24          | \$12,000       |
| \$10,000                 | \$10,000    | 6           | \$60,000       |
| Players Loyalty Program  | \$15,140    |             | \$15,140       |
|                          | TOTAL       | 281,034     | \$1,014,020.00 |
|                          |             |             |                |

- (j) The odds of winning a prize in this game are approximately one in 3.20. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-10-11-19, Aug. 21, 2019.)
- **111-4-3586.** "Holiday Lucky Times 50" instant ticket lottery game number 147. (a) The Kansas Lottery may conduct an instant winner lottery game entitled "Holiday Lucky Times 50." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3586.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

| Play Symbols | Captions |
|--------------|----------|
| 01           | ONE      |
| 02           | TWO      |
| 03           | THR      |
| 04           | FOR      |
| 06           | SIX      |
| 07           | SEV      |
| 08           | EGT      |
| 09           | NIN      |
| 11           | ELVN     |
| 12           | TWLV     |
| 13           | THRN     |

| 14  | FRTN    |
|-----|---------|
| 15  | FIFTN   |
| 16  | SIXTN   |
| 17  | SEVTN   |
| 18  | EGTN    |
| 19  | NINTN   |
| 21  | TWYONE  |
| 22  | TWYTWO  |
| 23  | TWYTHR  |
| 24  | TWYFOR  |
| 25  | TWYFIV  |
| 26  | TWYSIX  |
| 27  | TWYSEV  |
| 28  | TWYEGT  |
| 29  | TWYNIN  |
| 30  | THRTY   |
| 31  | THRONE  |
| 32  | THRTWO  |
| 33  | THRTHR  |
| 34  | THRFOR  |
| 35  | THRFIV  |
| 36  | THRSIX  |
| 37  | THRSEV  |
| 38  | THREGT  |
| 39  | THRNIN  |
| 40  | FORTY   |
| 41  | FRYONE  |
| 42  | FRYTWO  |
| 43  | FRYTHR  |
| 44  | FRYFOR  |
| 45  | FRYFIV  |
| 46  | FRYSIX  |
| 5X  | 5TIMES  |
| 10X | 10TIMES |
| 20X | 20TIMES |
| 50X | 50TIMES |
|     |         |

| Prize Symbols | Captions |
|---------------|----------|
| FREE          | TICKET   |
| \$5.00        | FIVE\$   |
| $10^{.00}$    | TEN\$    |
| $15^{.00}$    | FIFTEEN  |
| 25.00         | TWEN-FIV |
| $50^{.00}$    | FIFTY    |
| 75.00         | SVTYFIV  |
| \$100         | ONE-HUN  |
| \$500         | FIVE-HUN |
| \$1000        | ONETHOU  |
| \$25000       | 25-THOU  |

- (c) For this game, a play/prize symbol shall appear in 46 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.
- (e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.
- (f) "Holiday Lucky Times 50" is a key number match game with multiplier features. The player will scratch

the play area to reveal six "WINNING NUMBERS" and 20 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If a player reveals a "5X" symbol, the player wins five times the prize amount shown. If a player reveals a "10X" symbol, the player wins 10 times the prize amount shown. If a player reveals a "20X" symbol, the player wins 20 times the prize amount shown. If a player reveals a "50X" symbol, the player wins 50 times the prize amount shown.

- (g) Each ticket in this game may win up to 20 times.
- (h) Approximately 450,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

| Ü  | Prize       | Winners Per<br>450,000 | Prize Cost  |
|--|-------------|------------------------|-------------|
| FREE TICKET  | FREE TICKET | 30,000.00              | \$0         |
| \$5  | \$5         | 52500                  | \$262,500   |
| \$10   | \$10        | 17700                  | \$177,000   |
| \$5 + \$5  | \$10        | 17805                  | \$178,050   |
| \$15   | \$15        | 7800                   | \$117,000   |
| \$5 + \$10   | \$15        | 7800                   | \$117,000   |
| \$5 x 3  | \$15        | 7800                   | \$117,000   |
| \$25   | \$25        | 1500                   | \$37,500    |
| (\$10 x 2) + \$5   | \$25        | 1500                   | \$37,500    |
| \$5 (5X)   | \$25        | 1500                   | \$37,500    |
| \$5 x 5  | \$25        | 1500                   | \$37,500    |
| \$50   | \$50        | 390                    | \$19,500    |
| \$10 (5X)  | \$50        | 390                    | \$19,500    |
| \$5 (10X)  | \$50        | 390                    | \$19,500    |
| (\$10 x 2) + \$25 + \$5  | \$50        | 390                    | \$19,500    |
| \$75   | \$75        | 210                    | \$15,750    |
| \$5 x 15   | \$75        | 210                    | \$15,750    |
| \$10 + \$15 + \$5 (5X) + (\$5 x 5)                                 | \$75        | 180                    | \$13,500    |
| \$5 (10X) + \$25   | \$75        | 180                    | \$13,500    |
| \$100  | \$100       | <i>7</i> 5             | \$7,500     |
| \$5 x 20   | \$100       | <i>7</i> 5             | \$7,500     |
| \$5 (20X)  | \$100       | 105                    | \$10,500    |
| \$15 (5X) + \$15 + \$10  | \$100       | 105                    | \$10,500    |
| \$500  | \$500       | 15                     | \$7,500     |
| \$5 (20X) + (\$50 x 8)   | \$500       | 15                     | \$7,500     |
| \$10 (50X)   | \$500       | 15                     | \$7,500     |
| (\$10 x 5) + (\$5 x 10) + \$75 +<br>\$25 + (\$50 x 2) + \$100 (2X) | \$500       | 12                     | \$6,000     |
| \$1,000  | \$1,000     | 9                      | \$9,000     |
| \$500 + (\$100 x 5)  | \$1,000     | 9                      | \$9,000     |
| $$15 (50X) + ($50 \times 5)$                                       | \$1,000     | 6                      | \$6,000     |
| \$100 x 10   | \$1,000     | 6                      | \$6,000     |
| \$25,000   | \$25,000    | 3                      | \$75,000    |
| Players Loyalty Program  | \$24,490    |                        | \$24,490    |
|  | TOTAL       | 150,195                | \$1,449,040 |
|  |             |                        |             |

(j) The odds of winning a prize in this game are approximately one in 3.00. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-10-11-19, Aug. 21, 2019.)

- 111-4-3587. "Holiday Lucky Times 100" instant ticket lottery game number 148. (a) The Kansas Lottery may conduct an instant winner lottery game entitled "Holiday Lucky Times 100." The rules for this game are contained in K.A.R. 111-3-1 et seq. and 111-4-3587.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

| ime are as follows: |                  |
|---------------------|------------------|
| Play Symbols        | Captions         |
| 01                  | ONE              |
| 02                  | TWO              |
| 03                  | THR              |
| 04                  | FOR              |
| 06                  | SIX              |
| 07                  | SEV              |
| 08                  | EGT              |
| 09                  | NIN              |
| 11                  | ELVN             |
| 12                  | TWLV             |
| 13                  | THRN             |
| 14                  | FRTN             |
| 15                  | FIFTN            |
| 16                  | SIXTN            |
| 17                  | SEVTN            |
| 18                  | EGTN             |
| 19                  | NINTN            |
| 21                  | TWYONE           |
| 22                  | TWYTWO           |
| 23                  | TWYTHR           |
| 24                  | TWYFOR           |
| 25                  | TWYFIV           |
| 26                  | TWYSIX           |
| 27                  | TWYSEV           |
| 28                  | TWYEGT           |
| 29                  | TWYNIN           |
| 30                  | THRTY            |
| 31<br>32            | THRONE<br>THRTWO |
| 33                  | THRTWO           |
| 34                  | THRFOR           |
| 35                  | THRFIV           |
| 36                  | THRSIX           |
| 37                  | THRSEV           |
| 38                  | THREGT           |
| 39                  | THRNIN           |
| 40                  | FORTY            |
| 41                  | FRYONE           |
| 42                  | FRYTWO           |
| 43                  | FRYTHR           |
| 44                  | FRYFOR           |
| 45                  | FRYFIV           |
| 46                  | FRYSIX           |
| 47                  | FRYSEV           |
| 48                  | FRYEGT           |
| 49                  | FRYNIN           |
| 51                  | FTYONE           |
| 52                  | FTYTWO           |

53

| 54   | FTYFOR   |
|------|----------|
| 55   | FTYFIV   |
| 56   | FTYSIX   |
| 5X   | 5TIMES   |
| 10X  | 10TIMES  |
| 20X  | 20TIMES  |
| 50X  | 50TIMES  |
| 100X | 100TIMES |
|      |          |

| Prize Symbols | Captions |
|---------------|----------|
| FREE          | TICKET   |
| $10^{.00}$    | TEN\$    |
| $15^{.00}$    | FIFTEEN  |
| $20^{.00}$    | TWENTY   |
| $25^{.00}$    | TWEN-FIV |
| $50^{.00}$    | FIFTY    |
| $75^{.00}$    | SVTYFIV  |
| \$100         | ONE-HUN  |
| \$500         | FIVE-HUN |
| \$1000        | ONETHOU  |
| \$75000       | 75-THOU  |

- (c) For this game, a play/prize symbol shall appear in 58 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.
- (e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.
- (f) "Holiday Lucky Times 100" is a key number match game with multiplier features. The player will scratch the play area to reveal eight "WINNING NUMBERS" and 25 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUM-BERS," the player wins the prize shown below that number. If a player reveals a "5X" symbol, the player wins five times the prize amount shown. If a player reveals a "10X" symbol, the player wins 10 times the prize amount shown. If a player reveals a "20X" symbol, the player wins 20 times the prize amount shown. If a player reveals a "50X" symbol, the player wins 50 times the prize amount shown. If a player reveals a "100X" symbol, the player wins 100 times the prize amount shown.
  - (g) Each ticket in this game may win up to 25 times.
- (h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

|             | 1           | Winners Per | •           |
|-------------|-------------|-------------|-------------|
|             | Prize       | 300,000     | Prize Cost  |
| Free Ticket | Free Ticket | 36,000      | \$0         |
| \$10        | \$10        | 34,000      | \$340,000   |
| \$15        | \$15        | 18,290      | \$274,350   |
| \$20        | \$20        | 6,500       | \$130,000   |
| \$10 + \$10 | \$20        | 7,100       | \$142,000   |
| \$25        | \$25        | 5,100       | \$127,500   |
|             |             |             | (continued) |

**FTYTHR** 

| \$10 + \$15                         | \$25     | 5,000   | \$125,000     |
|-------------------------------------|----------|---------|---------------|
| \$50                                | \$50     | 750     | \$37,500      |
| $(\$15 \times 2) + (\$10 \times 2)$ | \$50     | 1,000   | \$50,000      |
| \$10 (5X)                           | \$50     | 1,100   | \$55,000      |
| \$10 x 5                            | \$50     | 1,000   | \$50,000      |
| \$75                                | \$75     | 300     | \$22,500      |
| \$15 (5X)                           | \$75     | 400     | \$30,000      |
| $(\$10 \times 5) + \$25$            | \$75     | 300     | \$22,500      |
| \$10 (5X) + \$15 + \$10             | \$75     | 400     | \$30,000      |
| $(\$10 \times 6) + \$15$            | \$75     | 300     | \$22,500      |
| \$100                               | \$100    | 100     | \$10,000      |
| \$10 (10X)                          | \$100    | 250     | \$25,000      |
| $(\$15 \times 4) + (\$10 \times 4)$ | \$100    | 200     | \$20,000      |
| \$20 (5X)                           | \$100    | 250     | \$25,000      |
| \$10 x 10                           | \$100    | 150     | \$15,000      |
| \$500                               | \$500    | 20      | \$10,000      |
| \$20 (10X) + (\$10 x 20) +          |          |         |               |
| (\$25 x 4)                          | \$500    | 25      | \$12,500      |
| \$10 (50X)                          | \$500    | 27      | \$13,500      |
| \$10 (20X) + (\$20 x 10) +          |          |         |               |
| (\$25 x 4)                          | \$500    | 27      | \$13,500      |
| \$25 (20X)                          | \$500    | 27      | \$13,500      |
| \$1000                              | \$1,000  | 4       | \$4,000       |
| (\$75 x 3) + \$500 + (\$25 x 7) +   | #4 000   | _       | <b>#=</b> 000 |
| (\$20 x 5)                          | \$1,000  | 5       | \$5,000       |
| \$10 (100X)                         | \$1,000  | 10      | \$10,000      |
| \$20 (50X)                          | \$1,000  | 6       | \$6,000       |
| \$75,000                            | \$75,000 | 3       | \$225,000     |
| Players Loyalty Program             | \$34,008 | 440 444 | \$34,008      |
|                                     | TOTAL    | 118,644 | \$1,900,858   |

- (j) The odds of winning a prize in this game are approximately one in 2.53. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-10-11-19, Aug. 21, 2019.)
- **111-4-3588.** "Double Bonus Crossword" instant ticket lottery game number 160. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Double Bonus Crossword." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3588.
- (b) The "play symbols" for the "YOUR LETTERS," "BONUS LETTERS," "BONUS WORD," and the crossword puzzle grid in this game are as follows: A-B-C-D-E-F-G-H-I-J-K-L-M-N-O-P-Q-R-S-T-U-V-W-X-Y-Z. There are no "play symbol captions" for the play symbols listed hereinabove.

The "prize box symbols" and "prize box symbol captions" for this game are as follows:

| Prize Box Symbols | Captions |
|-------------------|----------|
| \$5.00            | FIVE\$   |
| $10^{.00}$        | TEN\$    |
| 25.00             | TWEN-FIV |
| $50^{.00}$        | FIFTY    |

- (c) For this game, a play symbol shall appear in each of 18 play spots within the "YOUR LETTERS" play area, in each of two play spots within the "BONUS" play area, in each of the five play spots within the "BONUS WORD," and a variable number of times within the crossword puzzle grid.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.
- (e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.

(f) "Double Bonus Crossword" consists of four play areas. In the upper part of the ticket there is a crossword puzzle grid that contains 11 spaces (height) by 11 spaces (width) covered by transparent latex. In the "YOUR LETTERS" play area, located in the lower part of the ticket, there are 18 letters located under opaque latex. To the right of the "YOUR LETTERS" play area is the "BO-NUS" play area in which there are two letters covered by opaque latex. Imaged around each of the 18 "YOUR LETTERS" and two "BONUS" letters there will be a foursided box composed of solid lines. In the "BONUS WORD" play area, located below the "YOUR LET-TERS," there is a "BONUS WORD" with a prize box. Imaged around each of the five letters in the "BONUS WORD" there will be a four-sided box composed of solid lines. A player will remove the latex from the "YOUR LETTERS" and "BONUS" play areas one letter at a time, and then for each matching letter in the crossword puzzle grid and the "BONUS WORD" play area scratch off the transparent latex. Each letter revealed in the "YOUR LETTERS" and "BONUS" play areas may be used an unlimited number of times in the crossword puzzle grid. If a player reveals at least three complete words in the crossword puzzle grid, the player wins the corresponding prize in the prize legend. The prize legend on the front of the ticket indicates prizes won for number of words revealed. If a player reveals all letters in the "BONUS WORD," the player wins the prize shown in the prize box.

The following prize legend will be displayed on the ticket:

| FIND     | WIN         |
|----------|-------------|
| 3 words  | Free Ticket |
| 4 words  | \$5         |
| 5 words  | \$10        |
| 6 words  | \$20        |
| 7 words  | \$100       |
| 8 words  | \$500       |
| 9 words  | \$2,000     |
| 10 words | \$20,000    |

- (g) To qualify as a complete word to win a prize in this game, the words revealed must meet the following requirements:
  - (1) must contain at least three letters;
- (2) cannot be formed diagonally, run right to left or from bottom to top;
- (3) must appear in an unbroken horizontal or vertical string of letters in the "crossword" puzzle;
- (4) an unbroken string of letters cannot be interrupted by a black space and must contain every single letter square between two black spaces; and
- (5) every single letter in the unbroken string must be revealed in "YOUR LETTERS," or "BONUS" areas and be included to form a word.
  - (h) Each ticket in this game may win up to two times.
- (i) Approximately 7,680,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

**EIGHT** 

**NINE** 

TEN

**ELEVN** 

**TWELV** 

**THRTN** 

**FORTN** 

**FIFTN** 

WINX20

Captions ONE

**TWO** 

THREE

**FOUR** 

**FIVE** 

SIX

**SEVEN** 

**EIGHT** 

**NINE** 

TEN

**ELEVN** 

**TWELV** 

**THRTN** 

**FORTN** 

**FIFTN** 

**SIXTN** 

**SEVTN** 

**EGHTN** 

**NINTN** 

8

9

10

11

12

13

14

15

20X (outlined)

**Play Symbols** 

1 2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

50X THE CASH:

| (j) The expected number and value of instant prizes ir | ı |
|--|---|
| this game shall be as follows:                         |   |

|                         | Bonus<br>Word | Prize    | Winners Per<br>7,680,000 | Prize Cost  |
|-------------------------|---------------|----------|--------------------------|-------------|
| FREE                    |               | FREE     | 1,280,000                | \$0         |
| \$5                     |               | \$5      | 332,800                  | \$1,664,000 |
|                         | \$5           | \$5      | 15,360                   | \$76,800    |
| \$10                    |               | \$10     | 176,640                  | \$1,766,400 |
|                         | \$10          | \$10     | 8,704                    | \$87,040    |
| \$10                    | \$5           | \$15     | 6,144                    | \$92,160    |
| \$20                    |               | \$20     | 58,880                   | \$1,177,600 |
| \$10                    | \$10          | \$20     | 5,120                    | \$102,400   |
|                         | \$25          | \$25     | 2,560                    | \$64,000    |
|                         | \$50          | \$50     | 1,376                    | \$68,800    |
| \$100                   |               | \$100    | 7,680                    | \$768,000   |
| \$500                   |               | \$500    | 1,056                    | \$528,000   |
| \$2,000                 |               | \$2,000  | 224                      | \$448,000   |
| \$20,000                |               | \$20,000 | 32                       | \$640,000   |
| Players Loyalty Program |               | \$75,000 |                          | \$75,000    |
|                         |               | TOTAL    | 1,896,576                | \$7,558,200 |

(k) The odds of winning a prize in this game are approximately one in 4.05. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-10-11-19, Aug. 21, 2019.)

**111-4-3589.** "Multiplier Super Ticket" instant ticket lottery game number 154. (a) The Kansas Lottery may conduct an instant winner lottery game entitled "Multiplier Super Ticket." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3589.

(b) The "play and prize symbols" and "captions" for this game are as follows:

# 10X THE CASH:

| Play Symbols   | Captions | 20                  | T             | WNTY        |
|----------------|----------|---------------------|---------------|-------------|
| 1              | ONE      | 50X (outlined)      | W             | INX50       |
| 2              | TWO      | 100V THE CACH 12    | OOV THE CACH  |             |
| 3              | THREE    | 100X THE CASH and 2 | 00X THE CASH: |             |
| <b>4</b>       | FOUR     |                     | Play Symbols  | Captions    |
| 5              | FIVE     |                     | 1             | ONE         |
| 6              | SIX      |                     | 2             | TWO         |
| 7              | SEVEN    |                     | 3             | THREE       |
| 8              | EIGHT    |                     | 4             | FOUR        |
| 9              | NINE     |                     | 5             | FIVE        |
| 11             | ELEVN    |                     | 6             | SIX         |
| 12             | TWELV    |                     | 7             | SEVEN       |
| 13             | THRTN    |                     | 8             | EIGHT       |
| 14             | FORTN    |                     | 9             | NINE        |
| 15             | FIFTN    |                     | 10            | TEN         |
| 10X (outlined) | WINX10   |                     | 11            | ELEVN       |
| 201/ THE CACH  |          |                     | 12            | TWELV       |
| 20X THE CASH:  | Carliana |                     | 13            | THRTN       |
| Play Symbols   | Captions |                     | 14            | FORTN       |
| 1              | ONE      |                     | 15            | FIFTN       |
| 2              | TWO      |                     | 16            | SIXTN       |
| 3              | THREE    |                     | 17            | SEVTN       |
| 4              | FOUR     |                     | 18            | EGHTN       |
| 5              | FIVE     |                     | 19            | NINTN       |
| 6              | SIX      |                     | 20            | TWNTY       |
| 7              | SEVEN    |                     |               | (continued) |

| 21<br>22<br>23            | TWONE<br>TWTWO<br>TWTHR |
|---------------------------|-------------------------|
| 24                        | TWFOR                   |
| 25                        | TWFIV                   |
| 26                        | TWSIX                   |
| 27                        | TWSEV                   |
| 28                        | TWEGT                   |
| 29                        | TWNIN                   |
| 30                        | THRTY                   |
| 31                        | THONE                   |
| 32                        | THTWO                   |
| 33                        | THTHR                   |
| 34                        | THFOR                   |
| 35                        | THFIV                   |
| 36                        | THSIX                   |
| 37                        | THSEV                   |
| 38                        | THEGT                   |
| 39                        | THNIN                   |
| 40                        | FORTY                   |
| 41                        | FRONE                   |
| 42                        | FRTWO                   |
| 43                        | FRTHR                   |
| 44                        | FRFOR                   |
| 45                        | FRFIV                   |
| 46                        | FRSIX                   |
| 47                        | FRSEV                   |
| 48                        | FREGT                   |
| 49                        | FRNIN                   |
| 50                        | FIFTY                   |
| : 100X (outlined)         | WINX100                 |
| : 200X (outlined)         | WINX200                 |
| Symbol of a clover        | CLOVER                  |
| Symbol of a rabbit's foot | FOOT                    |
| Symbol of a ladybug       | LADYBUG                 |
| Symbol of a pot of gold   | POTGLD                  |
| Symbol of a rainbow       | RAINBOW                 |
| Symbol of a wishbone      | WISHBONE                |
| Symbol of a stack of      | WIN                     |
| money                     |                         |
|                           |                         |

All Games:

100X THE CASH:

200X THE CASH:

| Prize Symbols | Captions |
|---------------|----------|
| \$5.00        | FIVE\$   |
| \$10.00       | TEN\$    |
| \$20.00       | TWENTY   |
| \$30.00       | THIRTY   |
| \$50.00       | FIFTY    |
| \$100         | HUNDRED  |
| \$150         | ONE-FTY  |
| \$200         | TWO-HUN  |
| \$300         | THR-HUN  |
| \$500         | FIV-HUN  |
| \$1,000       | ONE-THO  |
| \$10,000      | TEN-THO  |
| \$250,000     | 250-THO  |

- (c) For this game, a play/prize symbol shall appear in multiple play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 009.
- (e) The price of instant tickets sold by a retailer for this game shall be \$30.00 each.
- (f) The "Multiplier Super Ticket" is a key number match ticket with five different games and multiplier features. In 10X THE CASH, the player will scratch the play area to reveal one "WINNING NUMBER" and five "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBER." If the player matches any of the "YOUR NUMBERS" to the "WINNING NUMBER," the player wins the amount shown below the matching "YOUR NUMBER." If the player reveals a "10X" symbol, the player wins ten times the prize amount shown.

In 20X THE CASH, the player will scratch the play area to reveal one "WINNING NUMBER" and five "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBER." If the player matches any of the "YOUR NUMBERS" to the "WINNING NUMBER," the player wins the amount shown below the matching "YOUR NUMBER." If the player reveals a "20X" symbol, the player wins 20 times the prize amount shown.

In 50X THE CASH, the player will scratch the play area to reveal two "WINNING NUMBERS" and 10 "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBER." If the player matches any of the "YOUR NUMBERS" to either of the "WINNING NUMBERS," the player wins the amount shown below the matching "YOUR NUMBER." If the player reveals a "50X" symbol, the player wins 50 times the prize amount shown.

In 100X THE CASH, the player will scratch the play area to reveal four "WINNING NUMBERS" and 20 "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBER." If the player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the amount shown below the matching "YOUR NUMBER." If the player reveals a "100X" symbol, the player wins 100 times the prize amount shown. In the two "BONUS" play areas of the game, if the player reveals a stack of cash symbol, the player wins the prize shown for that game.

In 200X THE CASH, the player will scratch the play area to reveal five "WINNING NUMBERS" and 25 "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBER." If the player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the amount shown below the matching "YOUR NUMBER." If the player reveals a "200X" symbol, the player wins 200 times the prize amount shown. In the three "BONUS" play areas of the game, if the player reveals a stack of cash symbol, the player wins the prize shown for that game.

(g) Each ticket in this game may win up to 70 times.

- (h) Approximately 450,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

| 10X The Cash                     | 20X The Cash  | 50X The Cash                       | 100X The Cash                      | 200X The Cash                                 | Prize        | Expected<br>Number of<br>Prizes in Game | Expected<br>Value in Game |
|----------------------------------|---------------|------------------------------------|------------------------------------|---|--------------|---|---------------------------|
| \$30 or                          | \$30 or       | \$30 or                            | \$30 or                            | \$30 or                                       | \$30         | 11,250                                  | \$337,500                 |
| \$10 x 3 or                      | \$10 x 3 or   | \$10 x 3 or                        | \$10 x 3 or                        | \$10 x 3 or                                   | \$30         | 11,250                                  | \$337,500                 |
| \$5                              | \$5           | 4-0110                             | 4-011-01                           | \$10 x 2                                      | \$30         | 11,250                                  | \$337,500                 |
| \$5                              | \$5           | \$5                                | \$5                                | \$5 x 2                                       | \$30         | 22,500                                  | \$675,000                 |
| \$50 or                          | \$50 or       | \$50 or                            | \$50 or                            | \$50 or                                       | \$50         | 5,625                                   | \$281,250                 |
| φου σι                           | φου στ        | φου σι                             | \$50 (Bonus) or                    | \$50 (Bonus) or                               | \$50         | 11,250                                  | \$562,500                 |
| \$10 x 5 or                      | \$10 x 5 or   | \$10 x 5 or                        | \$10 x 5 or                        | \$10 x 5 or                                   | \$50         | 11,250                                  | \$562,500                 |
| \$10 × 5 01                      | \$5 x 2       | \$5 x 2                            | \$10 x 3 61                        | \$10 X 5 01                                   | \$50         | 11,250                                  | \$562,500                 |
| Ψ10                              | ψ5 Χ Ζ        | \$5 x 10 or                        | \$5 x 10 or                        | \$5 x 10 or                                   | \$50         | 11,250                                  | \$562,500                 |
| \$5 (10X)                        |               | \$5 X 10 01                        | φ5 X 10 01                         | \$5 X 10 01                                   | \$50<br>\$50 | 5,625                                   | \$281,250                 |
| \$100 or                         | \$100 or      | \$100 or                           | \$100 or                           | \$100 or                                      | \$100        | 900                                     | \$90,000                  |
| \$20 x 5 or                      | \$20 x 5 or   | \$20 x 5 or                        | \$20 x 5 or                        | \$20 x 5 or                                   | \$100        | 2,400                                   | \$240,000                 |
| •                                |               | •                                  | •                                  | •   |              |   |                           |
| \$5 (10X)                        | \$5 x 2       | \$5                                | \$5 x 3                            | \$10 x 2                                      | \$100        | 2,100                                   | \$210,000                 |
|                                  | \$5 (20X)     |                                    | ф100 /D                            | ¢100 /B                                       | \$100        | 2,100                                   | \$210,000                 |
|                                  | ***           | /+= /\ /+-0 =\                     | \$100 (Bonus) or                   | \$100 (Bonus) or                              | \$100        | 3,600                                   | \$360,000                 |
| \$5 x 2                          | \$10 x 2      | $(\$5 \times 4) + (\$10 \times 2)$ | \$5 x 2                            | \$5 x 4                                       | \$100        | 2,400                                   | \$240,000                 |
| \$5 (10X)                        |               |                                    |                                    | \$50 (Bonus)                                  | \$100        | 3,600                                   | \$360,000                 |
|                                  |               |                                    | \$50 (Bonus) +<br>(\$5 x 10) or    | \$50 (Bonus) + (\$5 x 10) or                  | \$100        | 5,400                                   | \$540,000                 |
| \$150 or                         | \$150 or      | \$150 or                           | \$150 or                           | \$150 or                                      | \$150        | 60                                      | \$9,000                   |
| \$10 (10X)                       |               | \$5 x 2                            | \$10 x 2                           | \$5 x 4                                       | \$150        | 1,140                                   | \$171,000                 |
|                                  |               |                                    | \$50 (Bonus) +<br>\$100 (Bonus) or | \$50 (Bonus) +<br>\$100 (Bonus) or            | \$150        | 3,600                                   | \$540,000                 |
|                                  | \$5 (20X)     |                                    |                                    | \$10 x 5                                      | \$150        | 3,000                                   | \$450,000                 |
|                                  |               |                                    | (\$20 x 5) +<br>(\$5 x 10) or      | $(\$20 \times 5) + (\$5 \times 10)$ or        | \$150        | 600                                     | \$90,000                  |
| \$20 x 2                         | \$20 x 3      |                                    | \$5 x 5                            | \$5 x 5                                       | \$150        | 600                                     | \$90,000                  |
| \$200 or                         | \$200 or      | \$200 or                           | \$200 or                           | \$200 or                                      | \$200        | 60                                      | \$12,000                  |
| \$5 (10X)                        | \$5 (20X)     | \$5 x 2                            | \$5 x 3                            | $(\$10 \times 2) + \$5$                       | \$200        | 600                                     | \$120,000                 |
| φ5 (10λ)                         | ψο (20π)      | ψ5 Χ Ζ                             | (\$5 x 20) + \$100                 | $(\$5 \times 20) +$                           | \$200        | 3,000                                   | \$600,000                 |
|                                  |               |                                    | (Bonus) or                         | \$100 (Bonus) or                              | Ψ200         | 3,000                                   | φοσο,σσσ                  |
|                                  | \$10 (20X)    |                                    | (bollus) of                        | \$100 (Bollas) of                             | \$200        | 300                                     | \$60,000                  |
| \$5 x 5                          | \$5 x 5       | \$10 x 5                           | \$5 x 10                           | \$5 x 10                                      | \$200        | 540                                     | \$108,000                 |
| \$300 or                         | \$300 or      | \$300 or                           | \$300 or                           | \$300 or                                      | \$300        | 30                                      | \$9,000                   |
|                                  |               | \$20 x 5                           | •                                  | •   |              |   |                           |
| \$10 x 5                         | \$10 x 5      | *                                  | \$50 (Bonus)                       | \$50 (Bonus)                                  | \$300        | 30                                      | \$9,000                   |
|                                  |               | \$5 (50X)                          | \$50 (Bonus)                       | (#10 10) - (#20 10)                           | \$300        | 90                                      | \$27,000                  |
| da (40)                          |               |                                    | (\$10 x 10) +<br>(\$20 x 10) or    | $(\$10 \times 10) + (\$20 \times 10)$ or      | \$300        | 30                                      | \$9,000                   |
| \$10 (10X) + (\$50 x 4)          |               |                                    |                                    | \$200 (D ) (\$\frac{1}{2}\$ 40)               | \$300        | 30                                      | \$9,000                   |
|                                  |               |                                    |                                    | \$200 (Bonus) + (\$5 x 10) + (\$10 x 5)       | \$300        | 30                                      | \$9,000                   |
| \$500 or                         | \$500 or      | \$500 or                           | \$500 or                           | \$500 or                                      | \$500        | 6                                       | \$3,000                   |
| \$10 (10X)                       | \$5 x 5       | \$10 x 10                          | (\$10 x 10) + \$50<br>(Bonus)      | $($20 \times 5) + ($5 \times 5)$              | \$500        | 18                                      | \$9,000                   |
|                                  |               |                                    | \$5 (100X)                         |   | \$500        | 6                                       | \$3,000                   |
| \$5 (10X) x 4                    | \$10 (20X)    |                                    | \$50 (Bonus)                       | \$50 (Bonus)                                  | \$500        | 6                                       | \$3,000                   |
|                                  | \$5 (20X)     | \$5 (50X)                          | \$50 (Bonus)                       | \$100 (Bonus)                                 | \$500        | 15                                      | \$7,500                   |
| \$20 x 5                         | \$10 x 5      | \$50 x 2                           |                                    | \$200 (Bonus) + (\$10 x 5)                    | \$500        | 15                                      | \$7,500                   |
| \$100 x 5 or                     | \$100 x 5 or  | \$100 x 5 or                       | \$100 x 5 or                       | \$100 x 5 or                                  | \$500        | 6                                       | \$3,000                   |
| \$10 (10X)                       | \$5 (20X)     | \$5 (50X)                          |                                    | \$50 (Bonus)                                  | \$500        | 12                                      | \$6,000                   |
| . ,                              | , ,           | , ,                                | \$50 (Bonus) +<br>\$100 (Bonus) +  | \$50 (Bonus) + (\$5 x 10) + (\$10 x 15)       | \$500        | 60                                      | \$30,000                  |
| ¢20 v 5                          | ¢20 v. F      | ¢20 v 5                            | (\$5 x 20)                         | #20 x 5                                       | dE00         | 10                                      | ф0 <b>000</b>             |
| \$20 x 5                         | \$20 x 5      | \$20 x 5                           | \$20 x 5                           | \$20 x 5                                      | \$500        | 18                                      | \$9,000                   |
| dE (1030) :                      | ΦΕ (DOM) 2    | \$10 (50X)                         | ф10 <b>-</b>                       | (de 10) : de0 (D )                            | \$500        | 6                                       | \$3,000                   |
| \$5 (10X) +<br>(\$10 x 3) + \$20 | \$5 (20X) x 2 | \$10 x 5                           | \$10 x 5                           | (\$5 x 10) + \$50 (Bonus)                     | \$500        | 6                                       | \$3,000                   |
| \$50 x 2                         | \$50 x 2      | \$50 x 2                           | \$50 x 2                           | \$50 x 2                                      | \$500        | 6                                       | \$3,000                   |
| \$1,000 or                       | \$1,000 or    | \$1,000 or                         | \$1,000 or                         | \$1,000 or                                    | \$1,000      | 3                                       | \$3,000                   |
|                                  |               |                                    | \$10 (100X)                        |   | \$1,000      | 12                                      | \$12,000                  |
| \$5 (10X) x 5                    |               | \$5 (50X)                          |                                    | \$200 (Bonus) +<br>(\$20 x 10) + (\$5 x 10) + | \$1,000      | 12                                      | \$12,000                  |
|                                  |               |                                    |                                    | (\$10 x 5)                                    |              |   | (continued)               |

| \$5 x 5         | \$5 x 5         | \$5 x 10          | (\$10 x 20) + \$50<br>(Bonus) +<br>\$100 (Bonus) | (\$5 x 10) + (\$10 x 15) +<br>\$50 (Bonus) +<br>\$100 (Bonus) +<br>\$200 (Bonus) | \$1,000   | 21      | \$21,000     |
|-----------------|-----------------|-------------------|--|--|-----------|---------|--------------|
| \$5 (10X) x 4   | \$20 (20X)      | (\$10 x 8) + \$20 | (\$10 x 5) +<br>\$50 (Bonus)                     | (\$10 x 5) + \$50 (Bonus) + \$100 (Bonus)  | \$1,000   | 12      | \$12,000     |
| \$10,000 or     | \$10,000 or     | \$10,000 or       | \$10,000 or                                      | \$10,000 or  | \$10,000  | 3       | \$30,000     |
| \$50 (10X) x 2  | \$50 (20X) x 2  | \$20 (50X) x 2    | \$10 (100X) x 2                                  | \$5 (200X) x 3   | \$10,000  | 3       | \$30,000     |
| \$250,000 or    | \$250,000 or    | \$250,000 or      | \$250,000 or                                     | \$250,000 or   | \$250,000 | 1       | \$250,000    |
| \$500 (10X) x 5 | \$500 (20X) x 5 | \$50 (50X) x 10   | \$50 (100X) x 20                                 | \$10 (200X) x 25   | \$250,000 | 2       | \$500,000    |
| PLAYER LOYALT   | TY PROGRAM      |                   |  |  |           |         | \$117,000    |
| TOTAL PRIZES    |                 |                   |  |  |           | 148,989 | \$10,149,000 |

(j) The odds of winning a prize in this game are approximately one in 3.02. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and K.S.A. 74-8720; effective, T-111-10-11-19, Aug. 21, 2019.)

# Article 19.—SPECIFIC PLAYER LOYALTY CLUB RULES

# 111-19-71. Holiday Lucky Times Bonus Promotion.

- (a) The Kansas Lottery may conduct a "Holiday Lucky Times Bonus" promotion drawing awarding four cash prizes. Entries into the drawing will be accepted beginning at 12:01 a.m. on October 1, 2019 and ending at 11:59 p.m. on January 27, 2020. The drawing will be conducted sometime after entry into the drawing has closed but before noon on January 31, 2020, at which time the winners will be announced.
- (b) The specific tickets eligible for entry into this drawing shall be non-winning tickets in the following Kansas lottery games: \$1 "Holiday Lucky Times 10" game number 145; \$2 "Holiday Lucky Times 20" game number 146; \$5 "Holiday Lucky Times 50" game number 147; and \$10 "Holiday Lucky Times 100" game number 148.
- (c) A player shall enter the drawing through the Kansas Lottery PlayOn program available at <a href="https://www.kslottery.com">www.kslottery.com</a>. The player shall follow the hyperlink specifically designated for the purpose of accessing the "Holiday Lucky Times Bonus" promotion. The player may enter the required data from the entry ticket manually for entry into the drawing. If the player does not enter the ticket data manually, the player may scan, if available, the ticket to enter data to be used for entry into the drawing using a mobile device and a downloaded Kansas Lottery PlayOn app. After the ticket data is successfully entered either manually or scanned using an app, the player will receive one entry for each dollar value of the ticket submitted into the drawing.
- (d) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed. The first four (4) players selected will receive cash prizes. The first player selected will receive \$10,000, the second player selected will receive \$5,000, the third player selected will receive \$2,500 and the fourth player selected will receive \$1,000.
- (e) There is no limit on the number of non-winning tickets a player may enter, but a player may only win one prize in this drawing.
- (f) The procedures set forth in K.A.R. 111-18-5 for contacting winners and the claiming of prizes shall be followed, except:

- (1) In this promotion all 10-day deadlines set forth in K.A.R. 111-18-5(n) shall be 14-day deadlines; and,
- (2) In this promotion the 14-day deadline for the first four (4) winners to return their claim forms shall commence with the date of the announcement of winners.
- (g) Only registered PlayOn members may enter the "Holiday Lucky Times Bonus" promotion. PlayOn members must enter themselves into the drawings according to the requirements of the terms and conditions of the PlayOn program. Entries shall not be accepted which are submitted by any method other than through PlayOn.
- (h) By entering the promotion, entrant agrees to Play-On terms and conditions.
- (i) Winners are responsible for state and federal income taxes.
- (j) Submitting an entry into the drawing constitutes authorization to identify publicly the name of the person whose entry is drawn.
- (k) Rules applicable to this promotion are contained in K.A.R. 111-19-71 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-10-11-19, Aug. 21, 2019.)

# Article 401.—NORTHEAST GAMING ZONE

- **111-401-162.** Card shuffle. (a) A card shuffle machine and cut card may be utilized for the game of Mini-Baccarat. All cards shall be shuffled and the cut card inserted before commencement of dealing the cards.
- (b) When opening a game and/or replacing cards in a game, the new cards must be manually shuffled, or pre-shuffled by the playing card manufacturer. Pre-shuffled cards may also be manually re-shuffled.
- (c) Except as set forth in (d) below, the cards shall then be inserted into a shuffle machine and may be re-shuffled one or more additional times by the shuffle machine.
- (d) In the event that the shuffle machine is inoperable or otherwise unavailable, all shuffling of the cards will be performed manually.
- (e) The dealer shall then offer the cut card to a player at the table to place in the decks of cards.
- (f) The dealer shall then place a second cut card 14 cards from the end of the decks of cards and the cards shall then be placed into the shoe.
- (g) The dealer will then draw the first card out of the shoe, turn it face up on the table, and continue to draw from the shoe, the number of cards equal to the point value of the first card. All cards drawn are discarded. (Authorized by K.S.A. 74-8710 and 74-8748; implement-

ing K.S.A. 74-8710; effective, T-111-2-9-12, Dec. 14, 2011; amended, T-111-10-11-19, Aug. 21, 2019.)

- **111-401-191.** Card shuffle. (a) A card shuffle machine and cut card may be utilized for the game of Midi-Baccarat. All cards shall be shuffled and the cut card inserted before commencement of dealing the cards.
- (b) When opening a game and/or replacing cards in a game, the new cards must be manually shuffled, or pre-shuffled by the playing card manufacturer. Preshuffled cards may also be manually re-shuffled.
- (c) Except as set forth in (d) below, the cards shall then be inserted into a shuffle machine and may be re-shuffled one or more additional times by the shuffle machine.
- (d) In the event that the shuffle machine is inoperable or otherwise unavailable, all shuffling of the cards will be performed manually.
- (e) The dealer shall then offer the cut card to a player at the table to place in the decks of cards.
- (f) The dealer shall then place a second cut card 14 cards from the end of the decks of cards and the cards shall then be placed into the shoe.
- (g) The dealer will then draw the first card out of the shoe, turn it face up on the table, and continue to draw from the shoe, the number of cards equal to the point value of the first card. All cards drawn are discarded.
- (i) In games in which the cards may be held in a player's hand, each card shall be used only once, after which use it is removed from all further play and placed in an area designated for such purpose. (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-1-7-2013, Nov. 14, 2012; amended, T-111-2-4-16, Dec. 9, 2015; amended, T-111-10-11-19, Aug. 21, 2019.)

# Article 501.—SOUTH CENTRAL GAMING ZONE

- **111-501-65.** Card shuffle. (a) A card shuffle machine and cut card may be utilized for the game of Mini-Baccarat. All cards shall be shuffled and the cut card inserted before commencement of dealing the cards.
- (b) When opening a game and/or replacing cards in a game, the new cards must be manually shuffled, or pre-shuffled by the playing card manufacturer. Pre-shuffled cards may also be manually re-shuffled.
- (c) Except as set forth in (d) below, the cards shall then be inserted into a shuffle machine and may be re-shuffled one or more additional times by the shuffle machine.
- (d) In the event that the shuffle machine is inoperable or otherwise unavailable, all shuffling of the cards will be performed manually.
- (e) The dealer shall then offer the cut card to a player at the table to place in the decks of cards.
- (f) The dealer shall then place a second cut card 14 cards from the end of the decks of cards and the cards shall then be placed into the shoe.
- (g) The dealer will then draw the first card out of the shoe, turn it face up on the table, and continue to draw from the shoe, face down, the number of cards equal to the point value of the first card. All cards so drawn are then discarded. (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-12-22-11, Oct. 12, 2011; amended, T-111-10-11-19, Aug. 21, 2019.)

- **111-501-118.** Cards. (a) Midi-Baccarat shall be played with eight standard 52-card decks of playing cards ("stack"). Two (2) stacks will be issued to a Midi-Baccarat table. A card shuffle machine and cut card may be utilized for the game of Midi-Baccarat. All cards shall be shuffled and the cut card inserted before commencement of dealing the cards.
- (b) When opening a game and/or replacing cards in a game, the new cards must be manually shuffled, or pre-shuffled by the playing card manufacturer. Pre-shuffled cards may also be manually re-shuffled.
- (c) Except as set forth in (d) below, the cards shall then be inserted into a shuffle machine and may be re-shuffled one or more additional times by the shuffle machine.
- (d) In the event that the shuffle machine is inoperable or otherwise unavailable, all shuffling of the cards will be performed manually.
- (e) The dealer shall then offer the cut card to a player at the table to place in the decks of cards.
- (f) The dealer shall then place a second cut card 14 cards from the end of the decks of cards and the cards shall then be placed into the shoe.
- (g) The dealer will then draw the first card out of the shoe, turn it face up on the table, and continue to draw from the shoe, face down, the number of cards equal to the point value of the first card. All cards so drawn are then discarded. (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-11-16-12, Oct. 17, 2012; amended, T-111-10-11-19, Aug. 21, 2019.)

Stephen Durrell Executive Director

Doc. No. 047579

# **State of Kansas**

# **Kansas Lottery**

# **Temporary Administrative Regulations**

# Article 4.—INSTANT GAMES AND DRAWINGS

- **111-4-3590.** "Super Red Hot Crossword" instant ticket lottery game number 161. (a) The Kansas Lottery may conduct an instant winner lottery game entitled "Super Red Hot Crossword." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3590.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

| Prize Symbols | Captions |
|---------------|----------|
| \$5.00        | FIVE\$   |
| $10^{.00}$    | TEN\$    |
| $15^{.00}$    | FIFTEEN  |
| $20^{.00}$    | TWENTY   |
| $25^{.00}$    | TWEN-FIV |
| $50^{.00}$    | FIFTY    |
| $75^{.00}$    | SVTYFIV  |
| \$100         | ONE-HUN  |

Play Symbols A

| В                                 |  |
|-----------------------------------|--|
| B<br>C<br>D                       |  |
| D                                 |  |
| E                                 |  |
| E                                 |  |
| C                                 |  |
| П                                 |  |
| T 1                               |  |
| I<br>T                            |  |
| J                                 |  |
| K                                 |  |
| L                                 |  |
| E F G H I J K L M N O P Q R S T U |  |
| N                                 |  |
| O                                 |  |
| Р                                 |  |
| Q                                 |  |
| R                                 |  |
| S                                 |  |
| T                                 |  |
| U                                 |  |
| V                                 |  |
| W                                 |  |
| X                                 |  |
| Y                                 |  |
| 7                                 |  |
| _                                 |  |

- (c) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.
- (d) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.
- (e) "Super Red Hot Crossword" will feature four separate play areas, "YOUR LETTERS," two "CROSSWORD" puzzles, and a "BONUS" area. The top puzzle grid will be imaged in black. The bottom puzzle grid will be imaged in red.

In the "CROSSWORD" games, the player will scratch the "YOUR LETTERS" play area to reveal 20 "YOUR LETTERS." Each of the "YOUR LETTERS" may be used in both crossword puzzles. A player matches the corresponding letters in both crossword puzzles by removing the translucent scratch-off material covering the matching letter. If a player scratches a total of four or more completed words across both puzzles, the player wins the corresponding prize in the prize legend. The entire word must be uncovered to win the corresponding prize. Only the highest corresponding prize can be won.

In the "BONUS" play area, if a player reveals two matching prize amounts, the player wins that amount instantly. A player can win once in this game play area.

The following prize legend will be displayed on the ticket:

| FIND                        | WIN         |
|-----------------------------|-------------|
| 4-black words               | Free Ticket |
| 2–black words + 2 red words | \$5         |
| 4–red words                 | \$10        |
| 5–black words               | \$20        |
| 3–black words + 2 red words | \$25        |
| 2–black words + 3 red words | \$50        |
| 6–black words               | \$100       |

- 4-black words + 2 red words \$200 3-black words + 3 red words \$1,000 2-black words + 4 red words \$5,000 6-red words \$50,000
- (f) To qualify as a complete word to win a prize in this game, the words revealed must meet the following requirements:
  - (1) must contain at least three letters;
- (2) cannot be formed diagonally, run right to left or from bottom to top;
- (3) must appear in an unbroken horizontal or vertical string of letters in the "crossword" puzzle;
- (4) an unbroken string of letters cannot be interrupted by a black space and must contain every single letter square between two black spaces;
- (5) every single letter in the unbroken string must be revealed in the "YOUR LETTERS" area and be included to form a word.
  - (g) Each ticket in this game may win up to two times.
- (h) Approximately 1,200,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

| Crossword       | Bonus   | Prizes      | Expected<br>Number of<br>Prizes in Game | Expected<br>Value in<br>Game |
|-----------------|---------|-------------|---|------------------------------|
| Free Ticket     |         | Free Ticket | 200,000                                 | \$0                          |
| \$5             |         | \$5         | 38,280                                  | 191,400                      |
| \$10            |         | \$10        | 22,800                                  | 228,000                      |
|                 | \$10    | \$10        | 6,400                                   | 64,000                       |
| \$5             | \$5     | \$10        | 8,000                                   | 80,000                       |
| \$20            |         | \$20        | 11,600                                  | 232,000                      |
|                 | \$20    | \$20        | 5,200                                   | 104,000                      |
| \$10            | \$10    | \$20        | 5,200                                   | 104,000                      |
| \$25            |         | \$25        | 6,360                                   | 159,000                      |
|                 | \$25    | \$25        | 4,520                                   | 113,000                      |
| \$10            | \$15    | \$25        | 4,400                                   | 110,000                      |
| \$50            |         | \$50        | 5,600                                   | 280,000                      |
|                 | \$50    | \$50        | 3,560                                   | 178,000                      |
| \$25            | \$25    | \$50        | 3,600                                   | 180,000                      |
|                 | \$75    | \$75        | 800                                     | 60,000                       |
| \$50            | \$25    | \$75        | 800                                     | 60,000                       |
| \$100           |         | \$100       | 2,896                                   | 289,600                      |
|                 | \$100   | \$100       | 800                                     | 80,000                       |
| \$50            | \$50    | \$100       | 1,800                                   | 180,000                      |
| \$200           |         | \$200       | 152                                     | 30,400                       |
| \$1,000         |         | \$1,000     | 100                                     | 100,000                      |
| \$5,000         |         | \$5,000     | 24                                      | 120,000                      |
| \$50,000        |         | \$50,000    | 4                                       | 200,000                      |
| Players Loyalty | Program | \$31,600    |   | 31,600                       |
| TOTAL           |         |             | 332,896                                 | \$3,175,000                  |

(j) The odds of winning a prize in this game are approximately one in 3.60. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and 74-8720; effective, T-111-10-11-19, Sept. 11, 2019.)

**111-4-3591.** "\$100,000 Crossword" instant ticket lottery game number 162. (a) The Kansas Lottery may conduct an instant winner lottery game entitled

"\$100,000 Crossword." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3591.

(b) The "play symbols" for this game are as follows:

**Doubler Puzzle Play Symbols**: A–B–C–D–E–F–G–H–I–J–K–L–M–N–O–P–Q–R–S–T–U–V–W–X–Y–Z–symbol of a money bag.

**Mega Puzzle Play Symbols**: A-B-C-D-E-F-G-H-I-J-K-L-M-N-O-P-Q-R-S-T-U-V-W-X-Y-Z.

**Bonus Word Play Symbols**: A-B-C-D-E-F-G-H-I-J-K-L-M-N-O-P-Q-R-S-T-U-V-W-X-Y-Z.

Your Letters Play Symbols: A-B-C-D-E-F-G-H-I-J-K-L-M-N-O-P-Q-R-S-T-U-V-W-X-Y-Z.

There are no "play symbol captions" in this game puzzle.

(c) The "\$100,000 Crossword" ticket features four separate play areas, "YOUR LETTERS," "DOUBLER PUZZLE" crossword puzzle, "MEGA PUZZLE" crossword puzzle and a "BONUS WORD."

In the crossword puzzles, the player will scratch the "YOUR LETTERS" play area to reveal 20 letters. Each of the "YOUR LETTERS" may be used in both crossword puzzles and the "BONUS WORD." A player matches the corresponding letters in both crossword puzzles and the "BONUS WORD" by removing the translucent scratch-off material covering the matching letter. A player wins according to the prize legend associated with each puzzle. Each puzzle plays separately.

In the "DOUBLER PUZZLE," if the player scratches three or more completed words, the player wins the corresponding prize in the prize legend. If one of the winning combinations shown in the prize legend has a completed word with a "MONEY BAG" symbol, the player wins double the prize amount shown in the prize legend. Only the highest corresponding prize can be won. A player can win up to one time on this puzzle.

In the "MEGA PUZZLE," if the player scratches five or more completed words, the player wins the corresponding prize in the prize legend. Only the highest corresponding prize can be won. A player can win up to one time on this puzzle.

In the "BONUS WORD" play area, if the player completely uncovers the "BONUS WORD" using "YOUR LETTERS," the player wins \$15 instantly.

The following prize legends will be displayed on the ticket:

# DOUBLER PUZZLE:

| DOUDLER I UZZLE. |              |  |  |  |
|------------------|--------------|--|--|--|
| FIND             | WIN          |  |  |  |
| 3 words          | \$10         |  |  |  |
| 4 words          | \$20         |  |  |  |
| 5 words          | \$25         |  |  |  |
| 6 words          | \$50         |  |  |  |
| 7 words          | <b>\$7</b> 5 |  |  |  |
| 8 words          | \$100        |  |  |  |
| 9 words          | \$500        |  |  |  |
| MEGA PUZZLE:     |              |  |  |  |
| FIND             | WIN          |  |  |  |
| 5 words          | \$10         |  |  |  |
| 6 words          | \$25         |  |  |  |
|                  |              |  |  |  |

| 7 words  | \$50      |
|----------|-----------|
| 8 words  | \$75      |
| 9 words  | \$100     |
| 10 words | \$200     |
| 11 words | \$500     |
| 12 words | \$1,000   |
| 13 words | \$10,000  |
| 14 words | \$100,000 |

- (d) To qualify as a complete word to win a prize in this game, the words revealed must meet the following requirements:
  - (1) must contain at least three letters;
- (2) cannot be formed diagonally, run right to left or from bottom to top;
- (3) must appear in an unbroken horizontal or vertical string of letters in the crossword puzzle;
- (4) an unbroken string of letters cannot be interrupted by a black space and must contain every single letter square between two black spaces; and
- (5) every single letter in the unbroken string must be revealed in the "YOUR LETTERS" area and be included to form a word.
- (e) For this game, a play symbol shall appear in each of 20 play spots within the "YOUR LETTERS" play area, in each of five play spots within the "BONUS WORD" play area, and a variable number of times within the crossword puzzle grids.
- (f) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.
- (g) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.
  - (h) Each ticket in this game may win up to three times.
- (i) Approximately 600,030 tickets shall be ordered initially for this instant game.

Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 200,010 tickets, and the same odds as were contained in the initial ticket order.

(j) The expected number and value of instant prizes in this game shall be as follows:

| Puzzle 1      | Puzzle 2 | Bonus<br>Word | Prize | Winners Per<br>600,030 | Prize<br>Cost |
|---------------|----------|---------------|-------|------------------------|---------------|
| 3 words       |          |               | \$10  | 44,001                 | \$440,010     |
|               | 5 words  |               | \$10  | 44,001                 | \$440,010     |
|               |          | \$15          | \$15  | 42,000                 | \$630,000     |
| 4 words       |          |               | \$20  | 9,999                  | \$199,980     |
| 3 words (dbl) |          |               | \$20  | 9,999                  | \$199,980     |
| 3 words       | 5 words  |               | \$20  | 10,005                 | \$200,100     |
| 5 words       |          |               | \$25  | 6,000                  | \$150,000     |
|               | 6 words  |               | \$25  | 6,000                  | \$150,000     |
| 3 words       |          | \$15          | \$25  | 6,000                  | \$150,000     |
|               | 5 words  | \$15          | \$25  | 6,000                  | \$150,000     |
| 6 words       |          |               | \$50  | 990                    | \$49,500      |
| 4 words (dbl) | 5 words  |               | \$50  | 990                    | \$49,500      |
| 5 words (dbl) |          |               | \$50  | 1,008                  | \$50,400      |
|               | 7 words  |               | \$50  | 1,008                  | \$50,400      |
| 5 words       | 6 words  |               | \$50  | 1,005                  | \$50,250      |
| 3 words       | 6 words  | \$15          | \$50  | 900                    | \$45,000      |
| 5 words       | 5 words  | \$15          | \$50  | 900                    | \$45,000      |
| 7 words       |          |               | \$75  | 450                    | \$33,750      |
|               |          |               |       | (                      | continued)    |

**TWYSV** 

**TWYET** 

**TWYNI** 

**THRTY** 

**THYON** 

**THYTW** 

**THYTR** 

**THYFR** 

**THYFV** 

**THYSX** 

**THYSV** 

**THYET** 

**THYNI** 

**FORTY** 

**FRYON** 

**FRYTW** 

**FRYTR** 

**FRYFR** 

**FRYFV** 

**FRYSX** 

**FRYSV** 

**FRYET** 

**FRYNI** 

**FIFTY** 

WIN\$

WINX5

**Captions** 

**GRPE** 

**MELN** 

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

50

Symbol of a Moneybag

5X

**Non-winning Bonus Symbols** 

Symbol of grapes

Symbol of a slice of melon

|                 | 8 words  |      | \$75      | 450     | \$33,750    |
|-----------------|----------|------|-----------|---------|-------------|
| 6 words         | 6 words  |      | \$75      | 450     | \$33,750    |
| 5 words         | 7 words  |      | \$75      | 450     | \$33,750    |
| 8 words         |          |      | \$100     | 258     | \$25,800    |
| 6 words (dbl)   |          |      | \$100     | 258     | \$25,800    |
|                 | 9 words  |      | \$100     | 258     | \$25,800    |
| 6 words         | 7 words  |      | \$100     | 258     | \$25,800    |
| 3 words         | 8 words  | \$15 | \$100     | 258     | \$25,800    |
|                 | 10 words |      | \$200     | 210     | \$42,000    |
| 7 words (dbl)   | 7 words  |      | \$200     | 195     | \$39,000    |
| 8 words (dbl)   |          |      | \$200     | 195     | \$39,000    |
| 9 words         |          |      | \$500     | 120     | \$60,000    |
|                 | 11 words |      | \$500     | 120     | \$60,000    |
| 9 words (dbl)   |          |      | \$1,000   | 30      | \$30,000    |
|                 | 12 words |      | \$1,000   | 27      | \$27,000    |
| 9 words         | 11 words |      | \$1,000   | 27      | \$27,000    |
|                 | 13 words |      | \$10,000  | 6       | \$60,000    |
|                 | 14 words |      | \$100,000 | 5       | \$500,000   |
| Players Loyalty |          |      |           |         |             |
| Program         | \$41,981 |      | \$41,981  |         |             |
|                 |          |      | TOTAL     | 194,831 | \$4,240,111 |
| 11 1 1          |          | 1.1  |           |         |             |

dbl - denotes "Money Bag" doubler feature

- (k) The odds of winning a prize in this game are approximately one in 3.08. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-10-11-19, Sept. 11, 2019.)
- **111-4-3592.** "Money Clip" instant ticket lottery game number 165. (a) The Kansas Lottery may conduct an instant winner lottery game entitled "Money Clip." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3592.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

| Pl 6 1 1     | O 11         | Symbol of a bow tie          | BOW      |
|--------------|--------------|------------------------------|----------|
| Play Symbols | Captions     | Symbol of a cell phone       | CELL     |
| 1            | ONE          | Symbol of a diamond          | DMND     |
| 2            | TWO          | Symbol of a joker            | JOKER    |
| 3            | THR          | Symbol of a house            | HOUSE    |
| 4            | FOR          | Symbol of a fortune cookie   | COOKIE   |
| 6            | SIX          | Symbol of cherries           | CHRY     |
| 7            | SVN          | Symbol of a camera           | CAMERA   |
| 8            | EGT          | Symbol of a wishbone         | BONE     |
| 9            | NIN          | Symbol of a 7 (outlined)     | SEVN     |
| 10<br>11     | TEN<br>ELEVN | Symbol of a crown            | CROWN    |
| 12           | TWELV        | Symbol of a hat              | HAT      |
| 13           | THRTN        | Symbol of a key              | KEY      |
| 14           | FORTN        | Symbol of a star             | STAR     |
| 15           | FIFTN        | Symbol of a bell             | BELL     |
| 16           | SIXTN        | Symbol of a chest            | CHEST    |
| 17           | SVNTN        | Symbol of a four leaf clover | CLOVER   |
| 18           | EGHTN        | Symbol of a horseshoe        | SHOE     |
| 19           | NINTN        | Symbol of a map              | MAP      |
| 20           | TWNTY        | Symbol of a ring             | RING     |
| 21           | TWYON        | Symbol of a banana           | BNNA     |
| 22           | TWYTW        | Symbol of a heart            | HEART    |
| 23           | TWYTR        |                              |          |
| 24           | TWYFR        | Prize Symbols                | Captions |
| 25           | TWYFV        | FREE                         | TICKET   |
| 26           | TWYSX        | \$5.00                       | FIVE\$   |
|              |              |                              |          |

| $$10^{.00}$ | TEN\$   |
|-------------|---------|
| \$20.00     | TWENTY  |
| \$25.00     | TWENFIV |
| \$50.00     | FIFTY   |
| \$100       | ONEHUN  |
| \$200       | TWOHUN  |
| \$500       | FIVHUN  |
| \$1,000     | ONETHO  |
| \$5,000     | FIVTHO  |
| \$75,000    | 75-THOU |

- (c) For this game, a play/prize symbol shall appear in 57 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.
- (e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.
- (f) "Money Clip" is a key number match game with an instant win, two bonus areas, and a multiplier feature. The player will scratch the play area to reveal five "WINNING NUMBERS" and 25 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below that number. If a player reveals a symbol of a moneybag, the player instantly wins the prize amount shown. If a player reveals a "5X" symbol, the player wins five times the prize amount shown. The player will scratch the two bonus areas. If a player reveals a prize amount, the player wins the prize amount shown.
  - (g) Each ticket in this game may win up to 27 times.
- (h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

|                                      | Prize       | Expected<br>Number of<br>Prizes in Game | Expected<br>Value<br>in Game |
|--------------------------------------|-------------|---|------------------------------|
| Free \$10 Ticket                     | Free Ticket | 20,000                                  | \$0                          |
| \$5 x 4                              | \$20        | 10,000                                  | \$200,000                    |
| \$10 x 2                             | \$20        | 20,000                                  | \$400,000                    |
| \$20                                 | \$20        | 20,000                                  | \$400,000                    |
| (\$10 x 2) + \$5                     | \$25        | 1,000                                   | \$25,000                     |
| \$5 (5X)                             | \$25        | 1,250                                   | \$31,250                     |
| \$25                                 | \$25        | 1,125                                   | \$28,125                     |
| (\$20 x 2) + \$10                    | \$50        | 250                                     | \$12,500                     |
| \$25 x 2                             | \$50        | 250                                     | \$12,500                     |
| \$5 x 10                             | \$50        | 250                                     | \$12,500                     |
| \$10 (5X)                            | \$50        | 1,025                                   | \$51,250                     |
| \$50                                 | \$50        | 1,025                                   | \$51,250                     |
| \$5 x 20                             | \$100       | 125                                     | \$12,500                     |
| \$50 + (\$25 x 2)                    | \$100       | 375                                     | \$37,500                     |
| \$25 x 4                             | \$100       | 375                                     | \$37,500                     |
| \$10 x 10                            | \$100       | 250                                     | \$25,000                     |
| \$20 (5X)                            | \$100       | 500                                     | \$50,000                     |
| \$100                                | \$100       | 500                                     | \$50,000                     |
| $(\$20 \times 5) + (\$10 \times 10)$ | \$200       | 50                                      | \$10,000                     |
| $(\$50 \times 2) + (\$25 \times 4)$  | \$200       | 50                                      | \$10,000                     |

| \$20 (5X) + \$10 (5X) +                |          |            |             |
|--|----------|------------|-------------|
| (\$5 (5X) x 2)                         | \$200    | 125        | \$25,000    |
| \$20 x 10                              | \$200    | 125        | \$25,000    |
| \$200                                  | \$200    | 50         | \$10,000    |
| \$100 + (\$50 x 4) + (\$25 x 4) +      |          |            |             |
| (\$10 x 10)                            | \$500    | 50         | \$25,000    |
| \$100 + (\$50 x 2) + (\$25 x 2) +      |          |            |             |
| $($20 \times 3) + ($10 \times 19)$     | \$500    | <i>7</i> 5 | \$37,500    |
| \$50 x 10                              | \$500    | 50         | \$25,000    |
| \$100 (5X)                             | \$500    | 75         | \$37,500    |
| \$500                                  | \$500    | 50         | \$25,000    |
| $(\$100 \times 5) + (\$50 \times 4) +$ |          |            |             |
| (\$25 x 4) + (\$20 x 6) +              |          |            |             |
| (\$10 x 8)                             | \$1,000  | 3          | \$3,000     |
| \$100 x 10                             | \$1,000  | 2          | \$2,000     |
| \$200 (5X)                             | \$1,000  | 3          | \$3,000     |
| \$1,000                                | \$1,000  | 2          | \$2,000     |
| \$1,000 + (\$500 x 6) +                |          |            |             |
| (\$100 x 5) + (\$50 x 6) +             |          |            |             |
| $($25 \times 4) + ($20 \times 5)$      | \$5,000  | 2          | \$10,000    |
| \$500 x 10                             | \$5,000  | 2          | \$10,000    |
| \$1,000 (5X)                           | \$5,000  | 2          | \$10,000    |
| \$5,000                                | \$5,000  | 1          | \$5,000     |
| \$75,000                               | \$75,000 | 3          | \$225,000   |
|  |          | 79,020     | \$1,936,875 |
| Player Loyalty Program                 |          |            | \$18,200    |
| , , , ,                                |          | 79,020     | \$1,955,075 |
|  |          | •          |             |

- (j) The odds of winning a prize in this game are approximately one in 3.80. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-10-11-19, Sept. 11, 2019.)
- **111-4-3593.** "Bonus Payout" instant ticket lottery game number 166. (a) The Kansas Lottery may conduct an instant winner lottery game entitled "Bonus Payout." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3593.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

| Play Symbols | Captions |
|--------------|----------|
| 1            | ONE      |
| 2            | TWO      |
| 3            | THR      |
| 4            | FOR      |
| 5            | FIV      |
| 6            | SIX      |
| 7            | SVN      |
| 8            | EGT      |
| 9            | NIN      |
| 11           | ELEVN    |
| 12           | TWELV    |
| 13           | THRTN    |
| 14           | FORTN    |
| 15           | FIFTN    |
| 16           | SIXTN    |
| 17           | SVNTN    |
| 18           | EGHTN    |
| 19           | NINTN    |
| 20           | TWNTY    |
| 21           | TWYON    |
| 22           | TWYTW    |
|              | (continu |

| 23                                | TWYTR       | Symbol of a coin                     | n              | COIN             |                        |
|-----------------------------------|-------------|--------------------------------------|----------------|------------------|------------------------|
| 24                                | TWYFR       | Symbol of a crow                     | vn             | CROWN            |                        |
| 25                                | TWYFV       | Symbol of a four leaf                | clover         | CLOVER           |                        |
| 26                                | TWYSX       | Symbol of a stack of 1               |                | STACK            |                        |
| 27                                | TWYSV       | Symbol of a melo                     |                | MELN             |                        |
| 28                                | TWYET       | Symbol of a bel                      |                | BELL             |                        |
| 29                                | TWYNI       | •                                    |                |                  |                        |
| 30                                | THRTY       | (c) For this game, a                 |                |                  | ppear in               |
| 31                                | THYON       | 57 play spots within t               |                |                  |                        |
| 32                                | THYTW       | (d) The ticket num                   |                |                  | ts in this             |
| 33                                | THYTR       | game shall start with                |                |                  |                        |
|                                   | THYFR       | (e) The price of inst                |                | old by a retaile | r for this             |
| 34                                |             | game shall be \$10.00 e              |                |                  |                        |
| 35                                | THYFV       | (f) "Bonus Payout"                   |                |                  |                        |
| 36                                | THYSX       | an instant win, two bo               |                |                  |                        |
| 37                                | THYSV       | The player will scratch              | h the play ar  | ea to reveal fiv | e "WIN-                |
| 38                                | THYET       | NING NUMBERS" a                      |                |                  |                        |
| 39                                | THYNI       | prize amount below e                 |                |                  |                        |
| 40                                | FORTY       | player matches any o                 |                |                  |                        |
| 41                                | FRYON       | the "WINNING NUN                     |                |                  |                        |
| 42                                | FRYTW       | shown below that nur                 |                |                  |                        |
| 43                                | FRYTR       | a star, the player insta             | ıntly wins th  | e prize amoun    | t shown.               |
| 44                                | FRYFR       | If a player reveals a '              |                |                  |                        |
| 45                                | FRYFV       | times the prize amou                 |                |                  |                        |
| 46                                | FRYSX       | the two bonus areas.                 |                |                  |                        |
| 47                                | FRYSV       | the player automatica                |                |                  |                        |
| 48                                | FRYET       | (g) Each ticket in th                |                |                  |                        |
| 49                                | FRYNI       | (h) Approximately                    |                |                  |                        |
| 50                                | FIFTY       | tially for this instant g            |                |                  |                        |
| Symbol of a star                  | WIN\$       | have the same prize st               |                |                  |                        |
| 10X                               | WINX10      | per prize pool of 240                |                |                  | odds as                |
| 10%                               | WINXIO      | were contained in the                |                |                  |                        |
| D: C 1.1                          | <i>C</i> .: | (i) The expected nu                  |                | alue of instant  | prizes in              |
| Prize Symbols                     | Captions    | this game shall be as t              | follows:       |                  |                        |
| FREE                              | TICKET      |                                      |                | Expected         | Expected               |
| \$5.00                            | FIVE\$      |                                      |                | Number of        | Value                  |
| \$10.00                           | TEN\$       |                                      | Prize          | Prizes in Game   | in Game                |
| \$20.00                           | TWENTY      | Free \$10 Ticket                     | Free Ticket    |                  | \$0                    |
| \$25.00                           | TWENFIV     | \$5 x 4                              | \$20           | 10,000           | \$200,000              |
| \$50.00                           | FIFTY       | \$10 x 2<br>\$20                     | \$20<br>\$20   | 20,000<br>20,000 | \$400,000<br>\$400,000 |
| \$100                             | ONEHUN      | $(\$10 \times 2) + \$5$              | \$25           | 1,000            | \$25,000               |
| \$200                             | TWOHUN      | \$5 x 5                              | \$25           | 1,250            | \$31,250               |
| \$500                             | FIVHUN      | \$25                                 | \$25           | 1,125            | \$28,125               |
| \$1,000                           | ONETHO      | $($20 \times 2) + $10$               | \$50           | 250              | \$12,500               |
| \$5,000                           | FIVTHO      | \$25 x 2                             | \$50           | 250              | \$12,500               |
| \$75,000                          | 75-THOU     | \$5 (10X)                            | \$50           | 250              | \$12,500               |
| 1 -,                              |             | \$10 x 5                             | \$50           | 1,025            | \$51,250               |
| <b>Bonus Play Symbols \$50</b>    | Captions    | \$50                                 | \$50           | 1,025            | \$51,250               |
|                                   | •           | \$5 x 20                             | \$100          | 125              | \$12,500               |
| \$50                              | WIN\$50     | \$50 + (\$25 x 2)<br>\$25 x 4        | \$100<br>\$100 | 375<br>375       | \$37,500<br>\$37,500   |
| Symbol of a gold bar              | GLDBAR      | \$25 X 4<br>\$10 (10X)               | \$100<br>\$100 | 375<br>250       | \$37,500<br>\$25,000   |
| Symbol of a ring                  | RING        | \$20 x 5                             | \$100          | 500              | \$50,000               |
| Symbol of a cherry                | CHERRY      | \$100                                | \$100          | 500              | \$50,000               |
| Symbol of a horseshoe             | HRSHOE      | $(\$20 \times 5) + (\$10 \times 10)$ | \$200          | 50               | \$10,000               |
| Symbol of a cookie                | COOKIE      | $(\$50 \times 2) + (\$25 \times 4)$  | \$200          | 50               | \$10,000               |
| Symbol of a key                   | KEY         | \$20 (10X)                           | \$200          | 125              | \$25,000               |
|                                   | KE I        | φ20 (10/1)                           | ·              |                  | 4-0,000                |
|                                   | KEI         | \$10 x 20                            | \$200          | 125              | \$25,000               |
| <b>Bonus Play Symbols \$100</b>   | Captions    | \$10 x 20<br>\$200                   |                |                  |                        |
| Bonus Play Symbols \$100<br>\$100 |             | \$10 x 20                            | \$200          | 125              | \$25,000               |

| #4.00 (#E0 <b>0</b> ) (# <b>05 0</b> )     |             |        |                  |
|--|-------------|--------|------------------|
| $$100 + ($50 \times 2) + ($25 \times 2) +$ | <b>4=00</b> |        | # <b>25 5</b> 00 |
| $(\$20 \times 3) + (\$10 \times 19)$       | \$500       | 75     | \$37,500         |
| \$50 (10X)                                 | \$500       | 50     | \$25,000         |
| \$100 x 5                                  | \$500       | 75     | \$37,500         |
| \$500                                      | \$500       | 50     | \$25,000         |
| (\$100 x 5) + (\$50 x 4) +                 |             |        |                  |
| $($25 \times 4) + ($20 \times 6) +$        |             |        |                  |
| (\$10 x 8)                                 | \$1,000     | 3      | \$3,000          |
| \$100 (10X)                                | \$1,000     | 2      | \$2,000          |
| \$200 x 5                                  | \$1,000     | 3      | \$3,000          |
| \$1,000                                    | \$1,000     | 2      | \$2,000          |
| \$1,000 + (\$500 x 6) +                    |             |        |                  |
| $(\$100 \times 5) + (\$50 \times 6) +$     |             |        |                  |
| $($25 \times 4) + ($20 \times 5)$          | \$5,000     | 2      | \$10,000         |
| \$500 (10X)                                | \$5,000     | 2      | \$10,000         |
| \$1,000 x 5                                | \$5,000     | 2      | \$10,000         |
| \$5,000                                    | \$5,000     | 1      | \$5,000          |
| \$75,000                                   | \$75,000    | 3      | \$225,000        |
|  |             | 79,020 | \$1,936,875      |
| Player Loyalty Program                     |             |        | \$18,200         |
|  |             | 79,020 | \$1,955,075      |
|  |             |        |                  |

(j) The odds of winning a prize in this game are approximately one in 3.80. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-10-11-19, Sept. 11, 2019.)

# Article 19.—SPECIFIC PLAYER LOYALTY CLUB RULES

**111-19-72.** Super Ticket Bonus Second Chance Drawing Promotion. (a) The Kansas Lottery may conduct a "Super Ticket Bonus Second Chance Drawing" promotion awarding one cash prize. Entries into the drawing will be accepted beginning at 12:01 a.m. on November 15, 2019 and ending at 11:59 p.m. on July 27, 2020. The drawing will be conducted sometime after entry into the drawing has closed but before noon on July 31, 2020, at which time the winners will be announced.

- (b) The specific ticket eligible for entry into this drawing shall be non-winning \$30 "Multiplier Super Ticket" game number 154.
- (c) A player shall enter the drawing through the Kansas Lottery PlayOn program available at www.kslottery.com. The player shall follow the hyperlink specifically designated for the purpose of accessing the "Super Tick-

- et Bonus Second Chance Drawing" promotion. The player may manually enter the required data from the entry ticket for entry into the drawing. If the player does not enter the ticket data manually, the player may scan, if available, the ticket to enter data to be used for entry into the drawing using a mobile device and a downloaded Kansas Lottery PlayOn app. After the ticket data is successfully entered either manually or scanned using an app, the player will receive one entry for each ticket submitted into the drawing.
- (d) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed. The first player selected will receive \$15,000 less mandatory income tax withholdings.
- (e) There is no limit on the number of non-winning tickets a player may enter.
- (f) The procedures set forth in K.A.R. 111-18-5 for contacting the winner and the claiming of the prize shall be followed, except that in this promotion the 10-day deadline for the winner to return their claim forms shall commence with the date of the announcement of winner.
- (g) Only registered PlayOn members may enter the "Super Ticket Bonus Second Chance Drawing" promotion. PlayOn members must enter themselves into the drawings according to the requirements of the terms and conditions of the PlayOn program. Entries shall not be accepted which are submitted by any method other than through PlayOn.
- (h) By entering the promotion, entrant agrees to Play-On terms and conditions.
- (i) Winners are responsible for state and federal income taxes.
- (j) Submitting an entry into the drawing constitutes authorization to identify publicly the name of the person whose entry is drawn.
- (k) Rules applicable to this promotion are contained in K.A.R. 111-19-72 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-10-11-19, Sept. 11, 2019.)

Stephen Durrell Executive Director

Doc. No. 047580

# INDEX TO ADMINISTRATIVE REGULATIONS

This index lists in numerical order the new, amended, and revoked administrative regulations and the volume and page number of the *Kansas Register* issue in which more information can be found. Temporary regulations are designated with a (T) in the Action column. This cumulative index supplements the 2009 Volumes of the *Kansas Administrative Regulations* and the 2019 Supplement of the *Kansas Administrative Regulations*. Regulations can also be found at http://www.sos.ks.gov/pubs/pubs\_kar.aspx.

# AGENCY 4: DEPARTMENT OF AGRICULTURE

| Reg. No. | Action | Register     |
|----------|--------|--------------|
| 4-34-1   | New    | V. 38, p. 57 |
| 4-34-2   | New    | V. 38, p. 58 |
| 4-34-3   | New    | V. 38, p. 58 |
| 4-34-4   | New    | V. 38, p. 59 |
| 4-34-5   | New    | V. 38, p. 59 |
| 4-34-6   | New    | V. 38, p. 61 |
| 4-34-7   | New    | V. 38, p. 62 |
| 4-34-8   | New    | V. 38, p. 62 |
| 4-34-9   | New    | V. 38, p. 63 |
| 4-34-10  | New    | V. 38, p. 64 |
| 4-34-11  | New    | V. 38, p. 64 |
| 4-34-12  | New    | V. 38, p. 64 |
| 4-34-13  | New    | V. 38, p. 65 |
| 4-34-14  | New    | V. 38, p. 65 |
| 4-34-15  | New    | V. 38, p. 66 |
| 4-34-16  | New    | V. 38, p. 66 |
| 4-34-17  | New    | V. 38, p. 67 |
| 4-34-18  | New    | V. 38, p. 67 |
| 4-34-19  | New    | V. 38, p. 68 |
| 4-34-20  | New    | V. 38, p. 68 |
| 4-34-21  | New    | V. 38, p. 70 |

# **AGENCY 7: SECRETARY OF STATE**

| Reg. No. | Action  | Register       |
|----------|---------|----------------|
| 7-47-1   | New (T) | V. 38, p. 855  |
| 7-47-1   | New     | V. 38, p. 1113 |

# AGENCY 9: DEPARTMENT OF AGRICULTURE – DIVISION OF ANIMAL HEALTH

| Reg. No. | Action  | Register     |
|----------|---------|--------------|
| 9-18-6   | Amended | V. 38, p. 55 |
| 9-18-9   | Amended | V. 38, p. 56 |
| 9-18-28  | Amended | V. 38, p. 56 |

# AGENCY 10: KANSAS BUREAU OF INVESTIGATION

| Reg. No. | Action  | Register       |
|----------|---------|----------------|
| 10-22-1  | Amended | V. 38, p. 1089 |
| 10-23-1  | New     | V. 38, p. 773  |
| 10-23-2  | New     | V. 38, p. 773  |
| 10-23-3  | New     | V. 38, p. 773  |
| 10-23-4  | New     | V. 38, p. 773  |
| 10-23-5  | New     | V. 38, p. 773  |
| 10-23-6  | New     | V. 38, p. 773  |

# AGENCY 14: DEPARTMENT OF REVENUE – DIVISION OF ALCOHOLIC BEVERAGE CONTROL

| Reg. No. | Action      | Register       |
|----------|-------------|----------------|
| 14-6-4   | Revoked (T) | V. 38, p. 856  |
| 14-6-4   | Revoked     | V. 38, p. 1203 |

# **AGENCY 16: ATTORNEY GENERAL**

| Reg. No. | Action | Register      |
|----------|--------|---------------|
| 16-18-1  | New    | V. 38, p. 856 |
| 16-18-2  | New    | V. 38, p. 856 |
| 16-18-3  | New    | V. 38, p. 857 |

# AGENCY 28: DEPARTMENT OF HEALTH AND ENVIRONMENT

| Reg. No.<br>28-1-20<br>28-35-146a<br>28-35-147a<br>28-55-1<br>28-55-2<br>28-55-3<br>28-55-4 | Action Amended Amended Amended Revoked Revoked Revoked Revoked | Register V. 38, p. 924 V. 38, p. 130 V. 38, p. 130 V. 38, p. 1024 V. 38, p. 1024 V. 38, p. 1025 V. 38, p. 1025 |
|---|--|--|
| 28-55-4   | Revoked  | V. 38, p. 1025   |
| 28-55-5   | Revoked  | V. 38, p. 1025   |

# AGENCY 30: KANSAS DEPARTMENT FOR CHILDREN AND FAMILIES

| Reg. No.                  | Action  | Register      |  |  |  |
|---------------------------|---------|---------------|--|--|--|
| 30-4-34                   | Amended | V. 38, p. 403 |  |  |  |
| 30-4-35                   | Amended | V. 38, p. 403 |  |  |  |
| 30-4-36                   | Amended | V. 38, p. 403 |  |  |  |
| 30-4-40                   | Amended | V. 38, p. 403 |  |  |  |
| 30-4-41                   | Amended | V. 38, p. 404 |  |  |  |
| 30-4-50                   | Amended | V. 38, p. 404 |  |  |  |
| 30-4-51                   | Amended | V. 38, p. 405 |  |  |  |
| 30-4-54                   | Amended | V. 38, p. 405 |  |  |  |
| 30-4-64                   | Amended | V. 38, p. 406 |  |  |  |
| 30-4-90                   | Revoked | V. 38, p. 407 |  |  |  |
| 30-4-98                   | Amended | V. 38, p. 407 |  |  |  |
| 30-4-100                  | Amended | V. 38, p. 407 |  |  |  |
| 30-4-107                  | Amended | V. 38, p. 408 |  |  |  |
| 30-4-109                  | Amended | V. 38, p. 408 |  |  |  |
| 30-4-111                  | Amended | V. 38, p. 409 |  |  |  |
| 30-4-113                  | Amended | V. 38, p. 409 |  |  |  |
| 30-4-120                  | Revoked | V. 38, p. 410 |  |  |  |
| 30-4-130                  | Amended | V. 38, p. 410 |  |  |  |
| 30-4-140                  | Amended | V. 38, p. 412 |  |  |  |
| 30-46-10                  | Amended | V. 38, p. 128 |  |  |  |
| 30-46-13                  | Amended | V. 38, p. 128 |  |  |  |
| 30-46-15                  | Amended | V. 38, p. 129 |  |  |  |
| 30-46-17                  | Amended | V. 38, p. 129 |  |  |  |
| A CENICY AT DEDARTMENT OF |         |               |  |  |  |

# AGENCY 47: DEPARTMENT OF HEALTH AND ENVIRONMENT— MINED-LAND CONSERVATION AND RECLAMATION

| Reg. No. | Action  | Register      |
|----------|---------|---------------|
| 47-2-75  | Amended | V. 38, p. 84  |
| 47-3-1   | Amended | V. 38, p. 86  |
| 47-3-2   | Amended | V. 38, p. 86  |
| 47-3-42  | Amended | V. 38, p. 86  |
| 47-5-5a  | Amended | V. 38, p. 90  |
| 47-6-1   | Amended | V. 38, p. 93  |
| 47-6-2   | Amended | V. 38, p. 93  |
| 47-6-3   | Amended | V. 38, p. 94  |
| 47-6-4   | Amended | V. 38, p. 94  |
| 47-6-6   | Amended | V. 38, p. 94  |
| 47-6-8   | Amended | V. 38, p. 94  |
| 47-6-9   | Amended | V. 38, p. 95  |
| 47-6-10  | Amended | V. 38, p. 95  |
| 47-6-11  | Amended | V. 38, p. 95  |
| 47-7-2   | Amended | V. 38, p. 96  |
| 47-8-9   | Amended | V. 38, p. 96  |
| 47-9-1   | Amended | V. 38, p. 97  |
| 47-9-4   | Amended | V. 38, p. 103 |
| 47-10-1  | Amended | V. 38, p. 103 |
| 47-11-8  | Amended | V. 38, p. 105 |
| 47-12-4  | Amended | V. 38, p. 105 |
| 47-13-4  | Amended | V. 38, p. 106 |
| 47-14-7  | Amended | V. 38, p. 107 |
| 47-15-1a | Amended | V. 38, p. 107 |
| 47-16-6  | Amended | V. 38, p. 108 |
| 47-16-9  | Amended | V. 38, p. 108 |

| 47-16-12 | Amended | V. 38, p. 109 |
|----------|---------|---------------|
| 47-16-13 | New     | V. 38, p. 109 |
|          |         |               |

### AGENCY 51: DEPARTMENT OF LABOR – DIVISION OF WORKERS COMPENSATION

| Reg. No. | Action  | Register      |  |  |
|----------|---------|---------------|--|--|
| 51-9-7   | Amended | V. 38, p. 231 |  |  |
| 51-9-17  | Amended | V. 38, p. 212 |  |  |

### AGENCY 60: BOARD OF NURSING

**Reg. No.** Action Register 60-4-101 Amended V. 38, p. 545

# AGENCY 63: BOARD OF MORTUARY ARTS

 Reg. No.
 Action
 Register

 63-5-3
 New
 V. 38, p. 183

# AGENCY 66: BOARD OF TECHNICAL PROFESSIONS

| Reg. No. | Action  | Register      |
|----------|---------|---------------|
| 66-7-4   | New     | V. 38, p. 989 |
| 66-9-7   | Amended | V. 38, p. 622 |
| 66-10-1  | Amended | V. 38, p. 622 |
| 66-10-3  | Amended | V. 38, p. 622 |

# **AGENCY 68: BOARD OF PHARMACY**

| Reg. No. | Action  | Register      |
|----------|---------|---------------|
| 68-11-1  | Amended | V. 38, p. 541 |
| 68-11-2  | Amended | V. 38, p. 541 |

# AGENCY 69: BOARD OF COSMETOLOGY

| Reg. No. | Action | Register     |
|----------|--------|--------------|
| 69-1-10  | New    | V. 38, p. 84 |

# AGENCY 82: STATE CORPORATION COMMISSION

Register

V. 38, p. 875

V. 38, p. 896

V. 38, p. 896

Action

Amended

Reg. No.

82-4-1

82-4-63

82-4-65

|          | 1 111101100 | 1.00, p. 0.0  |
|----------|-------------|---------------|
| 82-4-2a  | Amended     | V. 38, p. 876 |
| 82-4-3b  | Amended     | V. 38, p. 876 |
| 82-4-3c  | Amended     | V. 38, p. 877 |
| 82-4-3d  | Amended     | V. 38, p. 878 |
| 82-4-3f  | Amended     | V. 38, p. 879 |
| 82-4-3g  | Amended     | V. 38, p. 882 |
| 82-4-3h  | Amended     | V. 38, p. 885 |
| 82-4-3i  | Amended     | V. 38, p. 886 |
| 82-4-3j  | Amended     | V. 38, p. 888 |
| 82-4-3k  | Amended     | V. 38, p. 888 |
| 82-4-31  | Amended     | V. 38, p. 889 |
| 82-4-3m  | Amended     | V. 38, p. 891 |
| 82-4-3n  | Amended     | V. 38, p. 891 |
| 82-4-3o  | Amended     | V. 38, p. 892 |
| 82-4-20  | Amended     | V. 38, p. 892 |
| 82-4-21  | Amended     | V. 38, p. 893 |
| 82-4-22  | Amended     | V. 38, p. 893 |
| 82-4-24a | Amended     | V. 38, p. 893 |
| 82-4-27  | Amended     | V. 38, p. 893 |
| 82-4-30a | Amended     | V. 38, p. 894 |
| 82-4-40  | Revoked     | V. 38, p. 894 |
| 82-4-42  | Amended     | V. 38, p. 894 |
| 82-4-44  | Revoked     | V. 38, p. 894 |
| 82-4-46  | Revoked     | V. 38, p. 894 |
| 82-4-48  | Amended     | V. 38, p. 894 |
| 82-4-48a | Revoked     | V. 38, p. 895 |
| 82-4-50  | Amended     | V. 38, p. 895 |
| 82-4-51  | Amended     | V. 38, p. 895 |
| 82-4-53  | Amended     | V. 38, p. 895 |
| 82-4-56a | Amended     | V. 38, p. 895 |
| 82-4-57  | Amended     | V. 38, p. 896 |
| 82-4-58d | Amended     | V. 38, p. 896 |

Amended

Amended

V. 38, p. 108

Amended

47-16-10

| 82-4-66     | Revoked            | V. 38, p. 897   | filed from 20 | 08 through No    | vember 2009 can                  | 111-4-3559 | New     | V. 38, p. 579                  |
|-------------|--------------------|-----------------|---------------|------------------|----------------------------------|------------|---------|--------------------------------|
| 82-4-68     | Amended            | V. 38, p. 897   |               |                  | o. 53, December                  | 111-4-3560 | New     | V. 38, p. 580                  |
| 82-4-85     | Amended            | V. 38, p. 897   |               |                  | st of regulations                | 111-4-3561 | New     | V. 38, p. 582                  |
| 82-4-86     | Revoked            | V. 38, p. 898   |               | Q                | 09, through De-                  | 111-4-3562 | New     | V. 38, p. 622                  |
|             |                    | •               |               |                  | nd in the Vol. 30,               | 111-4-3563 | New     | V. 38, p. 623                  |
| AG          | ENCY 86: REAL      |                 |               |                  | Kansas Register.                 | 111-4-3564 | New     | V. 38, p. 624                  |
|             | COMMISSIO          | N               |               |                  | from December                    | 111-4-3565 | New     | V. 38, p. 625                  |
| Reg. No.    | Action             | Register        |               |                  | er 6, 2013, can be               | 111-4-3566 | New     | V. 38, p. 626                  |
| 86-1-11     | Amended (T)        | 0               |               |                  | 2, December 26,                  | 111-4-3567 | New     | V. 38, p. 627                  |
|             | ` '                | •               |               |                  | t of regulations                 | 111-4-3568 | New     | V. 38, p. 628                  |
| AGEN        | ICY 92: DEPART     | MENT OF         |               |                  | 13, through De-                  | 111-4-3569 | New     | V. 38, p. 629                  |
|             | REVENUE            |                 |               |                  | nd in the Vol. 34,               | 111-4-3570 | New     | V. 38, p. 630                  |
| Reg. No.    | Action             | Register        |               |                  | Kansas Register.                 | 111-4-3571 | New     | V. 38, p. 632                  |
| 92-56-2     | Amended            | V. 38, p. 1196  |               |                  | om 2016 through                  | 111-4-3572 | New     | V. 38, p. 633                  |
|             |                    | -               |               |                  | Vol. 36, No. 52,                 | 111-4-3573 | New     | V. 38, p. 927                  |
| AG          | SENCY 100: BOA     |                 |               | 3, 2017 Kansas 1 |                                  | 111-4-3574 | New     | V. 38, p. 928                  |
|             | HEALING AR         | 15              |               | ,                | 0                                | 111-4-3575 | New     | V. 38, p. 929                  |
| Reg. No.    | Action             | Register        | Reg. No.      | Action           | Register                         | 111-4-3576 | New     | V. 38, p. 930                  |
| 100-11-1    | Amended            | V. 38, p. 344   | 111-2-325     | New              | V. 37, p. 1192                   | 111-4-3577 | New     | V. 38, p. 1063                 |
| 100-28a-14  | Amended            | V. 38, p. 184   | 111-2-326     | New              | V. 37, p. 1192                   | 111-4-3578 | New     | V. 38, p. 1064                 |
| 100-76-2    | Amended            | V. 38, p. 184   | 111-4-877     | Amended          | V. 38, p. 925                    | 111-4-3579 | New     | V. 38, p. 1066                 |
| 100-77-1    | New (T)            | V. 38, p. 8     | 111-4-878     | Amended          | V. 38, p. 925                    | 111-4-3580 | New     | V. 38, p. 1067                 |
| 100-77-1    | New                | V. 38, p. 447   | 111-4-880     | Amended          | V. 38, p. 925                    | 111-4-3581 | New     | V. 38, p. 1068                 |
| 100-77-2    | New (T)            | V. 38, p. 8     | 111-4-881     | Amended          | V. 38, p. 926                    | 111-4-3582 | New     | V. 38, p. 1069                 |
| 100-77-2    | New                | V. 38, p. 448   | 111-4-3507    | Amended          | V. 37, p. 127                    | 111-5-80   | Amended | V. 37, p. 218                  |
| 100-77-3    | New (T)            | V. 38, p. 8     | 111-4-3508    | New              | V. 37, p. 132                    | 111-5-81   | Amended | V. 37, p. 219                  |
| 100-77-3    | New                | V. 38, p. 448   | 111-4-3509    | New              | V. 37, p. 132<br>V. 37, p. 132   | 111-5-82   | Amended | V. 37, p. 220                  |
| 100-77-3    | INCW               | v. 50, p. 440   | 111-4-3510    | New              | V. 37, p. 132<br>V. 37, p. 215   | 111-5-82   | Amended | V. 37, p. 220<br>V. 37, p. 221 |
| AGENCY      | 102: BEHAVIOR      | AL SCIENCES     | 111-4-3510    |                  |                                  | 111-5-84   | Amended | V. 37, p. 221<br>V. 37, p. 221 |
| R           | EGULATORY BO       | DARD            | 111-4-3511    | New              | V. 37, p. 216                    | 111-5-85   | Amended |                                |
| Dog No      | A ation            | Daniston        |               | New              | V. 37, p. 217                    |            |         | V. 37, p. 221                  |
| Reg. No.    | Action             | Register        | 111-4-3513    | New              | V. 37, p. 247                    | 111-5-243  | New     | V. 37, p. 620                  |
| 102-1-13    | Amended            | V. 38, p. 185   | 111-4-3514    | New              | V. 37, p. 248                    | 111-5-244  | New     | V. 38, p. 323                  |
| 102-1-18    | Amended            | V. 38, p. 212   | 111-4-3515    | New              | V. 37, p. 249                    | 111-7-81   | Amended | V. 37, p. 986                  |
| 102-2-3     | Amended            | V. 38, p. 185   | 111-4-3516    | New              | V. 37, p. 439                    | 111-7-267  | New     | V. 37, p. 133                  |
| 102-2-14    | Amended            | V. 38, p. 212   | 111-4-3517    | New              | V. 37, p. 440                    | 111-7-268  | New     | V. 37, p. 987                  |
| 102-3-2     | Amended            | V. 38, p. 185   | 111-4-3518    | New              | V. 37, p. 442                    | 111-7-269  | New     | V. 37, p. 987                  |
| 102-3-15    | Amended            | V. 38, p. 212   | 111-4-3519    | New              | V. 37, p. 443                    | 111-4-270  | New     | V. 37, p. 987                  |
| 102-4-2     | Amended            | V. 38, p. 186   | 111-4-3520    | New              | V. 37, p. 444                    | 111-7-271  | New     | V. 37, p. 988                  |
| 102-4-15    | Amended            | V. 38, p. 212   | 111-4-3521    | New              | V. 37, p. 614                    | 111-7-272  | New     | V. 37, p. 988                  |
| 102-5-2     | Amended            | V. 38, p. 186   | 111-4-3522    | New              | V. 37, p. 615                    | 111-7-273  | New     | V. 37, p. 988                  |
| 102-5-14    | Amended            | V. 38, p. 212   | 111-4-3523    | New              | V. 37, p. 616                    | 111-7-274  | New     | V. 37, p. 989                  |
| 102-7-2     | Amended            | V. 38, p. 186   | 111-4-3524    | New              | V. 37, p. 617                    | 111-7-275  | New     | V. 37, p. 989                  |
| 102-7-12    | Amended            | V. 38, p. 212   | 111-4-3525    | New              | V. 37, p. 618                    | 111-7-276  | Amended | V. 38, p. 326                  |
| ۸,          | SENCY 105: BOA     | PD OF           | 111-4-3526    | New              | V. 37, p. 660                    | 111-7-277  | New     | V. 38, p. 932                  |
|             | ENTS' DEFENSE      |                 | 111-4-3527    | New              | V. 37, p. 661                    | 111-9-218  | New     | V. 37, p. 251                  |
| INDIGI      | EN15 DEFENSE       | SERVICES        | 111-4-3528    | New              | V. 37, p. 662                    | 111-9-219  | New     | V. 37, p. 989                  |
| Reg. No.    | Action             | Register        | 111-4-3529    | New              | V. 37, p. 693                    | 111-9-220  | New     | V. 37, p. 1193                 |
| 105-5-2     | Amended            | V. 38, p. 367   | 111-4-3530    | New              | V. 37, p. 694                    | 111-9-221  | New     | V. 38, p. 323                  |
| 105-5-3     | Amended            | V. 38, p. 367   | 111-4-3531    | New              | V. 37, p. 695                    | 111-9-222  | New     | V. 38, p. 324                  |
| 105-5-6     | Amended            | V. 38, p. 367   | 111-4-3532    | New              | V. 37, p. 697                    | 111-15-1   | Amended | V. 38, p. 932                  |
| 105-5-7     | Amended            | V. 38, p. 368   | 111-4-3533    | New              | V. 37, p. 698                    | 111-15-2   | Amended | V. 38, p. 932                  |
| 105-5-8     | Amended            | V. 38, p. 368   | 111-4-3534    | New              | V. 37, p. 776                    | 111-15-3   | Amended | V. 38, p. 933                  |
| 105-5-11    | Revoked            | V. 38, p. 368   | 111-4-3535    | New              | V. 37, p. 776                    | 111-15-5   | Amended | V. 38, p. 934                  |
|             | ENGVAGO BOA        | -               | 111-4-3536    | New              | V. 37, p. 777                    | 111-15-6   | Amended | V. 38, p. 934                  |
|             | SENCY 109: BOA     |                 | 111-4-3537    | New              | V. 37, p. 980                    | 111-15-8   | Amended | V. 38, p. 935                  |
| EMERG       | ENCY MEDICA        | L SERVICES      | 111-4-3538    | New              | V. 37, p. 982                    | 111-15-21  | Amended | V. 37, p. 1174                 |
| Reg. No.    | Action             | Register        | 111-4-3539    | New              | V. 37, p. 983                    | 111-17-37  | New     | V. 38, p. 1070                 |
| 109-5-1     | Amended            | V. 38, p. 153   | 111-4-3540    | New              | V. 37, p. 984                    | 111-19-1   | Amended | V. 38, p. 633                  |
| 109-8-1     | Amended            | V. 38, p. 153   | 111-4-3541    | New              | V. 37, p. 985                    | 111-19-2   | Amended | V. 38, p. 634                  |
| 109-8-2     | Amended            | V. 38, p. 154   | 111-4-3542    | New              | V. 37, p. 1166                   | 111-19-11  | Amended | V. 37, p. 251                  |
| 109-11-6a   | Amended            | V. 38, p. 154   | 111-4-3543    | New              | V. 37, p. 1167                   | 111-19-26  | New     | V. 37, p. 134                  |
|             |                    |                 | 111-4-3544    | New              | V. 37, p. 1168                   | 111-19-27  | New     | V. 37, p. 134<br>V. 37, p. 222 |
| AGENO       | CY 111: KANSAS     | S LOTTERY       | 111-4-3545    | New              | V. 37, p. 1169                   | 111-19-28  | New     | V. 37, p. 222<br>V. 37, p. 222 |
| A compl     | ete index listing  | all regulations | 111-4-3546    | New              | V. 37, p. 1103<br>V. 37, p. 1083 | 111-19-29  | New     | V. 37, p. 620                  |
|             |                    |                 |               |                  |                                  | 111-19-30  | New     | V. 37, p. 620<br>V. 37, p. 620 |
|             | he Kansas Lotte    |                 | 111-4-3547    | Amended          | V. 38, p. 926                    | 111-19-31  | New     | V. 37, p. 620<br>V. 37, p. 620 |
|             | 00 can be found    |                 | 111-4-3548    | New              | V. 38, p. 283                    |            |         |                                |
|             | cember 28, 2000    |                 | 111-4-3549    | New              | V. 38, p. 284                    | 111-19-32  | New     | V. 37, p. 621                  |
|             | ulations filed fro |                 | 111-4-3550    | New              | V. 38, p. 285                    | 111-19-33  | New     | V. 37, p. 621                  |
|             | e found in the V   |                 | 111-4-3551    | New              | V. 38, p. 286                    | 111-19-34  | New     | V. 37, p. 621                  |
|             | 25, 2003 Kansas R  | · .             | 111-4-3552    | New              | V. 38, p. 287                    | 111-19-35  | New     | V. 37, p. 622                  |
| ·           | filed from 2004    | 0               | 111-4-3553    | New              | V. 38, p. 289                    | 111-19-36  | New     | V. 37, p. 622                  |
|             | id in the Vol. 24, |                 | 111-4-3554    | New              | V. 38, p. 292                    | 111-19-37  | New     | V. 37, p. 622                  |
|             | 5 Kansas Register. |                 | 111-4-3555    | New              | V. 38, p. 320                    | 111-19-38  | New     | V. 37, p. 623                  |
|             | l from 2006 throu  |                 | 111-4-3556    | New              | V. 38, p. 321                    | 111-19-39  | New     | V. 37, p. 623                  |
|             | e Vol. 26, No. 52  |                 | 111-4-3557    | New              | V. 38, p. 577                    | 111-19-40  | New     | V. 37, p. 624                  |
| 2007 Kansas | s Register. A list | of regulations  | 111-4-3558    | New              | V. 38, p. 578                    | 111-19-41  | New     | V. 37, p. 624                  |
|             |                    |                 |               |                  |                                  |            |         |                                |

|            |         |                |             | `       | •              |            |                |                |
|------------|---------|----------------|-------------|---------|----------------|------------|----------------|----------------|
| 111-19-42  | New     | V. 37, p. 625  | 111-302-2   | Amended | V. 38, p. 178  | 111-601-6  | Amended        | V. 38, p. 588  |
| 111-19-43  | New     | V. 37, p. 252  | 111-302-4   | Amended | V. 37, p. 223  | 111-601-22 | Amended        | V. 37, p. 630  |
| 111-19-44  | New     | V. 37, p. 665  | 111-302-5   | Amended | V. 38, p. 178  | 111-601-23 | Amended        | V. 37, p. 630  |
| 111-19-45  | New     | V. 37, p. 778  | 111-305-4   | Amended | V. 38, p. 946  | 111-601-24 | Amended        | V. 37, p. 631  |
| 111-19-46  | New     | V. 37, p. 990  | 111-305-6   | Amended | V. 38, p. 946  | 111-601-25 | Amended        | V. 37, p. 632  |
| 111-19-47  | New     | V. 37, p. 1084 | 111-401-6   | Amended | V. 37, p. 253  | 111-601-36 | Amended        | V. 38, p. 941  |
| 111-19-48  | New     | V. 38, p. 176  | 111-401-11  | Amended | V. 37, p. 254  | 111-601-37 | Amended        | V. 38, p. 943  |
| 111-19-49  | New     | V. 38, p. 177  | 111-401-15  | Amended | V. 38, p. 324  | 111-601-46 | New            | V. 37, p. 632  |
| 111-19-50  | New     | V. 38, p. 294  | 111-401-17  | Amended | V. 38, p. 325  | 111-601-47 | New            | V. 37, p. 632  |
| 111-19-51  | New     | V. 38, p. 295  | 111-401-35  | Amended | V. 38, p. 326  | 111-601-48 | Amended        | V. 37, p. 1038 |
| 111-19-52  | New     | V. 38, p. 583  | 111-401-63  | Amended | V. 37, p. 445  | 111-601-49 | New            | V. 37, p. 633  |
| 111-19-53  | New     | V. 38, p. 584  | 111-401-109 | Amended | V. 37, p. 628  | 111-601-50 | New            | V. 37, p. 633  |
| 111-19-54  | New     | V. 38, p. 585  | 111-401-117 | Amended | V. 37, p. 254  | A CENIC    | CY 115: DEPART | _              |
| 111-19-55  | New     | V. 38, p. 585  | 111-401-208 | Amended | V. 37, p. 1037 |            | FE, PARKS ANI  |                |
| 111-19-56  | New     | V. 38, p. 585  | 111-401-240 | New     | V. 37, p. 667  | WILDLII    | EE, FARKS ANI  | TOURISM        |
| 111-19-57  | New     | V. 38, p. 585  | 111-401-241 | New     | V. 37, p. 667  | Reg. No.   | Action         | Register       |
| 111-19-58  | New     | V. 38, p. 586  | 111-401-242 | New     | V. 37, p. 667  | 115-2-1    | Amended        | V. 38, p. 1089 |
| 111-19-59  | New     | V. 38, p. 586  | 111-401-243 | New     | V. 37, p. 667  | 115-2-3    | Amended        | V. 38, p. 370  |
| 111-19-60  | New     | V. 38, p. 587  | 111-401-244 | New     | V. 37, p. 668  | 115-2-4    | Amended        | V. 38, p. 371  |
| 111-19-61  | New     | V. 38, p. 587  | 111-401-245 | New     | V. 37, p. 668  | 115-2-7    | Revoked        | V. 38, p. 1091 |
| 111-19-62  | New     | V. 38, p. 634  | 111-401-246 | New     | V. 37, p. 669  | 115-3-2    | Amended        | V. 38, p. 371  |
| 111-19-63  | New     | V. 38, p. 635  | 111-401-247 | New     | V. 37, p. 779  | 115-4-4    | Amended        | V. 38, p. 371  |
| 111-19-64  | New     | V. 38, p. 935  | 111-401-248 | New     | V. 37, p. 779  | 115-4-11   | Amended        | V. 38, p. 372  |
| 111-19-65  | New     | V. 38, p. 936  | 111-401-249 | New     | V. 37, p. 779  | 115-5-1    | Amended        | V. 38, p. 541  |
| 111-19-66  | New     | V. 38, p. 937  | 111-401-250 | New     | V. 37, p. 780  | 115-5-2    | Amended        | V. 38, p. 542  |
| 111-19-67  | New     | V. 38, p. 944  | 111-401-251 | New     | V .37, p. 780  | 115-5-3    | Amended        | V. 38, p. 1091 |
| 111-19-68  | New     | V. 38, p. 945  | 111-401-252 | New     | V. 37, p. 781  | 115-5-3a   | New            | V. 38, p. 1091 |
| 111-19-69  | New     | V. 38, p. 1071 | 111-501-3   | Amended | V. 38, p. 638  | 115-5-4    | Amended        | V. 38, p. 542  |
| 111-19-70  | New     | V. 38, p. 1071 | 111-501-24  | Amended | V. 37, p. 256  | 115-6-1    | Amended        | V. 38, p. 543  |
| 111-301-39 | Amended | V. 37, p. 223  | 111-501-25  | Amended | V. 37, p. 257  | 115-8-1    | Amended        | V. 38, p. 543  |
| 111-301-60 | Amended | V. 38, p. 636  | 111-501-44  | Amended | V. 37, p. 1174 | 115-8-13a  | New            | V. 38, p. 1169 |
| 111-301-61 | Amended | V. 38, p. 636  | 111-501-45  | Amended | V. 37, p. 783  | 115-9-5    | Amended        | V. 38, p. 375  |
| 111-301-62 | Amended | V. 38, p. 637  | 111-501-101 | Amended | V. 37, p. 1085 | 115-11-2   | Amended        | V. 38, p. 127  |
| 111-301-63 | New     | V. 37, p. 135  | 111-501-141 | Amended | V. 37, p. 1037 | 115-13-4   | Amended        | V. 38, p. 544  |
| 111-301-64 | New     | V. 37, p. 135  | 111-501-142 | Amended | V. 37, p. 258  | 115-20-7   | Amended        | V. 38, p. 545  |
| 111-301-65 | New     | V. 37, p. 135  | 111-501-143 | Amended | V. 37, p. 993  | AGENO      | Y 128: DEPART  | TMENT OF       |
| 111-301-66 | New     | V. 37, p. 136  | 111-501-144 | New     | V. 37, p. 993  |            | RCE-KANSAS     |                |
| 111-301-67 | New     | V. 37, p. 626  | 111-501-145 | Amended | V. 38, p. 296  |            | COMMISSIO      |                |
| 111-301-68 | Amended | V. 37, p. 990  | 111-501-146 | New     | V. 37, p. 994  | D N        |                |                |
| 111-301-69 | New     | V. 37, p. 626  | 111-501-147 | Amended | V. 38, p. 938  | Reg. No.   | Action         | Register       |
| 111-301-70 | Amended | V. 37, p. 991  | 111-501-148 | New     | V. 38, p. 940  | 128-5-1    | Amended        | V. 38, p. 1197 |
| 111-301-71 | Amended | V. 37, p. 991  | 111-601-2   | Amended | V. 38, p. 587  | 128-6-8    | New            | V. 38, p. 1198 |

Kansas Register Secretary of State 1st Floor, Memorial Hall 120 SW 10th Ave. Topeka, KS 66612-1594